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3TE. W, Tw. (Wiferew) udiat, 1993
AT 3TeTITA

T -
(reTEEar ferverauT Wiy )

‘éﬁasmam

The term nishka, which meant an ornament in

the Vedic period, was used in later times to
denote a/an:

weT | TSR 91eg T W UeR STTYNUT %
1T BT o Rebeg el BT ¥ SEeRT wANT 3@
(a) Weapon/3t&
(b) Agricultural implement/&Hfi IR
(¢) Script/fafy
(d) Coin/ferent
ST —(d)

AT s Fel § Tl F 0 F forw s wes a6
T fFA S o, W] wadt da § e @ oy
foereh % forT fopam s @

(| - YTl 9 T 3fae™ - . . sfamaa)

aﬁ:g; S, ¥RTad TS 99 ad

The Buddhist sect Mahayana formally came
into existence during the reign of:
&t WA I w0 ¥ feash
JITEA I | Uhe §3?
(a) Ajatashatru/3TSIde]
() Dharmapala/‘ﬂﬁcﬂﬂ
I —(d)

(b) Ashoka/3T3T
(d) Kanishka/&fe=

T2 VA S § 0T F% ok Fafftd A U
TEH WEE T AT FeEE W % HTh &
I Fe H FER F Frecdad § dig o s e w
Afcm dig i B oESH agEe @ seme §
(3T TvaE) gaml T wffa H dtg od SR
® Y A A - dEH q e # faiE @
AT ST qe wfeard 9, g o R aRada %
5 % YA ST H TV fRAT| AR SchEAE q@n
QRATE 41 3R gE F EAR A IS gfd Lol
T A 39 g faed, oW, @ifter, Mo v
SO § AR q9r o, aAf, Srar enf dw # den
et &1 EaE % IR d-afie e wEifie, Fere
Fff F gEEEl § ode T-1- YEER A1 Aeafdd 36
PEKED 4, 2- fOMaR F ATER - IHE FAIH
TN &1 JA 8 ghF 9 F WS ST b T
483 3. qﬁwﬁwﬁwﬁw#w
7 wom Hififa, RRET S IEE FrE & T
383 3. T ﬁmﬁHGI%thHa?fdiW?fdﬂlﬁmaﬁ@
i g WY % TeM W INE % w9 251 €. 1.
# wifeergy § grfeqa foeg ot steger § g dig S
SRS T ot

3. In Jainism ‘perfect knowledge’ is referred to

%ﬁﬁ‘aﬂhﬁ’%mww%?

(a) Jina/fSH (b) Ratna/Td
(c) Kaivalya/#aed  (d) Nirvana/fafor
I —(¢)

i % 243 @ wd Sud F At
TEMUE HEdR W@ @ 12 g% S HfeA auer & uvE
42 79 & g H % §E T %
fepR Tafeer S1erar QUi 9 St Wit g2 1 S qlEe @ &
“Paed FE TN haed W@ & A F o8 @ TeER
Fafer, T sl femr, e (A,  fEl
(Sufea) eaml e & B & (1) ¥=e M, (2)
=g 51, (3) 9=E SR (IfF) | geed @ % fatr
d w W W 9= () 7, fue od @ dus wogm
AT 3 S H-TOT 9% § T & S

(B - T 9 T 3faem™ - o 9t sharaa)

4. The last in the succession of Jaina Tirthankaras

was:

S fiefertl & wa | oifem wi ar?

(a) Parsvanatha/qred=9 (b) Rishabha/Fa9ad

(c) Mahavira/meTdR (d) Manisubrata/Af0Tged

I —(c)
RS W & ER 39 o4 # Pl =g (24)
difert gui 24 ddfedl § Hwem @ S F G,
odeh e Yo AR F w9 F T @ &1 qed S
o F Jeud U Uftefies didex 9 ued % st
e’ a1 ST 21 werdR W Shed & e wd 249
dofa den S o F arefas TTmE 91 @l weEi @
S Fumelt & e prsm (AfRewT H TR F JGH
FA & o fFgrd & F@i 599 3090 F g3 4TI g AWM
et stoar fadge et ® el 39 F ww dew
a5 ff T el Fwie ff R freeer ames ot @
S 3| W@ WEER & 12 99 @ qUER & 9 42 a8
F ofaeen § gftwwu & g T F fFR
A & TF I & A Hacd (Fared q¢) F wiftd gg o1
(Ea-grefi 9ra 1 sfoem - &, ot sfarae)

U ug "R et
5.  Ashokan inscriptions were first deciphered by:

379k o FTeTTerEt st wawerm feraa ugr an?
(a) Buhler/9ger

(b) Robert Sewell/Tad FaeT

(c) James Prinsep/s=q =g

(d) Codplngton/ifgied

ST —(¢)
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- 379 H 3™ g8 e 3% sifveral ¥ &
T e 81 7l dh 37eih b 40 § off e i W
T 9% &1 s % fuemors # ogdve™ 1837 # S
o 3 e

(Ea-grefi 9ra T 3feremd - &, . sftaraa)

6.  Chanakya, was also known as:
ATUTRT ehl 3T~ {TH o1 :
(a) Bhattasvamin/ﬂ?;mﬁ
(b) Vishnugupta/fesopye
(c) Rajasekhara/TsTerat
(d) Vishakhadatta/faemesaa
ST —(b)

A TEH 9Rd & UoHifaeh  fa=<eh  qer
Fedfag 41 A BT aa FRE R e
A F ST ST 1 e @ fb e 4 322 € g H
THT A A T & W F R a9 F s e
T B T HOH AR § A A9 e 5 et
F qeE 6 anl A R & S & aved 9N 6
ToRifoe THHT g3 | Seore  fF = § asa 6
) F T YA H G AT a9 JUEEE 98 W
1 5| Hifced grr W e’ T q WG 1 99
qoifash J9 WM ST 81 ST 6000 Yol Ol 39 A9
(svfemren) # R Sfoer T TS @ HewEgu! e
(@eh) # faafm 2, fed fidm @ g @ve gaffrs
T 81 fovmeed 7 g qur TOvR 7 e
A9 T H AT H

(ENa-grefi 9 it 3fergra-h, . sfraraa)

AT Te TR I qAT Tg G9T

7.  The earliest rock-cut caves in western India are
those at:
wfgerdt SR # Wreftan e T wat 87
(a) Nasik, Ellora and Ajanta
TR, T 3R AT
(b) Junnar, Kalyan and Pitalkhora
IR, FWT R FaerawT
(c) Ajanta, Bhaja and Kondane
3Foll, Il 3TN FHisd
(d) Bhaja, Pitalkhora and Kondane
9T, FAer@ SR Hisd

o1 ARR) WENIE % SIS, WIST TS died
W%Wﬁﬁlﬁﬁf@ﬁmﬁw

amésw TH HEA-16 TG 17 qi=ar ve et |
w%wwwm1ﬁzmwﬁﬁﬁﬁﬁ
ﬂ%laﬁ@uﬁ@wﬁﬁﬁﬁwmwﬁﬁwﬁ
ﬁﬁﬁwm 16 H Ihl T TSpAR @
H@Tnﬁﬁﬂﬁ ‘qr 3R Ry o Fer
Tape 21 WeRy & qur et g e # frd

w&?r‘s‘ 7. # faffa & 7 3o 22 T €, S e,

8.  Among the four works mentioned below which
one is encyclopedic in nature?
I & o favaandta g §?
(a) Amarakosha/ ST
(b) Siddhanta Shiromani/fgiafrafeT
(c) Brihat-Samhita/gad@fRdr
(d) Ashtangahrdaya/3T8Tgea
ST —(0)
ST - Fequfed Tade § aNefifel 51 9whd § Fo
T fovaay 7|
9.  Who among the following is NOT associated
with medicine in Indla"

fore o1 UEfie WA & e
I | Heier TE §?

(a) Dhanvantari/g==1ik

(b) Bhaskaracharya/sTeht=m

(c¢) Charaka/={%

(d) Susruta/g¥d

ST —(b)
RS 1114 §. § S = 9Rd & 7 TTag
TS GG 4| T A § FE GEY A& AT
et R fafad Tfera deor Clierady’ don wmafemr 9
gafeg 9 fagra RRmfr 21w § I
S AR BTl =, A TE gawn & wfas
fafehede o1 SO & JoW TARA H FHUOT IMEE HTH 5
I FA H TN aE Ny fee fage @ far
T ST 2 | STl Sg i T Wigar g1 = wensdr §
TS fachAfee & W Fe & IRIg 9 e b
Wﬁaﬂqﬁaﬁzﬂw%ﬁaﬂﬁw%ﬁqmwél
Ty ot o & g g 4 SRR gy SR AW
wras o fafsean & dig & @
(B - Ureft 9 T 3feremd - ok, ©Y. sfaree)

800-1200 Sh TST-I{ereh \THTNNTR eIt

10. Consider the following passage:

Trrefaiaa staavor o e it -

“In the course of a career on the road spanning
almost thirty years, he crossed the breadth of the
Eastern hemisphere, visited territories equivalent to
about 44 modern countries, and put behind him a
total distance of approximately 73,000 miles.” The
world’s greatest traveller of pre- -modern times to
whom the above passage refers is:

U TS & AUE AnH S |
3o gdff Meg & forga g-wmr @ I @@, 39
fomrer ﬁ-maﬁé@ﬁvﬁmaﬁé 44%9T341ﬁ%
3T Fer et TTeRT 73000 Hier S gt T UR
a'f“n

IAS (Pre) G.S. 1993
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qE-3TYfeh et T HHR T GaH 9T 98 ATt
I o TSt FuiT SR o A0 H 7

(a) Megasthenes/STEeST

(b) Fa-hien /®ifgam

(¢) Marco Polo/ATefaredt

(d) Ibn Battuta/gsqeIqdr
I —(d)

ST — AR 1 TG -1 &l g Td feremear
F g T Al ¥ f 99 qEeeg A1l IE4 g
& 44 0 F T 73000 He/ 117000 . g oo
30 auf % et Sfed § @ @ o gsFaqm qeee o
T & T qRA ST AT

11. A lot of details, regarding the village

administration under the Cholas is provided by
the Inscriptions at

W YITEA <k Sgd ¥ s

(a) Thanjavur/gsTeR

(b) Uraiyur/S&R

(c) Kanchipuram/&=qH
(d) Uttaramerur/3THEL
3T —(d)

A THE W & IET & 129 T 149 a9 4
TRy STEE MG § SesciE T EEd T am
TUME S g9y B Suee gl 81 ©HE U aW
YT ST =il S s gegE i 21 =t it
¥ g B @9 SR S I qestt 1 Sooid b T -
1SV, 2. QY A TEEET, 3. TRA | TAH ST a9
aifer ge=t g fAffa @6 O wiet % @l wEf @ e
wF FEEReh 9t wd f, R aRe Fed 91 SR
N TR H e SR w9 | T @t @
g G q HiEgE Jerdl S e 4
(Ba-T=i= 9Ra @ 3faerd-h. . sfiare)

12.  Which one of the following is considered to be
the world’s greatest iconographical creations
made by the sthapatis of south India,

articularly during the Chola period?
%ﬁl‘%\ﬁgﬁ o ¥ forg &1 gferor aRa & feaoiwes

SN I o AU i Tava W SBAT Wier1-To=T
TIAT AT &2

(a) Mahishasura mardini/Afes i

(b) Nataraja/=eIrs

(¢) Rama/{H

(d) Somaskanda/HITeh<

ST —(b)

I TEveda H gedver wfx @ i e
Fedivar #fex el W S & feEaden ¥ wefaa
et =t T 71

(B - Ui 9 1 gfaem - o, ot sfaree)

13.  Which one of the following pairs of kings of
ancient and medieval periods of Indian history
and the works authored by them is correctly
matched?

Het &% gl 7 Uw I g SR mew g w
TRt o AT € 3R gEdt 3R ek ferfura Ty
TAH ¥ W |1 g wE gatera &7

(a) Krishnadevaraya : Samarangana sutradhara

: U PAEN
(b) Mahendravarman : Mattavilasa prahasana
T : TR Y89
(c) Mahendravarman : Mattavilasaprahasana
(d) Somesvara : Amuktamalyada
IS SRR

3™ —(b)

S 2R % o TSN B R W HeSaR
T TeF HfE, Gidg ue fuiar on S ‘Fafeerasee
TS IS REEY WA & 39 TG H e Ud
firgsT W = fpar Mo @1 SEfE WO % WER WS
P A T TRAREER (AR ¥ )
o ‘emgae waw (fafeen o § wwiftm) qwe @
A #| FHEAOn & A IEE WEReR g |
e & wHg d aedeas @ dur 2R %
feqUen SR % qq@ 99 & WeH Ve q° den]
Hife & fagH Fomeaa = dery 9§ SEEeaR’ A
‘foegfoda’ wd H&pd 9N H TS AR SreEdl hedr
H T H ey fame’ @ efiEe aer & Swifet |
i FURET & @R F T Had & 3 T (31
Ha) @ 4

(B - YT W T 3faem™ - o 9t siaraa)

WERTA T Sicrard
TeaTd

TEIT—aR0 9T § =il o391 & 9 ‘e’ 3 @i
off| HEM =T YMEH 4 F Hhedl EfAS TGH Hell Al H

o

14. Who among the following introduced the
famous Persian Festival of NAWROJ in India?
frafefaa & & ffee ara § wftg wrRet =ier
HRI =t 3RS SHaTa?

(a) Balban/dcfaq

(b) Iltutmish/gexafasT

(¢) Firoz Tughlaq/fRist RUGED

(d) Alauddin Khilji/3Te=sd= faemsit
I —(a)

fgehr o wRAieRs W GgArn g GO e 9 gfdeen d
ICREHIT THAT T | Al & o9 AT o gfd §
Feuw R’ & s ufo @i v & g g freg §
¥ UH HA S R G S oS YgH A deR #§
TENISIYEE 3727 FEEIva Afax & 791 36 J7 Toi5 Jo

RET— T ¥ geam # goad 4 s dfo-Ra v
TR R 471 3EY GRE W fiser ud da
& fohan e st 9§ BRE WiRR TaS A SR e
7| (BN - HEHRT S - ERyer= anf)
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he MLISISICIS)
15. o @ wu for € 0 @t A wmew (A) 3R
O T AT (R) e 7T §

Assertion (A) : Babur wrote his memoirs
Baburnama in Turki.
HUT (A) : TR A TEAR T F e
Reason (R): Turki was the official language of the
Mughal Court.
U (R ) : Tl T @R TSt off |
In the context of the above two statements
which one of the following is correct?
FIW & ol weAt ok HWed o sy fw
frreafafaa & @ s o wdt 82
(a) Both A and R are true and R is the correct
explanation of A
A 3R R BT W 7 3 A B HE SRR B &
(b) Both A and R are true but R is not a correct
explanation of A
AR R T G& § W A U8 SR T FA 2
(c) A is true but R is false/A T& 2 TR T B
(d) A is false but R is true/A Teid @ TR && 8
()

ETET— AN 3 TIh aa AH TS
AT Y9H YA SR8 aeR A i oA | SeR g A qY T
T forar M| R § aEeE el He, % A9t
FFEW GHEMl & FN TEAET AH § THE AR
HRG T § fRA T SW ¥ ¥ 9NG #1504 § 1529
T @ Torifos T yereed fRfg #ft SHeEd o @
21 e § o e vl b o B off, e
(B - WA gher - FRve= o)

16. Which one of the following is a monument

constructed by Sher Shah?
frafafaa & @ ffa e @ fmior oo 3
HIETIAT AT?

(a) Qila-i-Kuhna Mosque at Delhi
feeet @1 foher-u-ga afese

Atala Masjid at Jaunpur

S & 3Fder AfesTa

Bara Sona Masjid at Gaur

TR FT WA A
Quwwat-ul-Islam Mosque at Delhi/
feeel &l Fead-3a-g&am HiE]

I —(a)

(b)

(c)

(d)

ETE—IRR 3 el fm quar fbel & et fvarr-u-
FRAT A AT H 0T 1545 3. F HTAT 411 39 A
¥ I5odc AHATES O & HRUT I ARG H gARGT §
TR Iwd WH feEm S 81 SH @ sfEs et
A’ 1 fmior 1408 €0 # s wewEEt 3, TR P Fer
AT Afestg & fAmior e wid & W e W 3 aen
faeeht @ ‘Feaa-3a-seam’ AieE & T 9Ra § g
TS & HEUS FAIar 6 (1206-1210) = FEWET 911
(VT - HEARTA Fhere - gRya= o)

17. In Mughal paintings one notices the adoption of
principle of foreshortening whereby near and
distant people and things could be placed in
perspective. This was due to the influence of the
et o e W e @ fagr AT
g fems < & e frehe oiR @@ o =afvs aen

el weR & uRfres ® 31 W &1 WET feREes g

o HIUT g3AT?

(a) British/fsfesr (b) Dutch/g=

(c) Portuguese/qament (d) Danish/SATeHf
I —(¢)

-1 UHS SRR & Fd e foea &
TRHHY P HI & | ICARICA (Fehen Tel HRE (3T),
T qu G FEeen vifedl ¥ wwifed off gra o
Seft § sprETy & fagr e siwld e wd g
= T vard U & uford | fat T S 9, g
femict & s @ oRorm of | g # e %
el it i e i § geie aret wegel et §
Jued, FvEaw, Wi, dod, e|d sed ek F
fimfe dE wE T fm W e e
[BEEREIN

(B - HEIERTEA giererd - gRye= awf)

T TSI & faued & '
GTUTST Rl T

18.

The Ryotwari Settlement was introduced by the
British in the:

IS A TTaarEt Irer et @] feRar em?

(a) Bengal Presidency/smet St

(b) Madras Presidency/Agm8 J€e=dt

(c) Bombay Presidency/awg JHiedt

(d) Madras and Bombay Presidencies

T SRR o Fad S

I —(d)

TEAT—qaTE] g T A I, q=E Ud 39T &
Aferepier Wi § A T off | ardt e B wave
1807 # e T & yal ¥ 959 & IR e § @
foFa T gmE A 39 99T WEN & e 91 39 YR
TaTel e % S 2 e A U ded 4% 91 39
ey § Tt () @i gfy &1 arafas @ 799 5T
foFaH & Jod €9 ¥ 39S H 55 Fawd § 66 Fhww @
PR B §RT agell TN SedeHE @ fh e
AT & FTa FEw 9RG F# FA 51 e (FaifEw)
fewar wnferer o1 e @E FHafed 9 1793 €. H &,
fer, 3¢ # wrft I<ew (EWH F<ew) aHE
ToE g ar] & fed sdia se’i @ 9ff &
wHf HeR 39 TE fAfad R ¥ aH ager S A
(B - 3MEIforeh WRE T gferer™ - Ter e F9TITe)
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WIHTRTeh, Wikhfaeh, SO, e,

oY 9" fora= =g
19. Uplift of the backward classes was the main
rogramme of the:

ST AT ST TRt & hTsh 917
(a) Prarthana Samaj/FlTi’j'v!T RIS
(b) Satyashodhak Samaj/ﬂ?ﬂ?ﬁﬂ?ﬁ BRI
(c) Arya Samaj/3 Tut
(d) Ramakrishna Mission/THe™T firer
I —(b)

STE—TENY & A GuReE SAfaarge 4 7= sfaa
¥ frgg o & 3@ & fau o9 1873 € H ‘mones
TENT F T | SR et 4 e M (1872),
HEwh I gH AFS TR H T | g R §

I = o @ uevdt sl T sAs
sfamare o6 T § g AW & srevEea | SR
feam wefr 999 & T Weed e T a9
SHRM TUSHT EW 1867 H os # &l T3 | 37 HAIST bt
AT S ! g 1875 5. H aW@® § a TR A
SEfh THFWT H9E H T @l Feses (S &6
T T ) F FN G 1897 H SR (Faswhan) F T |
A & 5 g dw A feeee @i

(B - 3MeIfreR WRE T e - e’ Td JA9TTer)

T GG, i, AT, sttty

20. The foundation of modern educational system
in India was laid by:
O | Torar gurreft =t e ferad ugh?
(a) The Charter Act of 1813
1813 1 =X sfufam
(b) Macaulay’s Minutes of 1835
1835 & Hahidl o A
(¢) The Hunter Commission of 1882
1882 I 2T MM
(d) Wood’s Dispatch of 1854
1854 =1 g€ I

I —(b)

STy Mot St faferaw sfes 3 3 @ siash
g 9 % A ¥ Ren & 9@, & e &1 g
FHE & fau 70 it & fafy ge= o de @
g § @i e 9iEfa 1 e fRan 2 wEd, 1835
F HBS T AT Wiag woned o (Fer fie) sEa
o, d 9IRdE 9T Ud gifgem & STl S

Wwaﬁﬁm?ﬂwaﬂﬁﬁm&mﬁ

TR S faferaw dfess A A, 1835 § darel & S&ral
F WHR HA gL ST 1 e 1 Arem TR IR |

wgﬁmwmﬁwwﬁﬁ:ﬂamm T 7
1813 & =T U H TAWUw 9Rd § R & wOR 7 1
ARG TUT H! T H S A1 1882 H @S Ruw g e
Wmﬁmm%aﬁﬁaﬁwmw
1854 % o1 ToRIS g A U Wed 92 & fewiw #

‘AR 9T S T 99 o fvafemed #oast
R TR, okl Ud USE U UH-Ush favdfemmerdal &
O F g e e ae g % fewim & awdE
frerr @1 Rt T S 2

21. Among the four political parties listed below,
which one was the last to be formed?
Hror g & O Toifas @l § | Rt
T ToH 3§ g3 2
(a) The Conservative Party in Britain
foeT # domafea aref
(b) The Democratic Party in U.S.A.
T T SR ) S W
(c) The Republican Party in U.S.A.
T T TR @i Rufeerss aref

(d) The Indian National Congress
IR TE HiIg

T —(d)
MET—4Mh & (Labour Party) T 3@ <
(Conservative party) e &t Mg oo widEt 21 A
F & "ufed e amyfs w9 1 Bed | dowafed wEf @t
T 1834 # gE offl SUE wd Rufwwa widat
AR S & wg@ widar g1 s wiyww fmiar
TSI &t o ST o foeg 9 foeg smmdan Sfaem &
AN B (1789 ¥) & UvEW 19F vAES F OURe
fofeers T Sk WidHl # T g¥ | weswn 3 3
¥ ardg T SEE # WA Sewaed e (3e)
aor fufscreh (1854) Ue SHBhs WAl (US.A) &
YA g% | WA UEE FEE # T famer, 1885 #
SYFHTY W S AYEE W . 7W A g=E F P o
(B - 3MeIfrer R T giererd - Ter e F9maTer)

22. The first political organization established in

India in 1838 was known as:
O § T8 guT TsiHifes 96T i S0 1838

H g3 SHHT AT o1

(a) British India Society/fsfeer gfear gramet

(b) Bengal British India Society

Fme ffew dfear R

(¢) Settlers Association/FZed THIFIUIA

(d) Zamindari Association/sHiert Q@ﬁl’@'ﬂ

3T —(d)
ARG 1938 H Forshal # T v dresd Gt a1
‘T THRITEE 9RA S YoM Ueifas geem o, S
SREMAY 3R & Il ¥ i o E ft 5w gen &
ILv HIERT & fodi o YU H 911 59 W & I W@
AT A AR G g1 T T d 4 dma ffew
gl T 1843 H gRGMY R F & yAE 9
Fadar § # T G Jas Bl e GEd’ #
28 3TFER 1851 H FHAawdl ¥ To% o 7, e 49,
S SR qu gRves gEei o F EW A o
(B - IeIfreh TRA ST SfereT - e U F9TaTeT)
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TASAT GUTH Ue T 3=

23. Which of the following were the
objectives of the Khilafat movement?
Raerwa

pite) frafefaa & 9
- F 97

1. To rouse anti-British feelings among the

Muslims of India./¥TRa % YHEEHEI ¥ farfesr
ferreft et S S
2. To reform the Muslim society.

main

™ T 1 gUR

3. To demand separate electorates and
preserve the Khilafat./gare frateres dsa ot
i 27 Raehme st wer

4. To save the Ottoman Empire and preserve
the Khilafat.
IS \TETST Y T8 AT Raetrera s Teror

Choose the correct answer from the codes
iven below: _
T Hel A TET 3T T T3 AT
(@ 1and 2/1 32 (b) 2 and 3/2 3R 3
(c)3and 4/3 34  (d) 1 and 4/1 3R 4
3T —(d)

-9 favags (1914-1918) & THI R
1 B wer # e W a9 @ F
%Tgw AT fE geaH ﬁ%swwgr@?ﬁ%‘rqﬁﬁé
RIS EICHEICR I ICII
awgwaﬁaﬁaﬁgﬁgq@a?aﬁ%(mm 1920)
%wﬁgﬁ%mwwﬁw(ﬁw)aﬂﬁm
3% f%g WRAE JEeMHl 9 ST g3 (R ST wd
ﬁmaﬁ)%ﬁﬁﬁmmWHM|w
St o Raarsa

ap

T Raeha =i &1 SEvd ARAE A
TR 0t q& 1 H ST FAT TG T b ST T
T REaThd &1 &l HET 91

24.  “Indian cotton merchant, banker,

Congressman and a close associate of Mahatma
Gandhl” This description fits:
" gt wueT , SeRt, SRITHT e WETeT
Tieft w1 freRe el %” g SUYH feewur §
(a) G.D. Birla/st.81. faen
(b) M.R. Jayakar/TH.3TX. STFh{
(c) Jamanalal Bajaj/STHATCTCT SISITST <hl
(d) V.S. Srinivasa Sastri/d.T9q. Sifqarg vmEt &1

I —(c)

ST TS aeel 9 o S FT AR, S
FEH A T Ao N F e & weArt 4 gwes
@A F, A faee | Afgenstt @ o= % s
Td 3YF § IFT AMRE & AU TEAena a9 TR
feam ST 1 ScoiedE R sHvAme fagen ff aRd &
g @A A, foeer e 9 % owgw ae
ffm s, W, awmE a aﬁa‘rﬁrm’ dens %
Wz\ns%wmﬁmﬁﬂmﬁwﬁﬁﬁmﬂm
S 1983 H g e @ T

25. The title given by British Government to

Mahatma Gandhi which, he surrendered
during the Non-cooperation Movement, was:

TSR ¥ AgreAr wieft st S sutter & of

AR R I rEAn orRle W auw &Y

e, =g oft -

(a) Hind Kesari/fég Hadr

(b) Kaisar-e-Hind/&e-T-fg=

(c) Rai Bahadur/Tas@Tat

(d) Rt. Honourable/Tge 3iiiaet

ST —(b)
RS- TEA M FO¥AW fva g5 H S
Farett % forw ffewr TR g He-u-R= i suify & ¢
ﬁ,ﬁﬁﬁﬁﬁwmﬁmwﬁ%ﬂsﬂﬁsﬁw‘@g@
USh qqT TSR UeH ff aug X e Smeena
a9 F S g & TR T wRigy & Swfy wier & o
(B - IR TR T e - WaX T FATTUTE)

26. Which one of the following statements does

correctly defines the term ‘drain theory’ as
propounded by Dadabhai NaorOJl"
st

g ‘e g’ &t
T aRyTeT = % forT wo= o o7t 27

(a) That the resources of the country were
bem utlhsed in the interest of Britain.

TareE &1 39 e % fed # fpar o
I%T |
(b) That a part of India’s national wealth or total
annual product was being exported to Britain
for which India got no material returns.
IR N TP HUAT H TH AN FIE ol alueh
3 fored &1 foaid X fean s o fme fou
G F FIE aTEdfd Ifawa T e ol
(c) That the British Industrialists were being given
an opportunity to invest in India under the
protection of the imperial power.
& e ¥ fafewr sawafe @t
IRd ¥ fee & sTeRR fa snﬁ of
(d) That the British goods were being imported to
the country making it poorer day by day.
aa | UEE F @A A S 91
i 3w & fam e sifrefies Ml A S A
3T —(b)
HRET— IR % Fa19G Aar (Grand old man of India) &
W Y A @ 9 ANST 9 Fewem 1901 # ¥
A (WS TE] e ARy & 34 svear # fafew
Wz{mmw@w%wﬁmsﬁwaﬁrmaﬂﬁ
TC 95 ‘9F % 19aTE fEIT (Drain Theory of Wealth)
1 g e # ASt T e faveer #§ g7 fed
fopren foF STIST WK g 9RG S TFE TR & UH
T T I H FA TEA 3= 2T F Fafa e smr
%mmﬁwﬁﬁémqﬁwmmq@
B FEeA § 5 9Ra & Teisw=A & AW ¥ Afud @ 9
AT 7 1906 # HIW e &k ®U H HEAWIH WS H
w33 off1 1892 H @ 9 ARSH H IIRAE TA H
AR G ey T6e =Y % FME & fAw T4 T 3R
1886 H ‘S 3fiear THfIURE’ AmE TMeH i T 3
(B - STEIfTeh TRA AT 3ereT™ - TaX TS ATUTA)
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27. What is the correct chronological sequence of

the following stages in the political life of

Mahatma Gandhi?
HREIHT 0T Sfrem =t f=fafaa
TEATAT T TR AT &7

1. Champaran/9uRA

2. Ahmedabad Mill Strike/3TgHaMEE el gedre]

3. Kheda/@gr

4. Non-cooperation Movement. /3T ST

Choose the answer from the codes given below:

frer fqu gU Fet | I a6 T

FE

(@2, 4,3, 1 (b 1,2,34

©4,3,2,1 @3, 4,2, 1
ST —(b)

TR M Sad, 1915 F aRT o § Ay
ARG I 1915 H & 3WH TONd & FEHEER el H
TEEAl Y Sl WA B 1917 § T6FAR £
feaer W faRR & SmRe e # BT arTe mfes % gR

fhgrT % wmT o Roeh W @ g g
St & IR H GEDR H T T AT 36
T, 1918 3TRHERE i Aegl 1 geard
%ﬁmw@fwﬁawmmﬁaﬁm
e S T T [ A AWe HowE & o1
fepa =71 35 Tve 22 W, 1918 F BT (ToRM)
g I F AECH F A g fFA

Mahatma Gandhi was referred to as the
‘Father of the nation’ first by:
g Tieft st gewerd wgfuar’ feRaa e ar?
(a) Jawaharlal Nehru/Sametea J8&

(b) Vallabhbhai Patel/seassg g2t

(c) C. Rajagopalachari/dt. I

(d) Subhash Chandra Bose/g4¥ == T

I —(d)

HET-1943 3. § R § gum == a9 F owemh
TEHR & T 1 q9 Fere me H Havgm qgii
T gL I MGG A oA71 (W - YR ARA A
Sferg™ - TeR T& TIUTe)

TR T el

(AN
Hiferer HEEAT/ITUATE o3/ AEa JIeT
29. Which among the following pairs of places had
most marked difference in total rainfall per

annum even though located approximately
along the same latitude?

S g e € 399 T g e |
g fms ?ﬁﬁ‘T TR AWT Teh E AT W
saferm € fR ot St anfiies @t &t Fer A
T TR Walferes Geus §?
(a) Bangalore and Madras/aTel 3R 7S
(b) Bombay and Visakhapatnam
F¢ 3R feremaTa

(¢) Ajmer and Shillong\/iﬂﬁﬁ'{ 3 e
(d) Nagpur and Calcutta/aT X 3R sheteh
I —(c)

ETET—USRYE 1 A TR a9 Jererd & ToteH
e AT U & SRy W W a8 SIS a9

wm%@aﬁzsgmmamw%m

oAl § B U O 7, Feb 1@ § W AT 26° SR
¥ ford 21 Tk @ S W eEfRd B gu o s
et & arffes et & AEn § waifees WY R 81 3R
TfEd R TSI & 39 H ad Al gl 8, Seiteh et
Hfed Trqul wererd T weifedl ¥ R g & SR 39 &
Haiferss sfEd aut aren 57 21 qed § 6 9 § et
ot arel & T AL A a9 Sdsy v § @
fer 21 (B - aRa /1 9Eie - ergeds AT

30.

In Mizoram, the settlement pattern is mostly of
‘linear type’ along the ridges, because
Y GE: HEwl o A@I-wg

Y- ghere’ T &, FE -
(a) The valleys are cooler than the ridges

e Fedhi @ e 3 &
(b) Accessibility is easier on the ridge tops

T el | oge T ¢
(c) The ridges are cooler than the valleys

T T # TE 3T §
(d) The valleys are densely forested

it § gud o §

ST —(a)

-G # qarr fon s § awi ¥ 7% ®9
T FeF 5 Tg-Og s TRET #1 8 e HeR @
Tifeai 78t & Hed! 1 e IS I ¢
(BN - AR T e - Tgeds qraRa)
31.

According to the ancient Indian geographical
concept, ‘Bharatvarsha was a %art of:

ﬁﬂr?ﬁvwa@rm7

(a) Pushkaradweepa/=h 19

(b) Jambudweepa/Sgrg

(c) Kraunchadweepa/ﬁ?\l’?rsﬁ'q

(d) Kushdweepa/$Hergid

ST —(b)
T3 | Ao ¥ oot 3R # 9g 9% $ gu
AR SUHETET i fafae A § S S @) ag Hd &
AR B S ST el T 21 Sl W g gd el e
¥ wer HiEdGY H WEA oA Sed@dia @ fF gl |
arAed % for ‘e W @1 e feer @ st sy
¥ TS 9T AT W Y GRS Fel T
(BT - AR T T - T IR

32.

Consider the map given below

e fer gu aetes W e i

The mean annual rainfall in the shaded parts of
India varies from

W ok {Gifehd HEI | AT(ieh oot ot qTed feha=
 fepa aeh TeaT-agar &7
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() 100 to 150 c/100 ¥ 150 4T
(b) 150 to 200 cm/150 & 200 Tl T
(c) 200 to 250 cm/200 § 250 THI. T
(d) 250 to 300 cm/250 T 300 T, T%
3T —(a)

HREAT— 739 § T 70 9rd & 3Aigq anve au qmtE
H T F TR WY @ W@ 2 6 swdw Aet § Twifed
TN 100-200 T, AT aN SRR FAAT 21| A FbedH
foheT (a) e I &M

33. Consider the Climograph given below:

e fau gu Sierarg 3Ry W e SN -
dof— |
e 1 3

20} oy >

I L

.

amtmm_'c
e

:m&fammﬁ-/. TS T—

The above climograph relates to
Uk Seterg an%’@ frr oy A £
(a) Northwestern region of India
AR BT STR-TfTHT &
Southern region of India

TR T AT &

(¢) Mid-central region of India
TR T AEH-HT &
Northeastern region of India
9T T - &

I —(d)

80 100

(b)

(d)

- T | AT MU Sary Ay & ARG & A
Y oy AT ? A omw af % aRg wEH ¥ 9Rd &
sl-gdl & i oy B FeidE e T 21 s e A
e, B a0 A ¥ aes oy, Jor ad o d
99w wff, foaer, et @ qamr # wig e Am
et a1 feweR, St § wad | de Seary (31
3e) TRt T B1 ;e & R Soerg e e oa o
gug a6 F Hem & fRfd e 81 9Rg A Sy, s

Hfeedia aegH SToarg 2|

34. A rainy day, as defined by the Indian

Meteorological department, is a day when the
rainfall at a point received is:

&t URETT & AR
Fut w1 e o% BT & 5 fenelt fagy v wT W
Tut Y AT 3 YRR At -

(a) 0.5 mmto I mm in 24 hours

24 52 H 0.5 A @1 A 7
1.1 mm to 1.5 mm in 24 hours
24 52 # 1.1 fad @ 15 i T
(¢) 1.6 mm to 2 mm in 24 hours

24 52 H 1.6 faddl. g 2 Al 7=
(d) Above 2.5 mm in 24 hours

24 52 H 2.5 . ¥ 3w

ST —(d)
ATl wE @ srerfs (Fu-dfe A
ATfesh) TAUSHE ST 81 9RGE 6w e faem
g g & 7 A 24 W2 awt @ Eam A 25
fo s, § S o ot 8, R 6 ant oren R e ST B
9 &9 a1 A faam & ofar % siwia aut 5@
AT S| g @ 6 9yRa # A gl o 99 1875
T e & T ofl, T gEeR g e 911 yem fawa

I3 & 9% TR gENed U (FENIE) @ TS
A H g % faceh # g1 o9 9Ra & HEw
Tt At A § SR B

(B - AR T e - TGt AHIRE)

=g, 94, fudt, faeg aiEeng, v

35. Soils of Western Rajasthan have a high content

of:

ufgendt Trereer & fredt # fermant wra atfure §7

(a) Aluminum/TeHifH

(b) Calcium/&feyram

(c) Nitrogen/ATEg2IsH

(d) Phosphorus/®EhE

I —(b)
wrE— vl Teem @ fedt § gafem %
U SR & e el SR # A 81 e 3§
& 1 faedt | Sfcvam wfae i s amn o S 2

@i, vifed T Ue SET 9 SR

36. The Neyveli thermal power plant is fed by

Faeft AT faregar wes T T FREd R 87

(a) Gondwana coal/TEaMT HiEer

(b) Tertiary coal/ges e

(¢) Quarternary coal/ﬂjzfa% Hiae

(d) Cambrian coal/H&E Higern

3T —(b)
et TR Ts7 afrearg | R seen sneia
el A P S A & e e ST A g
uft & HiFe (Y FrEAEn) W TG 1 J9A 8 F 9"
§ ot o (T g F e (iR 71 %
Sl # foreige Sigen W S 21 gdias SEen geay
Afeyss dftrerrg # et § wrer S 81 g foree S

(b)
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F TG A H ST o BN TG W A foRd T @
WO T 21 eAaed § 6 W S 98 ufaw dEen
T TiiedrT Stelt § qer 99 2 9fawe e gaEs o
=¥l oft @l # faem 2

(BN~ T T et - Tgeds araa)

37. At the present state of our knowledge and
resources position, India will remain self
sufficient for the next three decades in:

IR wETER

gRfeafa o e@d gu vna frefafaa & 9 fea o
e o T swenfedt wm?

(a) Tin/fEA (&)

(b) Coking Coal/®Tehshr et

(c) Copper/dian

(d) Petroleum/Igiferam

I —(b)

AT TH & O J-Iq0hi g1 TE Fdid gam
f6 aRA HA & qUSR H eretR 31 fEe adAe
ofiftaferll & oFER 9RG & fog § FEen wveRe #
saf T 21 b wRa § @ M A FEd § 7w A
AR WA e B 81 39 A § WRG & A
Tl 3T ¥ HAA b AW W AR T I=q 2

forvar &1 g
TS Ta GRAvSH
38. Even though Pluto is usually the farthest
planet, its path is highly elliptical, crossing
inside the path of some other planet. As a result
for a period of twenty years from 1979, the

farthest planet is not Pluto but:
TR GO el GOl g U §, W SEET

wﬁwwagﬁﬂ?ﬂﬁq?ﬁ'&r% it fereft 31 T
& UY HI HEAr ¥ URITHA: 1979 F R g8 20
ad @ erERr ¥ Wl wed gy W@ § Al @i

T T 77

(a) Jupiter/Jgeqfd (b) Saturn/31

(c) Uranus/?ﬁ?q (d) Neptune/%rq?ff
I —(d)

EA—ER-TUSd & i 71 Fo9 B I WEl (39 A
@T)a?r@al%oé.ﬁw—s'irﬁnﬁaﬁam@?ﬂ
wﬁwqﬁwaﬁa?ﬂzrw FEUT (ATA) P P
H 21 T R ‘tqﬁ’ aﬁﬂﬂwqﬁﬁﬂa@r

228 a&fa&saﬁ@ﬂlﬁaﬁ T IR TN %l Rl
2 T 24 3T T 2006 F UH TRST F T TR
3 WW’(IVA)%%M%@ﬁaﬁaﬁ
7 Sifva fha 6 ‘wer diaved @ 98 T 81 e o
giAued # mé’rﬂ%ﬁmm%ﬁﬂ%ﬂsﬁrﬁﬁ
@M T @ SR SRAvST # g9 BT T8 g9 g

(& - fava &1 et - TI9T yEE)

_l:lz

39. When there is depletion of ozone in the

stratosphere, the wavelength of radiation
striking the earth’s surface will be:

Wa GAAY HE@ § ST ST UL o § A
geeft o eRTae WX qaafda fafertor @ wir e
feha=it greft &2

(a) 10'°M (b) 107 M
(c) 102 M (d) 100 M
ST —(b)

TMET— UV-C T § 100 - 280 mm &t &1 2 I
A 7% R SN WA g waifts gt g f
3 UG Hed H SN F U & W YA kA
wqﬁﬂﬁiﬁﬂwﬁ:ﬁﬁqwﬁw‘ 100 nm it
c1nm=1.0x10"m
.. 100 nm =100 x 10’
 1nm=1.0x%x10"m
. 100 nm =100 x 10~
= 102 x 107
=10"m
40. The solar eclipse achieves totality only in the
limited geographical regions because:
T (T had wite g-g% ¥ @
(a) The earth is not a smooth flat surface, but has
elevations and depressions
gl & STy OReST A A F g W ousd
aTell =% 1 DA I BN BT Bl 8
The size of the shadow of the moon on the
earth is small compared to the cross section
of the earth
goft F WA O T ¢ afew I IR IR
I 2
The trajectories of the earth around the sun
and the moon around the earth are not perfect
circles
i F IR AR g 1 qer gedt % AR AR =%
& W& 79 qula: gaeR T 8
Sun rays can reach most of the peripheral
regions of the shadow of the moon due to a
atmospheric refraction
& HRT g Rl =g

% sfeier R 8 % TEa T §
ST —(a)
RET—YeA R TS S i F BT 5 B g R
qﬁ%aﬁamaﬂw%aﬁﬁmwg@mﬁ
q@m%&&f‘rf@ﬁrﬁqﬁm%ﬁ%wwgﬁ@

(b)

(c)

(d)

78 e @ aa 8 39 I gF WU wed &1 YA &

ST IR=T Y o § YA W Ued arelt w5 e
waﬂvmﬁa %w@@mmm
o ¥ & fear v 2l

(s - WWW-WM)

41.  Which one of the following is NOT an astronomical
object?
fraferfaa § @ i © Tl awg TE €2
(a) Pulsar/9e&t (b) Brittle Star/S7X a1
(c) Black hole/&™T faX  (d) Quasar/FaTas
I —(b)
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AT AW (2T T0) G % & 81 Fard,
gt Tl F07 R (Black Holes) dHI @it fivg &)
FAEY UF qEd ed AR 3weis €, S 4 9 10 oNd
TehreT S gl W @@ €1 3@ d% 600 ¥ e FErad
6 & T E | T T Gl v R, S e % &9
¥ frafid s § e a1 SealE war @ 81 faeme
AR 1 31T ‘FW7 S (Black Holes) % &9 # i1 &1 gt

EeT HUSeT
Which of the following places have their

standard times, that are the same as GMT?
frfefaa Tt U 0T GMT &

= §?

1. Accra/3Tshl 2. Dublin/sfeem

3. Madrid/Afss 4. Lisbon/fer&sH
Choose the correct answer from the codes given

below:

frer fou g et § | WE ST 1 OE it
(@ 1, 2 and 3/1, 2 3 3

(b) 1, 3, and 4/1, 3, 3 4

(©) 1,2 and 4/1, 2 3 4

(d) 2, 3 and 4/2, 3 3 4

I —(c)

TS & TEF o § el Wit T shedrien
@l 00 R S Al WEEE 2rT (GM.T.) #&d 2
TH W@ & qd AR TIF 15° UK R THI | G0 98
ST 8 e At W & ufvem & 3N 9 W g 15°
W | 90 GHF OIS & S 81 5o o % HAfaw e |
TEATE % 12 991 B0 § a9 3T iR sfeM (Eeve &
o # off T quR § & R g % R duel
12 & T 2, W AT (T F A qor form
(qTe @ T H 0° R F qeEd F 15° IR
W R B 1 HROT T & 1 S €1 39 YR ged |
T fqhedt § @iE fahed UHew W W T g1 fR o
fohed () 1 & Fisheam T& ST =T ST Tebal B

(& - Tava &1 e - GIoT Jd )

R e

43.

The production of cultured pearls is an important

cottage industry of:
THETR AT T ICUTE e <97 ST HEedUUl HelX

I &2

(a) Belgium/a'%ﬂ'qq

(b) West Indies/a=gE
(¢) New Zealand/=Jsiog

(d) Japan/STar
ST - (d)

TTET— Foak Al S &1 deheilh I STThR I
% foferar siferet F fpam 11 Ao STAE H heek Hid
IS &1 H AEAYUT PR AN &I T

TS YT Te Hferserett
44. Consider the map given below.

o fear gu wmtes W s i

Tl

The countries marked 1, 2, 3, and 4 in the map

respectively represent: .
Ay 1,2,3 3 4 3ifa 1 wmen o ¢ -
(@)

Libya, Somalia, Nigeria & Namibia
R
(b)

(c)
(d)

Egypt, Somalia, Congo and Namibia
forsy, L S 3 AT
Sudan, Ethiopia, Angola and Botswana
Algeria, Kenya, Ghana and Zambia
STCSIRET, e, BT 37

37T —(a)
- § e T AefE oet W & 2
qEfed § 1,2, 3 997 4 37H ¥ J@ifhd WM STHE WEET
& AL SlifoE, Sferan, AgSHRar qor ArifeEr 3w @6
Tega R R 1 offeEr & worerh faed, Sfar @t
T AMRY], AESIRA I STESn qur AwifeEr @
foreem 21 (B - fava &1 Qe - 9T yEe)

45.

Among the four house types shown below,
which one represents the house type of the

‘I:"%gmies? . .
& W OR wieew o €, 3 W @E W

3T —(a)

Ty H Feffia sHefaat & ey gfowar o
&1 farm gom wfeey g1 i SfE, 0
frefidia, am@er qan & o |
St Sl S SRt § S SHE
FfeaE H AEN @ (RR &) 21 f&hed (b)

e

‘TS SR BT a9 faweT (d)

3T - 3FE YT H WA I Al ‘qE S H B
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46. When the Couple Protection Rate is going up:
e ot TR0 it ST W gheg B W A Al
(a) Birth rate must necessarily fall.
S & e & S
Birth rate will fall only if couples are of
younger age.
S et S el FA Y F @
Death rate must necessarily fall.

T I & T

(©)

(d) Infant mortality rate must be falling.
Y] g srava & weh

37X —(b)

(b)

AT 5 IR W # R H gfg & @ F a@ T R
aft meift @ a9 oy & &)

47. Which one of the following shows the

descending order of the four metropolitan cities
in the Indian subcontinent in so far as their

opulation strength is concerned?
%n:ﬂ%rf@?r T 9 form O arRdig SumEEda & =R
TEFTR SEEAT i S & el v o o & 82
(a) Bombay, Calcutta, Dhaka, New Delhi

o5, helhdl, a1, T3t faoel
Bombay, Calcutta, New Delhi, Karachi
a2, e, T feell, B
Bombay, Calcutta, Karachi, New Delhi
Calcutta, Bombay, Dhaka, Karachi
37X —(b)

(b)
(©
(d)

TS § T U 9T ST & el &l

SHEAT HT TEE FH T FBR AT-

TEE > FAFT > T8 [Geall > FAE| STTOAT (2011) &

Wﬂm%wmwmﬁmmmw
2 TEE-1,15414288 > T el 1,63,14838 >

ﬁm14112536>m12827927|

48. The New Population Bomb refers to:
AT SAAEEAT 9 T AT ¥
(a) An increase in the population of the aged in
the Third World.
et g o g & SHEe | gfe
(b) Rapidly growing urban population in the
Third World.
e gfren & Sfear § a9 @ TN A SHEen
Large scale distress migration in the Third
World.
Tl gfren # 92 9HH W Yshew Tee
(d) Deluge of Soviet emigrants.
e s

(©

3T —(b)

R3S T § g9 8 A 99 @ e
it 1 Al g % A Y S S 81 Al g % e e
i e e o S T K GO AN § o g H o ¥
e o 2, 98 W 37 2§ I R 21 39 Boaey
& 39 ¥ e e N A as € R, R e
TR & e 6 T 9 @ 81 W T SHwen &
T & I 31 (B - T U T - WA 2007)

TS EIeT Ue qeieqaet
WA T HaeIt~en foenm
49. Match List I with List II and select the correct
answer by using the codes given below the lists:

Tet 1w g 1 R G wRT S g
S fe& T el T SUTT FA !Ts:ﬁ I HT
I T

List I/g=h 1
(Features of the
Indian Constitution)
(VR & Hfaem & oteron  (FRee 291 | T7E)

A. Fundamental Rights (1) U.K.
T I .

[N -\

List TI/g=H 11

(Borrowed from)

B. Parliamentary system (2) U.S.A.
of Government .
IITET i GHT YUTSHt  HTR o STHGRT
C. Emergency provisions (3) Ireland
CIRIGESEES)
D. Directive Principles
of State Policy
g Hfifa &

German Reich

SCERC

Canada
hATST

@

ae
(6

‘o!\R‘:

(a) A-2, B-4, C-5,D-1 (b) A-5,B-1,C-3, D4

(c) A-2,B-1,C-4,D-3 (d) A-1, B-2, C-4, D-3

ST —(0)

ERET—IRAT W # wifes R Tgw Toa sl
g yfed & A WA @ gEdE sl gERes fhew
(f512) T U ST ST o AW GEYE 9 @ T
& Hifd Fee T Eive & SfayE ¥ g 21
(BT — 9N o Wiae - 2. . 59)

50. Which of the following statements regarding
the Constituent Assembly are true?

¥ ®uT Gfaem= |9 &
feroar o vt €2

1. It was not based on adult franchise.
oE TR WATURT UT Mermia = oft
2. It resulted from direct elections.

a% g frates @ aiume o
3. It was a multiparty body.

g ageeia e o
4. It worked through several committees.

IEA 3k Gl o 7IeAw ¥ kel feRar

Select the correct answer from the codes given
Below:

fror fou gu #et § 9 ST &1 w9 T
we

(a) 1 and 2/1 3R 2

(b) 2 and 3/2 3 3

(c) 3 and 4/3 3 4

(1,2, 3and 4/1, 2, 3 3 4

3™ —(¢)
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AT 9 & Ted & fau qsa &1 faumganstt
1 39 fyafees dea & &9 # fHar man on) o 9@y
T ey fates o aRum o ek T' fefea arfe
(T foumvsell ) TR W 99 AR Yol gRT
ERREE

ANTRERAT, A AR, Ul e, TS
o Hifefaeymes aa

51.

The Swaran Singh Committee considered the
question of:
g Wt 3 | g9 W foem foman &g o -
(a) More autonomy to Punjab on the model of
Jammu & Kashmir.
TH-HYER % WY e 31 e
(b) The suitability of the Presidential form of
government for India.
A & T TPula qos e & ST
The precedence of the Directive Principles
over Fundamental Rights. )
LGl F qa | e @l wl ST
(d) Administrative reforms./J9THHE HuR
3T —(¢)

- gueEe @, i sfa i g/ fed &t T
TR @i fig wftfy & fawier w480 dfaum g
affrag, 1976 TRT far mem| Ger @ fig afufa &
T A AER W TF & Afq e @i @ adeEa
YoM & & I W fGER &9 & faw fear mr an) wof
i ofufy & ey w dfeym o @ 9% & 9ed fave
408 9w fRar AT TE HROT 428 HENEA @l

©

of 5

AR HF W aeAar qO1 9 9 TSy foue st &l
FHEFA 6 a8 ST M JELUET F1 GHAEY KA T AT
(BT — 9Ra @ giga - € /. 59g)

WY UE TSI hi  HIHUTIRT, 3TUTd
ERCE2

53. The Chief Minister of a State in India is NOT
eligible to vote in the Presidential election if:
& o T &l =it Tae
o T ure =& grar afe—
(a) He himself is a candidate.
e T S e 2

(b) He is yet to prove his majority on the floor of
the Lower House of the State legislature.
3 T faum dead & e I SgAd
g e o &

(c) He is a member of the Upper House of the
State legislature.
g T fqum dea # 3=9 Ted 1 T8 |
(d) He is a caretaker Chief Minister.
I 98 FHTAS w9 § e TEE &
3T (0)
- AT e F e 54 ¥ wWE € T
fgum dead & I=9 WEd oruiq foum ofwg & e @
oo Fyatee quee #§ 981 21 31 forhed (o) 98l 3w 21

54. The abolition of the I.A.S. and the LP.S. has

been recommended by the:

HAT (1AS) 3R wR=r gfers |ar

(IPS) ST AT & ot THwRTReT fepar @t oft?

(a) Dhebar Commission/2aX 3TTFHT

(b) Kalekar Commission/&HTie 37T

(¢) Kher Commission/TR 3T

(d) Rajamannar Commission/TSTHAR Eipi

3T —(d)
ETEA—F5-T Hafd] W fomR & 87 TSR e
F A 1969 H TS THR FNT HaT T 1| ST &%
sremer O . ToHER dUr & ge= O °n G q«n @
9. Td. gefeEr 41 1971 § FHvW 1o Rae § qswEn
AN F WY TS el B AT STE & fter &
TEA & - FE TR 5R T A g 6 S
el IRAE TMHAS FAT (LAS.) T WRAE gfers gar
(LP.S.) &I & fd ST & fawily & o1 3o € 6
FIHT HABL AT HT TS 1953 3. § 9IRAT THS &
e aml @ TeaH a9 39 fod Hawd oq FwRel & %
o fopam T an) S S ST WX ST 1955 H qyufy

ST fga foam T Tt ST of, f 1956 # STa
foard Tgafa =t @i o

52. The only instance when the President of India
exercised his power of veto related to: faam= HUEA ‘qﬁ'qﬁqa"
O o Tgufd 3 9 T 91w § ot offer
= vTfR T TENT fR T ot 55. Which one of the following statements
The Hindu Code Bill regarding the office of the Speaker is correct?
® %{aﬁ‘;ga“‘ ot % Ug % famm ¥ frafated s § 9
(b) The PEPSU Appropriation Bill I T 9 &2
faferam (a) He holds office during the pleasure of the
(c) The Indian Post Office (Amendments) Bill President.
SR (Ge fereree) 9 TP & IS g gE N BT @
(d) The Dowry Prohibition Bill (b) He need not be a member of the House at the
Tt wfoy e time of his election but has to become a
I —(¢) member of the House within six months from
wRe— il T famedl § aRdr SR (Feien fde) the date of his ele“;’% 5
s g T8 ETEF Tl 6 frafeq & 9w @ wad
wﬁwﬁaﬁaﬁmwaﬁ)mﬁw F WS B, WA ¥ A Frated ¥ AR B A
ol & fieR e 1 Gaw & S TR
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(¢) He loses his office if the House is dissolved
before the end of its normal tenure.

It g 7Efy ¥ 9d g & 6 X faar S
1 3 ST IR BIST BT
(d) If he intends to resign, the letter of his
resignation is to be addressed to the Deputy
Speaker.
I 98 WO A AR a1 39 U &N
IUTEHT 1 Hae ST B
I —(d)
SHET— 35 Y39 & T& I & 7w sqh 9ot forpedi ©@
HUTT: FER FT B e () TEAAT YHH B, il
wfauE % STqER wiel & fow § qgufd @ @ e
T A fawer (b) ff sEw 7, R IR 93 B
STTHR AT & TR O H § 7T e AT | ST
T fahed () # 91 7, 123 94 39 Hawf § W Fgar
%%#W%HWW%WW%
T 39 U R S W T g fasey off e
W(d)%ﬁwﬁm@a%(@)ﬁwm%
d: faehed (d) e S 21
(ET - 9N & Wi - 2. f. 99)

56. Which one of the following is INCORRECT in
respect of Parliamentary Control over the
Budget?

STe W HHeE o e & fawg ® frefafaa o
¥ & o vt T g2
(a) Parliament has no say in the preparation of the
budget.
Fore o fmfor & T92 & P g T ara

(b) Parliament has the power to increase
expenditure charged on the Consolidated Fund.

Tug fafr ® waia =@ & 9= #i
vRe T 7

(c) Parliament has no power to impose a tax
Wlthout the President’s recommendation.

o &1 qyula & faefer & o F1E  mifa
F # W A T 2

(d) Parliament has no power to increase a tax
w1th0ut the President’s recommendation.

Tog @ qgafa e % fer e # # gfg
A N wIfh I T 2
37X —(a)

T : a5¢ T GHE & (45907 (FAreiiiad IHR 9 &id &-
o THE H Tk P W yARd =@ H TeH H
3t o1E 2

e ToT & [PU H fAwRY F A FE W
AT B 9k o =787 21

o TUT FH wuld H fawRw F o fHdr o #
3fg F i e o@ T 71

frurmrsa &t digft F T a9 dAR T FE TER
T TSI R, H A @t 81 HudH ) fenh
foowiier, =g W faurEh fEao g il amel «®
FRUfH FN Ted wHaE foxfa fEor womel & e
et g 21

1 e § wE 2 {6 faseq (a) # oo o wuw
o e % g § e 2

=g

57.

Which one of the following statements is

correct?
T | & 91 o 9d £

(a) Neither the Finance Commission nor the
Planning Commission is a constitutional body.

I @ a9 s & Wit fem g R A
ST ST &

(b) The scope of the Finance Commission is
limited to a review of the revenue segment of
the budget while the Planning Commission
takes an overall review embracing both capital
and revenue requirements of the States.

fa o&am & &9 @ Soe % (o WE &
w@ﬂwﬁﬁﬁﬁﬁ%w?ﬁww

iﬂfmm‘%ﬁm TS & G
3N ST T 37U

(c) No one can be a member of both the Finance
Commission and the Planning Commission at
the same time.

P G TF & v H BFE S S A
TGN S H G TG & TR

(d) There is no overlapping of work and
responsibility of the Finance Commission and
those of the Planning Commission.

o ST 3 IS SR % HET AR et
#F TR sffenfa 76§
ST —(d)

(o RN 3R IS & & FrE 3 it
F W sfdenfty 78 21 o e = w4 6 Ul %
AN T e 50 Tsat & fore &g o9 arelt forfta e
F fogra fuifie s g, W& de e 2w &
Thfpd anfds 9 Tt foe & faw aemr & fmfor
FAT 2| (B - WA ot wigen - . & 9g)

T T (F9 Td TH)
58.

Which one of the following comes under the

jurisdiction of both the High Courts and the
Supreme Court"

T ¥ forer Tl S =mETeE 3R
ITIA ATATA ST et AARTRAT | 37 82
(a) Disputes between the Centre and the States.
F5 3 Tt & A F faare
Disputes between the States interest.
[ % TR faarg
(c) Protection of the Fundamental Rights.
Tl AR T FHEIoT
(d) Protection against the violation of the Constitution
i & Ioole H T

(b)

ST —(0)
HE—3TH faFedl § (a) d (b) H SR 7=
Foaan = | fAfed @1 S e (o) qor SRt
& T N SAHER el ISR 32 & deq Walred e
F I 8, T AR 226 & ded Tg T I e
& o I 81 3 fReT (c) WE W R
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59. Which one of the following is a feature common

to both the Indian Federation and the
American Federation?
HIA-T AU AR giEe 3
ReRT TRET o AU BT | YT S 872
(a) A single citizenship./T& & AR
(b) Three lists in the Constitution.
e & A g
(c) Dual judiciary./=adiers &t gear
(d) A federal Supreme Court to interpret the
constltutlon

e & fyd=q & fow oReEe s=aq =mes
I —(d)

HEAT— doyd & feawa & foau s oy s=am
AT TG # AR qRaE Sfee # emie
dfeer= § wifed 21 7 9o TR Wy o s A o
T Tg HEY FAH AfEEH & A’ # e s At
S0 wfauifed frar T o

Tt (STeaeel o §faend §9mne,

60. The Anti Defection Law was enacted as early as
1979 in:
Tor uReds ferreft ferfer =y fofr oar o 1979 & &
srferfam & T T an?

(a) Kerala/&%a

(b) Jammu and Kashmir/Si-s3HRX
(c) West Bengal/af¥aw e

(d) Tamil Nadu/dfHerrg

ST —(b)

AT T8 51 o Tofta ieft & v e §
529 dfge T sifufEm 1985 TRA e dfewE |
ITE FEfd 98 103 STgEl Wi Hh & a7 H
Iy Hifd A fEEr T e 3k @ & 9N % 9
FYUR [T F fGg= T T HewUd 99 1979 H 3@ &
el stfufram WRT F0F 9 A @ R A1) 9 3 B
919 dfqe= deieA sifaf=m 2004 5 €O 4 T -
e fotet wagEl § deies qon Ghefed & R @
fraffed e & $a T @ & 15 ufowa 9% G
TG & Wi fpar e |

61. Which one of the following is in the Concurrent

List in the Constitution of India?

WA-UT UE WRA o HigenT &t
wuedt gt o €7
(a) Populatlon control and family planning
ST T 3 uRaR fee
(b) Public health and sanitation
e 3R sl

(¢) Capitation taxes/Sfdeth X

(d) Treasure trove/f@m ff¥

ST —(a)

HTEET— A SfFem & STgE 7 % ia guadt gar
% 9 20 (%) § 0T 9 qRER P 9t 81 a8 42 o
Tferer GeneE 1976 51 THad! Gt F Srenm T g1 gd
g ToF T 1 faw o o7 fased (a) T 2

faerasfiar wd faemfaa sreferawen

62. Which one of the following sets of economists

strongly favoured market economy?

B e
TR STefeawen 1 yae aue= fewar or?

(a) Adam Smith, Keynes, Hicks

Tey farg, F, e

Adam Smith, Marx, Strumlin

Ten oy, HEFEL wafe

Adam Smith, Hayek, Friedman
weq @y, 39w, syrﬂ@%r
Adam Smith, Ricardo, J.K. Galbraith
weq &y, Rarel, S.%. oy
ST —(d)
rE— FdveE teq Gy, REEl o 3. %, sy
T R % TERT Hl STEGR B g, AN e
1 Yot gude fRar an

63. Which arrangement of the following show the

correct sequence of demographic transition as
typically associated with economic

development?
ﬁmﬁ?@ﬁﬁﬁmmﬁﬁmmﬁmﬁ
watga faftre sA@ifeaea d@wuur & W@
3TIEHA 9 S?
1. High birth rate with high death
Iool T X T o §oI W H
2. Low birth rate with low death
faTTRwm g R
3. High birth rate with low death
ST TA A TATI A
Choose the answer from the codes given below:
fror fou gu Fet ¥ TR @ o
&e
@l,2,3
(¢)3,1,2
ST —(b)
W—‘m@qﬁuwmwmm@‘
AHEA qUT TE. S5eg AR FN foha I 3w fasid &
Wﬁmwﬁaﬂwqﬁgaﬁmmﬁﬁ
T TRAT TSl @1 A gfg Haicaed 9 S
grreies aRfEfdE g feffa s @1 Sifhd dsheor
fagia’  SweEn i # v e 9 T & - god
T T gy F AR rwen et 8 o 3=
TR FN 3= JAR TR St 21 e steen seEe
foemie & s arft @ o 3= S @ e gee
et S B gt ereen SeE g § g & et g,
fre forey STeet e et geget urel el 81w e
feR Smeen gfe o1 sEen @1 uied qor s s
RUTHS G g @ e Bl 7, foEd St
AR § & S 3| Berawy SHEe § Hoes HH
I A 21 3T 0T  WE @ fF g9 B W faehew
(b) SHEICTHE Fehuor &1 eeemet & 98 &9 § yef¥|
A E | (B — WA srefeawen - ar <)

(b)
(c)
(d)

®1,3,2
@d2,1,3
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TR T SRS

64.

The Employment Guarantee Scheme, a rural
work programme, was first started in:

AR Trefiur AR iy
weyaw et IR feRar Tan?
(a) West Bengal/afgadt ammet
(b) Punjab/4sTal
() Kerala/&e
(d) Maharashtra/qsi1g
I —(d)

ARSI &7 & e B USTIR sid wm e @
RO e B aTel e (TSHIR) TRUST A1 Tdsem
TERIY ToF & TWHR g a9 1972-73 § T & | I8
Teel AT & o | U & SR B F A €
T FeT & 6 wewy & gl A S s WoHE §ER
ENT 2 T 2005 | I9 F 27 T & 200 Rl § qEE
FRfOT TSR RO AT () i YES B B
(BT - WS STefeaaree - T g-aid)

65. The growth rate of which one of the following

sectors has very low employment elasticity?
¥ form et &t gfg X = TR

eaTEraT ag?r w0 g7

(a) Manufacturing/fafemfor

(b) Construction/fafor

(c) Financial services/foria dard

(d) Mixed farming/fAf3 T

3T (a)

STE— FHAMER T &5% 3 I SR JeTeerl
foret 8 -

2 ECT TSR FeaTerar

femfor - 0.60

forfr Tam@ - 0.53

faftm =t - 040

fafemor 0.25
anfﬁzﬁﬁ'qﬁmqarrghm/m

66. The basic difference between imperative and

indicative planning is that:
RIS 3R ﬁ%sm FISHT T SRS

3 I &2

(a) In the case of the imperative planning the
market mechanism is entirely replaced by a
command hierarchy, while in the case of
indicative planning, it is looked upon as a way
to improve the functioning of the market
system.
RTINS AT H TRET WO FNR T H &=
T TR ¥ o o 2, el ke A # S8
NN JUTC &k FEAFWT H GEURA F hdA Th
I T S 2

(b) In the case of indicative planning there is no
need to nationalize any industry.

(¢) In the case of imperative planning all
economic activities belong to public sector,
while in the other type they belong to the
private sector.

Ao H gl e frarhemy e
89 % 29 § B §, el R A § A
foft & & &1y # 2 &1

(d) Tt is easier to achieve targets in imperative type

of planning.
ﬁ%gmﬁwﬁa@ﬁmwﬁéﬁ%
ST (a)
T RS aeH § aR @7 [ ™8 ¥ fFeEfa
2 8 3 38 o aReda e S Fehd
¥, Safh FIeeTeE AT § SN & e SR Yol &
foFa-erdl 1 GERA H 7 TF G A1 3T & S 2
(BT — Wt refeaeen - g1 gaiH)
67.

Which of the following are the main causes of
slow rate of growth of per capita income In

India?
frafeea & ¥ &9 ¥ T8 &R0l § 9Ra §
gfeeatss o § gieg wr X S:ﬁ':ﬁ 2?
1. High capital output ratio
I=g ot S
2. High rate of growth of population
SHEE & gfg & Hd R
3. High rate of capital formation
OGSl & S &R
4. High level of fiscal deficits
TSiferftar =1 1 A TR
Select the correct answer from the codes given
below:
W 3T 1 wE A fou gu wet ¥ e
&<
(@ 1,2, 3 and 4/1, 2, 3 3 4
(b) 2, 3 and 4/2, 3 3R 4
(c) 1 and 4/1 3 4
(d) 1 and 2/1 3 2
I —(d)
HEAT— NG § S9N & i ga-t dig e &
aqqH G § g S e % 4 ¥ TSR @ @
o & R IO SAEE g
STTHTH! I T HT Tk |

R % FROT R G R o g,
qo # S FE e & i
UM A R FA WA 21T A RO F 2w A 9
=fth 3 § gfg i & il @ 2

(B - AT TefeHTaeer - gan gwaiw)

S, ST T TR

68. In India the Public Sector is most dominant in :
AN | ik & TR & walfrs o gorm &7
(a) Steel production/EaTd IcdTaT
(b) Orgamsed term lending financial institutions

qo § fdt off sam % e & F fou 3um 29 Gl "@nfeq forim
T TR T &Il | g‘wq
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(¢) Transport/aRag=
(d) Commercial banking/afoTass s &t
3T (b)

AN 9T H Ufscis T (i 8Fh) &1 Felieeh
qre gfea fari deenstt @fofos  wead §% aur
3 ferfta o) s ffTaq eafy % fow sar fjw o=
% em § g1 A focd deud S sdm g dar 8 % o
oo sraf &1 BT S S &1 TR SUr # wie e

# aefiard g s 2
69. Which one of the following is the best strategy
for environment friendly sustainable
development in Indian agriculture?
aRE | -3J&e, deieart fawma

¥ fore Prferfian @ @ o Wy wees 82

(a) Expansion of cultivable land, increased use of
superphosphate, urea and effective blocldes
F= 9ffr #1 fER, R B, far i s
SicEINCIicIic Ber Cﬂ?ﬁ"T

(b) Wider popularization of high yielding crop
varieties, better and more frequent irrigation
and increased frequency of aerial sprays of
inorganic fertilizers and pesticides.
A IeEr arelt fFel & sfiwfus dstE
AT S, dgR IR SAfye O e dur e
I SN FeAME FT IR-IR Fer fBgwE

(c) Mixed cropping, organic manures, nitrogen
fixing plants and pest resistant crop varieties.
g wer, EDS
o Fe SR T et

(d) Improved farm implements and machinery, use

of potent insecticides to minimize post harvest
grain losses and mono culture cropping
practices.
AT FH ST W A, FI BEA & A B
gfd B FAdH I H HIE HANME F AT
R TEEE

37— (¢)

- iy geH, FEHE @) g He o st @
T 9RG § FN F oEa gatawer, & el famm %
fore wdde fafyr 2

(B - AT srefeawen - T gai)

70. Which one of the following modes of privatisation

is the most comprehenswe and con;#ete"
waifereh
wertrtor 3iT uftgef &2

(a) Introduction of p%i_;/ﬁate capital in public sector.
&
(b) Contracting out management
enterprlses to the private sector.
% e B e W T & @ dr S
(c) Transferring ownership and management to
the workers.
F 7 e SR Tee P g
(d) Transferring ownership and management to
the private sector.
forsft & 1 T 3R Y 1 g
37-(d)

of public

st sfaEt qor sl sitEife el & san &
Wi q9T Jeee T g i fAeier & el
Hify # gaifas gaffor wd ofgel fear 81 fefeor &
A YT gort SR SrefereRe 1 RivT 1 Al Sl
F gresie o SN & & e e & geSare
Hed & AW 2|

qRI/SfRT Td T YUTell, s T
Tersiar wwra

71. When partial convertibility obtains the
exchange rate is:
EE] @ gt § o ot o
et -

(a) A weighted average/SRd sitga

(b) A simple average/q™= aitea

(c) Fully floating/qufa: wame

(d) Fully administered/qufa: srenfaa

ST —(a)
ETEAT—E Rl 39 BT SO qE H I =M qRSA
F Y TR -3 & fau o7ifers fafawear ang b S
2 @ 39 3w & fafma o onfve 9 9 WeER g oao
iR & § GOR B ARRA gR AT B S 21 I
ool fafme @ aiRa sfe & 81 g @ e
# qof uRad-er #1 sTeE TE e ¥ § s sdia
forelt 2w 1 o1 T &9 9§ e foaelt geit § T ww
foeft gamd g &9 F T g § uRadaeie a2

72.

A zero rate of Inflation obtains necessarily in a
year where the annual rate of inflation:
I S SH 98 | 3rava Wit Wt ¥,
-
(a) in every week of the year is zero.
@R # YEEH i A

(b) is falling in every week of the year

7 5 5T B § A A A o
(c) is both falling and rising in a year

F aiffes o 92 off iR A o

(d) is constant in every week of the year.

Tl # e i affs ® Br ©

T ®

ST —(a)
HTEAT— 3H g1 Thfd B Ggfdl sl A9 gere-al-
@R A S g1 I T ) A N F U 5 3|
af % Yo% gar § Sus M A g a e 2
i@f@ﬁﬁaﬁqﬁf@nw%aﬁwmaﬁﬁ%

73.

Which one of the following pairs is correctly
matched?
o F & | T o gafera &2
(a) Rationing . Fiscal control
RNIEL]

Cash Reserve Ratio : Selective Credit Control

(b)

TS HRET HA D U
(c) Licensing : Comprehensive
Control
I ERINE EIRCRERE)
(d) Import Quota : Physical control
ST it i
I (d)
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ET— A HIT & Aead ¥ TWaR g fFd ffvad
THAER FEA | a8 # SEfd aq s A FiREd &
& S 21 e Sier § ffved qen ¥ e s e
el ST Wehdl| 3q: I ST wifdes FEE0T e

3 2|
74. Euro dollars are:/TX e T 27

(a) A currency issued by European Monetary
Union. HETEE g S Th g1
Special ~ currency issued by federal
government of U.S.A. to be used only in
Europe./8qt%h T HIHR
FW S TS R qa e wa hee gy |
B &
U.S. dollars circulating In Europe.
9 F gftenfera smie (U.S.)efer
European currencies exchanged for the U.S.
dollar in U.S.
T T TR | sRat (U.S.)Ser

3T—(a)

U e’ 1958 H wifid dtsr @9 &% 12 Tyl
g fammr 1991 # & R Wiy @Yy e & e
THHT 3G S H T Thel qaT 2
(BT — et srefeawer - g gauy)

75. Variable reserve rates and Open Market
Operations are instruments of?:
TR RS AT 3R G AR HraTg fehaeh
HTer 872
(a) Fiscal Policy/TSifardtr =ifa
(b) Monetary Policy/qgT ifd
(c) Budgetary Policy/asie ifd
(d) Trade Policy/ZmaR i
I (b)

ERET— R ARV I F & 1 & Foeid & 2|
THH -G aNR H U1 A AE H ERE FE @
g fear S @1 Red S 5 g SR SEaR @
T WER sfagfel @ ele-fa & mem 9 ogm &
gl 1 et 0 & fog FRifE e 21 g
fspen o g Frame {9 S & S 39 Heed w2
Ia: I8 Wit A H & T I 21 Fefw qSfadg A

(®)

(©)
(d)

(b) Large production of industrial diamonds in
the country.
9T F St €1 T ST I

(c) Expertise available for cutting and polishing
of imported diamonds which are then
exported.
ferorosit <t Sutsy, S swenfad € @ FeR R
aiferst & €, d@f% S1e & S falq & %

(d) As in the past, India produces huge quantity
of gem diamonds which are exported.

2 ¥ 9gd i TE 39 Ff ™ &N o farwmer qmn
H 3cqreq 2, R foafa e smer @
I—(c)

M- ARG o e g @R & & feld & g
fooigl of Fwel HER 1 AeE ¥ sEed &R
TEGTA § TR SHF T N YT Fh W IgHed
&1 fea i 21

77. Most Favoured Nations (MFN) clause under
GATT implies
IR IR Heielt WUNU R (GATT) &
e WAt AT WIS U (MFN) @ |
forarfera € -
(a) Most favour to some countries.
T3 20 & Af e TR
Most favour to all countries.
Tt 2w & i A SR
No favour to any country.
Rt 3o % iy FE e
No favour to some countries.
F® 39 % 9T FE IR T
ST —(b)
HTET— 2% 3N =N Tl FENT R (GATT) &
1efi el ST WIS TP (MFN) & ad § 5 dee
v Rt W ge AW A S AR g i famd
Yo a € 3 Wi R vd g S aeem Tl A
fom vt Iuersy wUT BT | S R g W B A
Teft Te= TP F FAlfeSH FEE A9 TP (MFN) & goft
T @ T (B - Srefeewe - gR Yeaw)

(b)
©

(d)

F 8 TS feEw ase AifT 8 3 suR Afq s s
gedf § faesh =R @ € =g B

TR oAl 9T SHUR Td 3R Eed,
I TSR

76.

The earnings of India from diamond export is

quite high. Which one of the following factors
has contributed to it?

W & fala ¥ IR & ww ATUw AT g

A & zEd Profafes § ¥ few wRE W

RICER Y

(a) Pre independence stockpiling of diamonds in
the country which are now exported.

e ¥ @ qw § R o fowma dew
37 It e S @1 2

78.  Consider the charts given below:

frer feu gu =met W e i

TEMAALY AT o T

9 Q@'MI

NMEmAANggARAAR

———

A FTR A

wmwrawqqa;ﬁxa:wﬁ
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L)

&t B

AEWMATL I ARSI TR

ot ¢

SewanggaRaAfe
’ =it b

TEmaTggAfTATR

The given charts depict the price variation in a
stock market during a year. Movement of
industry wise average price is plotted for the
sectors of iron and steel and petro products.
Price movements of four companies A and B
(iron and steel), C and D (petro products) are
also plotted. From the curves, a significant
feature that can be deducted is:

FUT % e Wik AR § a8 WX gU ged qiedHi
@ guia € oer iR gEr qer USr Sae &
gl o SENER 3fa e @ wenwr fatm
femam = €1 =W Ut A, B (@R AR 3EmE)
qAT C, D (U2 3AUTE) & T wenur ot b
forem mar 1 9w YRt W oW fafte oamr
AT TR ST Wehell €, TEE -

(a) Compa % C made large profit around June.
S & TH-IH A1 AT HAE
(b) All share prices will increase steadily in the
next year.
3Tet Y H 9 YeR-ed ged ¥ aen
(¢) Company B seems to be performing better than
the market average.

F B AR T sifes TRt HM
feadt &
(d) Petro products are performing better than iron
and steel.
Tl 3 T A qer § USl Ie e
TR B
3T —(¢)

NI § T 70 98 § Bk 998 § U a5 § &
A, B, % Wlg-gWW a1 & CD, % U AT & Tod
TRadA $1 9% W@t & e ¥ 9% e orwig fRar S
ol & & e S & H B 31 ¥ 3RS 3T 1
W 3, FF B F F Jod ToT A 9% @1 3 HhE
AC T D ST 3TN g T ¥ R @ 2

79.

Which one of the following types of borrowings
from the IMF has the softest servicing conditions?
) & HUEH *
T | fergent AT ITd STfIhan T £7
(a) Second tranche loan/f§T& 2= (TRANCHE) F0T
(b) SAF
(c) ESAF
(d) Oil Fac1hty/ﬁﬁ gferer
3T —(¢)

T FTE 5N (IMF) 3 T $2ge THe
& faofargar 27 fewmr 1945 it g5 0t fobeg 38 arafa®
w7 H 1 WM, 1947 ¥ P FE1 I fFaA1 SiigE
TETSN H T 32T I U h A IFEqed d
feufy ot e w qan faf 2 F fera a9 w@d gu
WWWWWW%WW

FH 3] ESAF (3¢ TFRA TSR
W)aﬁﬁmﬁw@w%
(BT — AT refeawe - T Geaid)

wirferen g

80. Which one of the diagrams given below
represent most closely the path of geostationary
satellite in space?

QU U oM@ § ¥ ®E-91 3mw i §
TEAHITeR SUUE o UY ohT Afeehan w&l freuor
Y 77

ST—(d)

ST -(eaHIcrd SR i Tt gt & afes 7fd &
T Bl 1 T FROT ST T W W R A

: M qeddfas 3udel &l fd off gedt &
W%ﬁ%waﬂww&wﬁ%ﬁlm
d)ﬁwwmﬁm
ﬁﬂ'@rtﬁwﬁﬁ%ﬁﬁw%lw%ﬁs
gﬁqmaﬁgﬁsﬂﬁwwooo for. o, =
ﬁwﬁﬁﬁmw%

- fa T - N.C.E.R.T.)

Consider the figures of a metal ball and a metal

ring given below: .
J e 3R a1y aea & fosl W

81.

The metal ball can just pass through the hole of a
metal ring formed out of a strip. When the ball is
heated it gets stuck. But when the metal ring is
heated.
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Tt | & aTgaed o (9% § | Arg-Tere e

W Gehel B TS etk ot TWH &L A7 98 HEh

AT ¥l U Al g e Sl T Y ar —

(a) The ball can still pass through it because the
ring diameter expands on heating.
Motk e T i a9 § JHR F HROT
gt ol A d¢ S

(b) The ball gets stuck because the diameter of the
hole decreases on e;%aa;smn.

TR & SR R H

qu 2rA aTqrrr

(c¢) The ball will still pass through because the
hole diameter does not change.

Maw fwa Tm F=ife Bz &1 =9 akafdd
T am

(d) The ball will pass through because there is no
change in the ring.

GHT i gerd § g qRedd e

84. The formation of brilliant colours in soap film

is a consequence of the phenomenon of:
TEA % TAel AN H THEHEN TN ol ST R
TfereT s uikun &2
(a) Multiple reflection and interference
(b) Multiple refraction and dispersion
EIRENT]

(c) Diffraction and dispersion
FR

(d) Polarization and interference

YA 3TN ARSI
3T —(a)
W—W%qﬁéwﬁaﬂw Emﬁ@rs‘m
W%agaqrraﬁqwm% T &

Tl § G TERT 6 oA § TERT & azrﬁwméaw

o YR T i # e qgq o 21
I —(a) (¥ - @™ - N.CERT)
S — R o TR B W e e @ A a9 | | T TS
T IYHN JOR 9 T &1 39 FbR WE g F o1g qod & ] L .
T T W 3G 9 &9 % ge-g Sad =g § o | | 85 Which one of the ff)llowm_g is used for dating
Iz 3 S\ w o N W W NS A TE all;z:i?SOIOglcal specimens in wood, bones and
(& - f& = - N.C.E.R.T.) ;:,Tg’ : 3R v % W TgE @ we
82. The working of the quartz crystal in the watch frerfror = & fau faefataa T ¥ &
is based on the: STUTET ST &2
T Thicen foteet o1 wid foRE OT 2mmeniia &2 (a) Uranium 238/Zf=8-238
(a) Photoelectric Effect/TehreT e q41e (b) Argon isotope/3TiH-3TEHRT

(b) Johnson Effect/S=a- I9@

(c) Piezoelectric Effect/as fegd swra
(d) Edison Effect/Tfeqs g9

ST —(¢)

el § THeE fhed & w1 @ fogd aqe w
R 8, $° gardl § it @@ & eron faeg soe
A e Bt 8, F & fereg S sher S 2
(& - fo@= - N.C.E.R.T.)

83. At what temperature are the readings of a
Centigrade and Fahrenheit thermometer the

(c) Carbon 14/&&4-14

(d) Strontium 90/ 1fRTE9-90

ST —(0)
G, AW, WG O ¥ [Udlas Saredl &
Fa fgfeor a1 yefAa @ ouwm @e gq WA ufeea
Qe re-14 (C-14) &1 AN f6ar ST 81 gedft qen
A TS S HGA A 3G JEH 238 (U-238)
feafaea guenfes &1 q9r Hiaee -60 (Co-60) F ST
F F ITER H o S 2
(& - &= - N.C.E.R.T.)

same? 86. Acid precipitation is now regarded as a serious
fehen AEE B W BERIED afete 3R problem in some European and Asian
TRARIZE auwIEt W T & @'ﬁo countries. Its major cause or source is: _
(a) —40 (b) 212 (c) 40 (d) 100 3N el & T T -
ST —(a) STAYUTT Rt forehe THEAT THT ST ¢ $HeRT T
HTEAT— — 40°C A R Yfeqad 7o BRI qrqaai T AT BN B—
% UgHi% UH 9O Bd g1 dfcweg dum # fae faed (a) Discharge of acidic effluents onto neutral or
fog = ¥ 3= aq fog 100 T& & FUEl & 100 slightly alkaline land where the acidic
TR A A Ao AT T G §, AR BRAEEe components PreClpltate a3
ﬁuﬁﬁﬁwﬁwﬁg%z%wmﬁmﬁgzlz‘) S SR i
AR 3 g b I P 180 TR WM H s ﬂiaaﬂam.éaaafqeﬂﬁmﬁﬁmﬁ
g T e S @1 dfcgaw § & T oamEe @ Seefter afe e 1 ferersi
FRAEES § sged % fou fefafad THE 1 =@ fEa (b) Emissions of sulphur oxides and nitrogen
5 oxides from thermal power plants and burning
ST @ — Hfewaw (C) = BRTRIEE (F) - 32 x 5 of fossil fuels; these oxides dissolve in
atmospheric water vapour and fall back on
(§q - for= - N.CERT) earth as acid rain.
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st Wit WAl qgn Sharen fe9 & Saed 9
ol T 3ffIgel SN RN SffeHEel &
IS, ¥ SRS agHedd S ag § e
g S ¥ SR ol % w9 A amg 9t W
E I F

Natural carbon dioxide released during
respiration of living organisms dissolves in
water, forming carbonic acid which is the
chief contributor to acidity in rain water.

[ % vagd ¥ f@el Tl BEA-SE-
RS 9@ § O S FEWE IR S
R 3R o FisTer § v B gE ANEE S 2
(d) Chlorofluorocarbons readily react with

various chemicals near the earth’s surface,
producing acidic intermediates which cause

acid precipitation.
a&hﬁwﬁgw qge % ke fafay @Al &
Y Heoar § iR Nk ol weAsl &t
I B & Sl 3T ST B B |

ST —(b)

(©)

(a) Phosphorus/®ehid
(b) Germanium/SHfTaw
(c¢) Silicon/fafeea

(d) Tungsten/eT&A
ST —(¢)

ST FHR g G & F3id 1 59 SHRoT Sfaefem
o T § i SuY e Al Rfere Ame d &
g il & fmior & far s @1 R, switEm
e iqe et ufee Bt € a9 o dw ¥ R
qFE e & I e o e

(B - fa== - N.C.E.R.T.)

e, A1 e e < aur $ v gw
T 37RT STFRUT 7T STA A (Acid Rain) H1 IHIE TH
forhe T St ST W 81 T A & W R A1 A
3T wifa wet dor Sftared Eue (e, e, ue)
e &% o § el arell Towt S MRS (So,) a9l
IS FAES] B IS 81 HeH qT G %
HFIES AAUSA i STRAT § AT b A & e &
Qo Yoiehl 3T a1 b 9 § Yedl W T W &1 37
AT &1 &1 (B - fI|E - N.C.ER.T.)

87. Which one of the following colloidal systems is

represented by fog?

‘et H W W & | R o
arfirearh grar €7

(a) Liquid in gas/ﬁq ¥5a

(b) Gas in liquid/sa & 79

(¢) Solid in gas/ﬁ’&f icic|

(d) Liquid in liquid/5a ® 58

3™ —(a)

89.

e T 3T S el W eI it foes
T & &I (A) R el = &rw (R) @
T % :
Assertions (A): A mixture of salt and ice gives
temperature below 0°C.
HAT (A) : T I g6 F 0T F 0°Cc F = Hw
A ST B
Reason (R): The salt raises the freezing point of ice.
TEUT (R) : T % & G feg H a¢r & &
In the context of the above two statements,
which one of the following is correct?
FJU F Al HYAT & Hed # fEfefad § 9 i
T\ §?
(a) Both A and R are true and R is the correct
explanation of A.
A 3R R I & E T A W = R A R
(b) Both A and R are true but R is NOT the
correct explanation of A.A AR T WA
P & R R TE B R
(c) A istrue but R is false/A W& 2 WR T @
(d) A is false but R is true/A Teid @ W R T& 8
3™ —(¢)

HTEAT— FE | ey F HoAd o 9 foeget & w9 7
2 8, S SNIAC 1 G Bl I Al B I et
% s O a1 H1 A9 i b 9gF S @ e
g1 3UEl B Sl 8, d9 I9H UM o & HeAd
ATEAT qA-FUI TR F AR W & S 2 A
Hefre Sfet B e gt B % R gl H & el @l &
3N g % o AR g et €

(& - fa9= - N.CER.T.)

e (Hf$a™ — NaCl FANES d7 5% (I 1
2 ®9) & A = W 9 = foft 9=t & A @
AOHM ST & S 21 T8 B (A) FE @ G FNOT (R)
T T F S g F g @ 8 T &1 e T
F e § S H FEEAE el B B a8

88. The Government of India has totally banned
the export of ‘Burnt Coal’ (Jhama), because it
contains recoverable amount of a metal/element
used in transistors. Which one is the element?
O R J ‘g’ & faia wogut giaser @
feam ¢ it SOH @ WEt eng/uEr @ fee
Hehd ¢ fwewr suam gifedl § 2ar §1 a%
frrafafaa & @ ®=-a1 9 €2

90.

Vinegar is an aqueous solution of:
faent ferment wiefter farerem €2

(a) oxalic acid/3TadH Tt

(b) citric acid/Hd =T 3T

(c) acetic acid/THIfesH 3t

(d) hydrochloric acid/gEgiaaiis 37
ST —(¢)

- THAES &9 § i U6 J6R &1 THiies v
2 21 7@ (R wdifes wffe (CH, COOH) & e
fqeram 2iar 81 foawe wdifes 37T % ®9 § @H & &M §
T 21

(&l - fa9 - N.C.E.R.T.)

IAS (Pre) G.S. 1993

22

YCT



e ffeRean foa= (9 fasm)

91. The theory of ‘jumping genes’ was propounded
by :
%am:r@ﬁ:r (St ) o fagra w1 gfaures
feree feam em?
(a) Gregor Johann Mendel/37R g Heat
(b) Thomas Hunt Morgan/219d g #i
(c) Barbara McClintock/aRar Afgeicis
(d) Watson and Crick/aie@ iR fe

I —(¢)

-4 DNA. 3] S WHEAFORE & § 3R
A 21T Sam] DNA & fafts €@l W e 7807 &
gHd § ST N A wemE S stgEr g
Fead &1 WM S % fygid w1 s aew
AfFeiei® 7 o § O @ F <A e 911 e S
F T IV T BRI W A T A AFAIRREEH &

Al 1 3 F TeheT 81 (Fe - fR - N.C.ER.T.)
92. Camel uses its hump for:
HE I FHEE ‘Wé%w e o & foTT aear 7

(a) Storlng water/S % g & fow

(b) Storing fat/ad1 &% WIE & foT

(c) Balancing the body during walking in desert
sand/mEYfH # AT § Tod GET IR/ H e
T W & fow

(d) Temperature re%r;latlon
g %

3T —(b)

AT UTEE H1 Sl Hel S el Ram e
FC YT FeIg B STAN GH F GHE H QBT Bl
Fog § Wi 3@ @ § e @ A H ot amm %
N el a% dieH (I eNfe) 7 fe W, S aw
BN @A 3 FAA © 5 I 9 TR § FE A % fAu
ot o G A 81 g9 JHR 3 TH TEN S 2
S AR gE wd o ST O & R0 &S Al dd
TS AIST-o & @ HehaT 21

(& - &= - N.C.E.R.T.

93. Ponson %lands of snakes are homologous to:

(a) Electrrc organs of ﬁshes
& fomga of
(b) Stings of rays
(c) Sebaceous glands of mammals
= & -t
(d) Salivary glands of vertebrates
FHIEH! I Ar-zfEt

I —(d)

- Ul # fawifet wvedt witwEr & ar dfEt
(Salivary Glands) % TATT @it &1 9fq &1 fqw arda &
F98 AR @ & 9ftspd &9 2

94.  Which one of the following seeds can benefit a
patient of diabetes mellitus by normalizing his

blood sugar level?

frafefiaa ® @ forae ofier weme & W = =

ITEAT T TR | ST W@ § e Ugee 87

(a) Coriander seeds/8fa & i<t

(b) Mustard seeds/T%&1 & e

(¢) Cumin seeds/S & it

(d) Fenugreek seeds/Adt & et

3T —(d)
HE—AYHE a1 AN THE U7 77 & IR H
Tfe WS FRAF % STeqEEv ¥ YR # whT &
ST 7 2 T F A S % RO S 21 WA
W P 9 TR H o YT S AT B IR TR W

AT W & o Aeft & oS 99 e F W TE ool FH
TN A9ETEE B 8 | (W - T - N.C.E.R.T.)

95.

Hemophilia is a hereditary disease carried by :

AR Tah STIafoTeR T § e o1 o -
(a) Females and expressed by females

gt et & 3R wee o & & @ 2

(b) Females and expressed by males
foat et & 3R ST webe gest # & @
(c) Males and ex ressed by females
T F S e Rl § e
(d) Males and expressed by males
&Y U § I b qE # g 2
3T —(b)
RSB a1 Juiel (Colour blindness) &t
fom weere eraifve I § 9 g gew yeifem
A § T 37 I A S Al &) dwriferar I @
7 AT H G HGFH TG AT s FROT IR %
Rt 37T & Hed W WA N TN I T A W Wy
STAR T @9 W W FF g & Sl F1 oS F oA @
f gmmforan T fafewr wemet faseifar & o gam
(& - &= - N.C.E.R.T.)

96.

If a mouse of over eight times its normal size

has been produced by introducing human
growth hormone gene, the technique involved is
called:

Tfg wHEgl TR S 1 JEnT s T TRt

Yar foRan T S <8 & WIS 3R | 308 I[AT

ST A Al TH deheteh Tl e -

(a) Hybridisation/He0T

(b) Genetic engineering/3aiTeh g

(¢) Mutation Breeding/3wfad= Jei-

(d) Hormonal feeding/‘s’r@ﬁﬁ o7

I —(b)
- 9 gfg g S F A B GH 3R
¥ e T Tl @ T FH H A F A
SR @1 S| 6 FHR A FSi-areT ga =
HAA ST b WEY H HINET Fh Sl b RN, 3B,
07 T & T ST WA 8, dfeth quid: TEE HR F et
&1 < famfor feham ST gehar 21
(& - fa= - N.C.E.R.T.)
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97. Match List I with List IT and select the correct
answer using the codes given below the lists: _
et 1 i/ gt 11 &
= fo L W = ST R Y & S
I R

List I List IT
(Charactristics) (Animal)
Wr 1 (<7gTu) el 11 (o)

A. Wingless insect 1. Kiwi
TEEH He FHrar
B. Flightless bird 2. Silver fish
I3 Wed vl T HiAT
C. Limbless reptile 3. Turtle
e gy El
D. Limbless animal 4. Snake
T
5. Fish/q&x
<
(a) A-1,B-3,C-2,D-5 (b) A-2, B-1,C-4, D-5
(c) A-2,B-1,C-3,D-4 (d) A-3,B-1,C-4,D-2
ST —(b)

(c) It stimulates certain nerves which direct the brain
to increase the production of antihistaminic

chemicals.
WY F9 doed 3@ e § W Afers &
qﬁ%@ﬁﬁmwmwﬁwﬁ%ﬁéﬁr%

(d) It suppresses the production of enzymes

Wthh cause itchin,
w%aﬁ@mhmw@?ﬂ?
W—(C)
T - GodH § @ fiedt § 76 599 3w dfend
3@ (Stimulate) 811 2, S f6 Aferss # sz
TEEET 1 IEA S &l e 2 2|

100. The blood pressure values of four persons are
iven below:
TR AR o Tk 19 T 01 feam &
1. Mrs. X : 90/60 / sfireft X : 90/60
2. Mr. X : 160/120 / sft X : 160/120
3. Mr. Y : 120/80 / 5t Y : 120/80
4. Mrs. Y : 140/100 / fmreft Y : 140/100
Who among the following has normal blood

T AT Se ed w81 wd e (R fRa) whge ¢,
e &= ff 78 21 Ao evafd weel FUEE (WWE) |
fod Sosia §1 Bhel & ©F W weiE § fia 2 §
fSo% g0 o 5 § geft gF omeRfiee I voud & ®9
T F 21 (B - fIR - N.C.E.R.T.)

ressure?
Er:ri%-ﬁ@?rﬁ | ferteRT T T@ | §7

(a) e X (b) &1 X
(c) AR Y R RY%
I —(d)

E—7ed & Ggtad e (faweifas) @ fufaa 8=
(SEEIfAH) & A O § T4 ol ea1d &I & W& aard

98. Three communicable diseases prevalent in
developing countries caused by unsafe drinking
water and bad sanitation are:

I T W iR wWemdr #t wHT F @R
Tarerrasfier 2ont o gefera i domrdt T &=
(a) acutediarrhoea, cancer and gout

Ha-vanfesr, L R MR

Malaria, acute diarrhea and schistosomiasis

(b)

’

onchocerciasis, leukaemia and arthritis

(c)
Rheumatism, malaria and AIDS
3THE, 3R U=y

I —(b)

(d)

(Blood Pressure) Fgd &1 Uh Ga%h oAfed ol GENT T
T 120/80 mm.Hg. T T THH FH QT F1 Tl H
TEULYT a1 ‘A =g Y9 g7 39Y A e
TEFEYT A EEASIE Fed §1 YT H f&¥ MU un
el & Waa § ¥ ey (d) ® & wn ot v wh
a6 120/80 WHFT B, W sl AW x (90/60), o x
(160/120) T4 =T Y (140/100) T TS THNT ¥ A
T g § e g1 (| - B - N.C.E.R.T.)

Y, T9UTeA T S

101.

A fertile soil, suitable for growing common
crops, is likely to have a pH value of:

WHT ®EA ST & g 36t gft @ PH 9=
Teha=T 19 St HTerT %72

3 YIS 71 HEE A FHH F HRUT e
It % Wi B EE A A S SR I §- AR, &
yafgs iR faemem e, sifar, dfmar e
= I ff RBEE 9@ ¥ e ael dmRat ¥ FW
FHiferprett it et gf ¥, Tew dF-ge, e @
T g F WA § herr 21 (B - fO9 - N.C.E.R.T.)

(a) Three/dH (b) Four/aR

(c) Six to seven/®: ¥ ¥ (d) Nine to ten/ ¥ &F

ST —(¢)
HRET—ga SR 39 T a1 amdd v W i
A @ o gar & ergien Se & qE i Bt | 39
‘s gar agn o fedt § uefmm (k) qor wfsem

99. Scratching eases itching because:

(Na)wﬁmmﬁwm@?ﬁéﬁ‘aﬁaw’
Fed &1 ga1 it Hfulear pH # Anft S 71 st gar @

G & e et § it PH M 7.0 & &7 741 & §& & PH 7 7.0 ¥ Sl
(a) It removes the outer dust in the skin. T 81 St 3T TaT & PH HH 7 @I HE LI
T = F ARl ¥d g S ¢ BOel ST e diel 1 gfg & forw 3 fad & pH AW
(b) It kills the germs. 60@70%]:[@@:”?@'%{ % ¥ pH wE # d1d
R AT W R § O T fRard & g
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102. Sucrose content in sugarcane decreases:
TR W 38T YT S HIAT U et &, Al -

(a) If high rainfall occurs during the period of
growth of the plant.
qe S5 S Ay § sifs ant @ e
(b) If frost occurs during the period of ripening.
F Fafy | e R Sy
(¢) If there is fluctuation in temperature during
the period of growth of the plant.
dter s & ety # arEe § wH-gfy @ S
(d) If there is high temperature during the time of
ripening.
TS I eEfy § A a9ga S @
3T - (a)

SRE—TE] 9N S TIE THE He &1 TH W A
I [l g AT & qvEd FY Seid 9Rd @
U G ST 3AN &1 T P BEA & g amwEe 21°
27° WO q91 I8 S AWET 75 © 100 WA, B =T
RYe T o T H T AR 10 § 15 T g 2
W WY % g & A & I AR S aut & S A
T YE AR 8 S g

103. Sugarcane, sugarbeet, sweetpea,
pigeonpea and French bean belong to:

TN, Pehet, wWie fF, T, W AR "W
feraren ofatar arma €7

(a) Two plant families/f§9eq FHel

(b) Three plant families/BramEy Het

(c) Four plant families/<Iq™RY Het

(d) Five plant families/S=91eq et

ST —(b)

chickpea,

AT T, Thal, W df, T, sWe IR wIEEH
ey Fa F FFiT o &1 T W6 g § I e
R 21 =, 3RS F UGS qorel B &

faam drenfient

104. Biofilms are:

St fohed = et €2

(a) colour films used by biologists to photograph
living organisms.
Staeial & Wil oq & fau Shafamfe gw
W G fed

(b) photomicrographs of microorganisms from
various habitats.
fafay frarg et & gew Sfal % gew avifa fo

(c) accumulations of microorganisms at surfaces
such as those of a rock, a tooth or an oil
droplet.
Jiel, & 1 do1 g o F U8 W ERE Ged S

(d) photographic films made through
fermentation processes of certain industrial
microorganisms.
FS STEfh Ged St & fpvad wHHl T o
T wiet fheH

I —(¢)

g e (Bio-film) ¥, &d a1 da farga amfE
% U8 9 W G gew S g £
(& - &= - N.C.E.R.T.)

105. Which one of the following approaches comes

under the ca;eg)ry of biotechnology ?
frafafaa o owE SE-wrEent &
groft o 3mrar g2

(a) Use of living organisms or substances
obtained from them in industrial processes.
THAI § Sl st 399 W uanet
F ITT
(b) Modernizing the commercial industrial to
produce products for use in biological research.
T WIH B At g & Scaed
FH & fau s sami & WA @

FYfrhteRT

(c) Use of modern technology to investigate
biological disorders
Sfas fpfaal &1 Ea" 1 & fau smyfs
STenfsl 1 3T

(d) Use of industrial technology to increase the

biosphere
Sig ded @ 9 F fu oienfie dEnfe @
T

ST —(a)
E— grqul SiEl (e g9ew Sffe) a1 Sfel g 3ad
werl A1 Se gihAett & A T OW ST & Se-
SHeifieh Hed &1 SERUREEY - Hel I & [T I
HITTHISA T ST Sia el % SAawid 7 2|

106 Which one of the following does provide the
best estimate of world’s biological diversity?

fova & Sifew Ea) U
Freferfaa § & fered firerar 82

(a) Of about ten million species probably alive
today, some 20 species are lost everyday,
most of them unknown because no more than
half a million have yet been actually
identified by scientists.

AS S A T FAS WA GWEd: St
g, ST @ FE 20 St sffE o & o €
3R 3T § Ay @ o off Bt € i o
T I A ¥ I 5 o B & dwie
T 7T & 2

Of about thirty million living species, some
50 are lost everyday, actually identified.

S e A FAg S Sifad § ST g
50 wfafed o & S § R 3 ¥ sty ar
I o Bt § e e o a% I
3P 29 g # & TEEH g 2

Of about forty five million living species,
some 100 are lost every day, most of them
unknown because no more than 1.5 million
have been actually identified.

(b)

©
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S AT H3 9R HUS SifqE Sifed €, 39 9
FE 100 WA q@ @ S § R I
e A ST & A § i o T
§ fireh UsE oG 1 & IEEH g 8

(d) Of about seventy five million living species,
some 500 are lost every day, most of them
unknown because no more than 3 million
have been actually identified.
500 wfifed gw @ S ¥ SR I 9
feEie A T & B § Ffh o T A
g st 30 @ A & TR ¢ 2

STE(e)

T THfis Tow F U G e Se-sge ud
T #F wenfaat 1 Sgomr &1 SEfEfEEEr (Bio
Diversity)a%ﬁ%.l @Wﬁﬁaﬁﬁwaﬁ%ﬁw
Sfed agr faum g1 99R § o 9 9R &Ue Sifad
et areft S €, fE @ F8a 100 wffeT @ @ S
2 A I BT oW B &1 oW 9% o 15
g et B TR ST g g1 S e % dF
T U S - () A fafaem, () senfa fafeem,
(3) mifefae fafaem

107. Which of the following strongly threatens
biodiversity?
= FATE T w32
(a) Fragile ecosystems such as mangroves and
wetlands.
ﬁgl'{cl i@ﬁaﬁ?ﬁ, zrm:ﬁiﬁaaﬁtaaﬁw
(b) Inaccessible habitats in Himalayas.
fewrera &t goim frame wft
(c) Destruction of natural habitats and vegetation

and shifting cultivation./Tr&fres e gfiei
3R et 1 fETer i 3™ o

(d) Creation of biosphere reserves.
REREC] EiRCC]

I —(¢)

EEA—AFE a9 JAe 4 & A & foaw J9-
fafaem & TR @A o smEves g1 e SE-
fafgemr &1 enor uH Wpfas ukar @ A 39 ey &
YH T GRS AT g1 g adae # 9 fafaea %
G F G HEEE gEET & FRoT g1 Ry Sfd %
TIFHH STarEl &1 farT WPl aaedfoal &1 foAwer qen
ST g1 i S W ¥HERa a1 A Y 71 5 S
F 39y RIER Sig-ffaer $1 57y & el amdE B
g fafaemr @1 sl @ e §)

108. Four persons Alok, Bhupesh, Chandu and
Dinesh have a total of Rs. 100/among
themselves. Alok and Bhupesh between them

have as much money as Chandu and Dinesh
between them but Alok has more money than

TR SAfHAT - HTEreh, U9, o R feawr & awe
T 100 FUF T AT 3T U F U FrerreT
ot & widn ¥ faeht wg oiw femer & U
ToreTaRt| foReg oTTetien o UTE U9 | 37fres T
¥ 3T =g & um fAwr ¥ Faw smeft i ¥

AR & U FEga: e ¥ 5 6 e R
TS foh o Ut 3rfereRem i &7
(a) Alok/3Telis (b) Bhupesh/sast
(¢) Chandw/=g (d) Dinesh/f&a3
I —(a)
AT : AT ST, U, = 3R e & wAen: A,
B,C,D %94 §|
TSGR — A+B+C+D=100........... ()
A+B=C+D
91 A>B, C:%, A=D+5
Tt (1) ¥ -
A+B+C+D=100
1 C+D+C+D=100(-A+B=C+D)
Rl 2C+2D =100
D D
Rl 2x — +2D=100 (- C=—)
2 2
100
Rl 3D = 100, D=—
3
100 50 100 115
=—=— A=— 45 =—
6 3 3 3
A+B+C+D =100
115 50 100
an — +B+—+— =100
3 303
265
Rl = +B =100
3
35
Rl B= —
3
- T 2 ged e ufir A sreq sdlie % T 2

109. Given below is the performance of two

learners A and B:

Torenférnt A 3i B @ fware femm gam &1

$ 11345678
=

Which one of the foilowing can be deduced

Bhupesh, and Chandu has only half the money from the graph?
that Dinesh has Alok has in fact Rs. 5/more e § Frefafaa § ¥ sm-a fwd e s
than Dinesh. Who has the most money? ‘HHRIT%?
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(a) The learning task was difficult

g &1 HFed HSAT o

B learned faster than A

g &1 Ghed W o

B learned faster than A throughout the task
T | ST B & 9Rad & fa A F ga
7 afeep off

A learned faster than B throughout the task
e § ST A e F I B # g
H Ffee of

3T —(¢)

(b)
©

(d)

AT @~ 394 T § WE ¢ [ HHcd # A= B H
drae & T A i qa § s o

110. Consider the Vena diagram given below:

e fau gu o= 3T W e #iftg

The numbers In the Venn diagram are persons
reading the newspapers indicated. The diagram is
drawn after surveying 50 persons. In a population
of 10,000, how many can be expected to read at least
two newspapers?

3 oM@ # § W e o Afed # § S A
TIER 99 Ted 21 50 @ 1 GawU & & a8 T8
HG A T 21 10,000 F SEET # R o

T & S B9 T P9 & THER T Ted 22
Choose the correct answer from the codes given
below:
e 3T A wE i fou gu wet ¥ wite?
(a) 5000 (b) 6250
(c) 6000 (d) 5400
I —(d)

SHTET— 50 & S9en § %9 9 &7 & GHEN 9 964
e S G
= 12+42+8+5=27

5L 50 3 SEEA § 27 oAtk 9 U %9 & SFEaR Ued &

o1 # SHEeT § ﬂwﬁﬁaﬁqﬁm‘cﬁa@aﬂq@ﬁ%l
50

Y
10,000 & SIS § — x 10,000

50
=E F0 T F7 & IR Tgd ¢ |
= 5400
111. In an examination every candidates took either
physics or Mathematics or both. 65.8% of the
candidates took physics and those who took
Mathematics were 59.2% . The total candidates
were 2000. How many candidates took both
mathematics and physics?

e wderm o weft dtenfSen = = ar et fooer
foram = wiftra o S0 Hifaat A 9t 65.8%
ST T A AT 59.2%1 Her wemeff 2000 9

feremr @M = TfvTe 2fi siiferant St form

(a) 750 (b) 700

(c) 550 (d) 500

I —(d)
ST - el 2000 GIA(GA § F ofifersst o aredt &

2000 x 65.8
= = 1316
100
T A STl S G 2000x39.2 1184
100

. TIOTE SR ifent o ATt S G = 1316+1184=2500
T g 9 ATt S E=E = 2500 - 2000 = 500

112. A point to selected at random inside a rectangle

and perpendiculars are drawn on each side
from the point. The sum of these perpendicular
is 24 cm. If the length of rectangle is 3 times the
width, then what will be the perimeter of the
rectangle?
T 3 § el oft wek foreg o feram wme siv 5@
forg & oo &t T YT W @E ST W ar
3T @l T AN 24 WL B ¥ Al SwEA A
S STt WIS Wt AT A & @
TR ST ET?

(a) 36 cm (b) 42 cm
(c) 24 cm (d) 48 cm
I —(d)

ST - ABCD 3Fd &l =IeTE = x
S UUEHER dRE=3x A B
oo g o 9 e & wed
qs WA T TR H F
: aﬁﬁwzﬁﬂ:x-‘-3x
—24 &y, € D
4x =24 9.
x=6 94
3 I N AISE = x= 6 T,
AEE = 3x = 18 T
I 1 IRAT = 2 (TEE + TeTE)
=2 (18+6) 9. = 48 .

113. If the product of two numbers is 320 and their

ratio is 1 : 5, what is the difference between the
squares of these two numbers ?

afe & el & UHEEE 320 § AR S
STIUTE 1:5 ¥, T A1 WEstt o ot ot W
grm?

(a) 1024 (b) 1356
(c) 1536 (d) 1635
I —(c)
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115. A rectangular sheet of aluminum foil measuring 5
cm by 10 cm is rolled into a cylinder of height 10

T x X =320 e ® cm. If the cost of painting the cylinder is Rs. 2/per
- x 1 sq cm, then the cost of painting the surface of the
I g cylinder will be:
5y @ UeTHiTom Usft &t Uk I wmey weht
X T 1 m .a_;ﬁ_ m
mﬁw 3 ?ﬂm:rr@ﬁlﬂ msﬁtﬁloﬁvﬁ%mﬁ 10
() " (i) PR w1 Ues fafaret smmEn mem o fafest @t e
2=64 w0 H N 2 % gfa ot ot oA fafeer &
x =8 ATET UY &l U A sl 0T ZRIT -
=40 (a) T 400 (b) 2200
?ﬁ'—ﬁ H@Taﬁ éa It & 3TN (c) 150 (d) 100
3 —x*=(40)* — (8)? = 1600 — 64 = 1536 ST —(d)
114. Four equal circles are described at the four || =mET—
corners of a square so that each touches two of Feford o R T fgelew & A€ 10 I B
the others as shown in the figure: Tt aRfy 5 . A
The area enclosed by the circumferences of the faeivet & aTe g & &A% = Ry x R
circles (shaded area in the figure) is 13(5/7) sq. cm. =5 % 10 97 ot
Find the radius of the circles. (Assume = p = 22/7) 2 T & A 2 5. 9 9t o @
T O o TR hIFT i ek W TR SWTER 50 o .z O B A A
I TN o9 T & o6 wedies 3t & &t vt S0 x 2—100 %
S fon for ® femgmen e 31 9= o uikfee 9 :
) 8 Eﬁﬁ 5 116. In a single throw of a pair of dice, what is the
R e (o o sifaa &) &1 &swhet 13- o g%pablllty 0 31§ettmg a s%% 0;_?; .
. Tl et 8
. 1 gt w B Fm St (@E S aﬁaﬁvmmﬁ@'rm
T n=22/7)
8 1 4 5
(@ — ® — ©—= @ —
12 36 36 36
3T —(d)
- T & SIS & TS R e I+ W/ gfaef fomgatt
& Y& 6 x n =36 B
(@) 4 cm (b) 2.5 cm ITH FA AN S A B GRS
(c) 7.5 cm (d) 6 cm =(2,6)(6,2) 3,5)(5.3) (4.4) =5
I — 5
@ iy EE p=S-= —
AT 4T g &t B - e no36
. 135 117. A lottery system has ticket numbers with eight
BIIfHRT AT H GG = — ot . digits. There are ten first prizes of Rs. 1.00 lakh
J each, one hundred second prizes of Rs. 10,000
fe2 = o % ST BTN HIT AT &Ah = each and one thousand third prizes of Rs. 1,000
T & STHA — each.
11 T SRS - r B F I & ATH At the draw of lots, an eight digit number is
generated by choosing for each digit from left to
A(x BN % 79 1 &) right a random number in the range of 0 to 9.
4 Any one who has a ticket with the first two
42— i? digits (from left to right) matching, the chosen
5 number gets a first prize, and so on.
37q: 13> =42 _gp One individual purchases a large number of
7 tickets at a discounted price of Re. 0.75 each.
» For how much money should he purchase
- I P tickets to achieve a 10% chance of winning a
7 7 third prize? e . )
g2 ¢ TE el § MG sl @ wE A fewe €
7r2( = j:r27 TH-TF @ & 10 JIH JEER @ ™ £, 94-
TW TR & 100 5T TR, THh-T& &R &
N P =26, 7 16 1000 Tt TRhRR, T fehTera wHer s et
B ﬁﬁ? 6 aﬁ@mﬁmﬁaﬁ%aﬁ?mmoﬁ9
a roo=4 R F dra & wE oft 3t U A W QR e
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T 81 Foren feehe ot 9 & S waw 3iek (a8
3T | i) 30 e feRelt 8w & ofai o
A WY 1 3% WO QR 3T 36 yehr I
oft firei wes =af¥® 0.75 B0 wfer feshe ot axdft
W W g R feshe Tiiear €1 a8 fha vud &
fere Eifi] fF gatar TR oW & e 10
EIRNCRARS Y

(a) 10,000 (b) T75,000
(c) 100,000 (d) T7,500
I —(d)

0,75 FIC fd foFwe @ o=t W W e @l
et AT B TH FIAR B AT [CHR G A GG
10 e @ & fow 39 =afE # Fa 7500 FIC & Arh
e wler v

118. The average salary of skilled employees in a
firm is Rs. 520 and that of the unskilled
employees is Rs. 420. If the average salary of
both the groups of employees is Rs. 500, then

the percentage of skilled employees in the firm

182

T W § IS wHenial o e aad 520 %
2 3T 3rgmvTer shreniRE T 420 ®. ¥ AfT AT at
&% wueTREl @ 3Ed ddT 500 & ¥ A wH W
T RS T Fhrera 2T -

(a) 50 (b) 20

(c) 80 (d) 70

3T —(c)

- A o W O gRre sHeiial e o qo

SHYe FHARAT 1 G y )

T P FHAMAT FT Hel AT =x x 520 &

qIT STFHIA FHARA Hl HeA A =y x 420%.

memﬁaﬁw%m 500 (x + )
520 x +420y =500 (x +y)

20x =80y
X =4y
39 YHR BH § HYe FHARE! P A = x 100

xX+y

4
- 100=80%
4y +y

119. Consider the following pie charts?
= Q?r ECES (mé) et w an:r 'rﬂﬁlq :

The pie charts given here depict the area under
cultivation of different cash crops, for two years,

TW 3 gerEs (UE) = | 1985 3R 1990 H
ot o fafaer Torg wEe & = a9 @ faba
fepam = €1
frefefiaa & ¥ 9 91 % o 87
(a) In 1985, the area under jute cultivation was less
than that under rice cultivation.
1985 & S 1 FF &7 T9d 5 FF &7 T FH 971
(b) More land was used for growing vegetables in
1990 than in 1985.
1985 @ q&T | 1990 § Tesit 3 & forw stferp
qfft 1 IgANT far T
(¢) In 1990, the areca under rice and wheat
cultivation taken together was less than half
the total cultivation area.

1990 # wEd iR T &F # A FF &7 [
F &7 & Y H HH A7)
(d) The percentage area under Jute cultivation was
less in 1985 than in 1990.
1990 F T H 1985 H Sk FA &F
gfreTd A 91|
ST —(d)
STET—1985 TIT 1990 a1 o fafay Fhdt woel & F
gdl % goave () =Wef § we¥@ fFy T sm@ &
I § WF BT © (% T 1 I ¥ (d) e 2 |
Fifh 1990 & qoT § a¥ 1985 H ST F FH &7 H
fereTd e o, FH | S B FA &7 1985 P o A
1990 ® % & 4T

120. The following graph shows the annual sales of a

company’s products in millions of rupees. Study
the trend and find out which of the following
is/are correct?

™ Uk H fRdt ot o Scardl @t arfies
foem 10 @@ vuat W = i T ¥ g w
g g iR J1a wifvg for 390 wie 9n/a
wét
/87

Y T K

—

1283 8y 8s 86 _ 87 98

1. A deliberate attempt has been made to distort
the figures in one year.
Th oY # el B T g F M 6T T §
2.Some one is interested in misleading the
management.
F1E ARF TeEH! Pl THMT e &
3. The kink in the graph is unexplained.
7 & S e @, 39 geremen @ e @

Choose the correct answer from the codes given

1985 and 1990. Which one of the following below: .
statements is FALSE? frer fau gu el & W&t I 1 wE Hi
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(a) only 1/3aa 1
(c) only 3/Fae 3
3T —(¢)

121. The following table shows the percentage
change in the consumption of electricity by five
towns P, Q, R, S and T from 1989 to 1991.

Per cent change from 1989 to 1990 From 1990

(b) only 2 /e 2
(d) 1 and 3/1 3R 3

to 1991:

Percentage change

Town From 1989 to | From 1990 to
1990 1991

P +8 18

Q 15 +11

R +6 +9

S -7 -5

T +13

6
frefafaa aruft & 1989 | 1991 dek & a6t |
Uier TR, P, Q, R, S 3R v H fasrelt it @ud &

3T fergTa ot feEmen = 8
gferora afed
T 1989 | 1990 H 1990 & 1991 ®
P +8 ~18
Q ~15 +11
R +6 -5
S -7 +9
T +13 -6

What was the percentage by which the total
consumption of electricity by the five cities
changed between 1989 and 1991?

1989 | 1991 i TG ¥ Uiel TWRI it fersrett ot
Tud | S URadd gel, U el @ud | a4
yferore 7

(a) — 4
(b) — 4.45
(c) 4

(d) Data given are insufficient to answer

3T —(d)

ST & ROt & 1989 & 1991 6 & auf & qi=
TR P,Q,R,S W& T # fasiehl & @wud & wel¥| oy mu
iwel ¥ TE BT 8 6 1989 ¥ 1991 F @l F wEr
T # fsrelt @ 1 g @ud ¥ o Wy 7@ 8w e

122. The monthly incomes of Peter and Paul are in
the ratio of 4:3. Their expenses are in the ratio
of 3 : 2. If each saves Rs. 600 at the end of the
month, their monthly incomes respectively are
(in rupees)

UTeT S WIAeR 3T T U 4:3 ¥
ITH T 3:2 % U ¥ T ARG W &F I A
Yok ol el 600 & § W Sl Wifden 31
(FuEt @) gt -
(a) 3200 and 2400/3200 3 2400
(b) 2800 and 2100 /2800 3R 2100
(c) 2400 and 1800/2400 3 1800
(d) 2000 and 1500/2000 3 1500
3T —(¢)

REAT— AT 412X 9 qiel shi [ifdeh 3 A 4x q47 3x
2| TSR WEH # gt W EE #F 600 & P swa
B € F G % o T U 3 2 B

4x—600 3
3x—600 2
77 8x— 1200 =9x— 1800
T —x =—-600ATx =600
et & 3T =4x=4 x 600 =2400 %.

qe, 9 # 3™ =3x=3 x 600 =1800 %.

AR ITvh Tdrerur

123. If ABRA CADABRA is 1,2,9,13,1,4,1,2,9,
1, HOCUS POCUS will be:
IfE ABRA — CADABRAE 1,2,9,1-3,1,4,1,2,9,1
AT HOCUS - POCUS &RT—
(a) 5,6,3,7,80,6,3,7,8
(b) 8,16, 5,21, 19-16, 15, 5, 21, 19
© 8, 16,5,21, 1915, 16, 5, 21, 19
(d) 5,6,3,7,86,5,3,8,7
ST —(a)
SR
ABRA — CADABRA
TS U T = 1291 —> 3141291
R & 3 HH G Faf @ 21
&A1 hHi%h
T TR = HOCUS P OC U S
THH fBe (b), (c) T @ FFifh 3HH 5 AU % WM W 6
T sifd 21 (d) foeheq gafeTT o B fF 30| US &
W W 7,8 A W US & WH W 8,7 81 THY (a) &
T BT

124. In a group of six women there are four dancers,
four vocal musicians, one actress and three
violinists. Girija and Vanaja are among the
violinists while Jalaja and Shailaja do not know
how to play on the violin. Shailaja and Tanuja
are among the dancers.

Jalaja, Vanaja, Shailaja and Tanuja are all
vocal musicians and two of them are also
violinists. If Pooja is an actress who among the
following is both a dancer and a violinists?

B: Tt @t deell § 9 Adfewat, = MR,
Teh APt R ot amafes anfeenmd €1 fifsn
AR ST araferT afaeRtd & dt StersT 3R e
TEfe ST A W Yo iR ags
Feferar 1 Sere, 99w, Yo R agen asf
iyeRTd € 3 39 | & amafer anfeeRtd ot )
Tfe go sl & o frafafaa # @ & Tdat
oft & i arferT anfaer oft?

(a) Jalaja/STerstr (b) Shailaja/gtetst

(c) Tanuja/dgsi (d) Pooja/gsT

I —(¢)
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HTEAT— TRAER - 3: & & quselt §

4 iRt 4 mRERT | SRR 3 arfae afesr €

3 §— Tiefon, ST, AT, ge, FIRe, as

o # fRu U qe & orER fifen qur asr 4 amfeH
e § § & aEfen afesd §1 S, a9, e,
T 39 WR TREET § § & aEfen afeswE ff @
SIS TS oS Ao ase J8 Sl ;. WY 8 f
T A A & U & i € S arfer e
ot 31 3TY Wy & S R B e & 9% o @ S 5 e
AT AT A A 21

125. Which one of the following provides the correct
sequence of occurrence of four towns/cities as
one proceeds from west to east?

@ A Y A e e gy
IR /9Tt B B e e
(a) Rajkot, Baroda, Kharagpur, Bilaspur
(b) Bikaner, Aligarh, Darbhanga, Nowgong
, FTelie, <,

(¢) Indore, Rourkela, Agartala, Jamshedpur

| 3T, T

(d) Nasik, Aurangabad, Berhampur, Nanded

)

’

W—(b)’
STET—9Rd & A & g39 § faw mw wed & feufy
H 2 ¥ Wy A ¢ 5 9nd § ufvem ¥ g R
AR IFT FH W I U § GEvH T ToF H
SHHL TOTEM SA-ISY T5T o T, TRt o o=a
T SR AT 3T HA H 37T TST H AN e e
126. If you are the ninth person in the queue

starting from either end, than the number of
persons in the queue is:

gfe g Ui & 1 ol ¥ 99 T oW € A

Uf+h W et feme @ 82

(a) 10 ®) 15 () 17

3T —(0)
STEET—-TYANIR I 21 et dfFq & 21 s 9 fiee
W A WM W e § 39 WY ? f6 s M @
8-8 =AfF &l ol faskd forsborar @ 6 39 dfF & gt
STl o G 8 + 1+ 8 = 17 &hf|

127. A father is now three times as old as his son.
Five years back, he was four times as old as his
son. The age of the son is:

T e 31a o U | <= AT 3 @ 1 Ui
Td UEe SEet 3 UF ¥ R T et 3@ wwa
T i 3T =T 772

@ 19

(a) 12 (b) 15
(c) 18 (d) 20
I —(b)

e W fora e st adae o x A 2l
C. 9 A e A A
3

(x-s)—{f—sj
3

x-=5 x-15

4 3
3x—15=4x-60
x = 45

ﬁma?ra?hwawys aﬁ%ﬂ

gaa%aﬁuﬁaﬂ— > st

0

?:n

128.

Consider the map given below:
R A T

o gu wm=fest

Two tourists, one travelling from Delhi to
Karachi and the other to Bhuj, wanted
company. The railway Junction up to which
they can travel together as shown in the:

feeet @ ot & wdew, 0 @ U AT AL
T € 3R gt 9, wreft skt e # € e
T ST Ok o |1 O Hehd &, S§ A |
Tt §-
(a) Phulera/‘fél‘[
(c¢) Luni/efAt
ST —(d)
eI § 9Rd % aHfa J Fe¥d 9 g fm @ wy
2 8 6 foeeh 109 A 9 A U (TREE) a9
I (ToRI) ST el & JE e R a@ wg-ae

I G B
129 . o 3 e fou € 90 @t & ®ma (A) AR
TEY AT REUT (R ) hEl TR E ¢

Assertion (A) : Hong Kong is to revert to China
from British Control in a few years.

(b) Jodhpur/Gﬁ‘ErgI
(d) Balotra/aTieRT

AT (A):  FO AN H g ey fEETo®
fra & a9 @ fad s
Reason (R) The people of Hong Kong have

opted for it in a referendum.
HRUT (R) : &M afgdl § SWHd due § uE
T I A 7

In the context of the above two statements,

which one of the following is true? .
SO % AT R ;mig frefafaa & & &
| A 2?
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(a) Both A and R are true and R is the correct
explanation of A

A 3R B W& § 3R A I W AR FA 2|
Both A and R are true but R is NOT the
correct explanation of A

A SRR TE § W AF T AR T& T 2|
(¢) Ais true but R is false/A ¥l & WR Ted 21
(d) A is false but R is true/A Teld @ WR T 21
I —(c)

(b)

T % R # fd 200 ¥ s oY A9 5
T BT 1843 30 § fofewr sifeem & omi fheg 1984 #
53T a1 <9 F 7T gU THE F SFER 1 A 1997 H
f5reT 7 gmem w1 99 % enfywe § div feEm 3w R
FTHIT B GERUT ST % FR g € A % 9 &
franfiel g0 SHwa " | = @ R gesT 91 e WA
T FU (A) T T T FT (R) Told 2

(B - THUTAIHT - STk T R 2T3H)

130. As on today, which one of the following countries
has the largest external debt?
3@ wne frafeafiaa § @ s |1 29T |aiteres o
SRUTI &7
(a) India/TRa (b) Brazil/awia
(c) USA/GTh Tsa TR (d) Mexico/afFas!
3T —(b)

132. frafafaa 8 & = o o gafer 82

L oz & frws fon wgew oy
Y Tt TareR AT Tl g €
(a) T 1992 i Hfer 1 qaRIoT
FH F g
(b) T JedSR : WA T8 3 & oy
(c) AN @ S9d HUE T HaET
FA F g
(d) HT=SH 9 H I gy e et
¥ ¥ Wi W % fou
ST —(d)
SMEET—5ga TF 9 5R T 1 T8 Wi o &
1964 § & TS & 3 TG HOMT TRl - AR a0

Tt qEEEEl & 9 v S W % 35w § FRia
21 (B -[uETHTRT - afient g wifafee 2Ee)
133. 199293 W ferwanr IuS ga=t WOX gE foh 9
SHITTaT 7T ek
(a) A€ (b) T
ST —(d)

REIT—FHN HACE, NG THR §RT FHIRME T TT 37t
% IFIER ¥ 199293 ¥ fice & Iaed # A @
T 1991-92 & I & qo # Rae gfg g1 wafs
T gty § T iR T F 3 § e 3 & T

(c) aeTed (d) ferere

EMER— YR & U <Rqoy sl Tergy & 290
SISt a9 AT o SruE ferfla dwemstt ¥ o
O I 2 H g T W

131. The book The Man who knew Infinity by Robert
Kanigel, published in 1991, and extensively
reviewed in newspapers in India is the
biography of:
a2 shitmer grr faflad, 1991 § yerildma 3iR
URA & WHTEN U | STeAfireh i I6is
9 g =g sfRfet’ ferment S wiftsr €7
(a) Vikram Sarabhai/f&sFT GRS
(b) Homi Bhabha /&t s
(¢) Sir C.V. Raman/®X @481 @

(d) Srinivasa Ramanujan/#ifam8 THFS
I —(d)

=TT B g ot T s T A g
=BT S W 1991 H ST dor 9T guen w6
¥ s g @ TE, § NG & awie T e
‘Siiferare TATe 1 See =R Sfearad e T @1 a
SRR a1 9RA % W WA a9 9, e AW W
TR H AT ] STEYM SR (BARC) F1 TGAT FH
T 21 fosh GRwE wna & siaRer e 9, R Tm
R oo W sfaRer $x Bomm # w81 W
TH NG % wifee ame R wifre Ted R 9
gt fopa ST T 2

(& - TUETHRIhT - Al I R ST3H)

TG I IUEA AR 3f & W 12.5 faferm 27 &t sren
a¥ 1992-93 & 14.7 faferm = &
(E-FUETH ek -aTfient T R EI T3H)
134. The dispute regarding East Timor is between:

gt ferme feroeren ferame formt &t o sfier €2

(a) Japan and Russia/STar iR &G

(b) China and Philippines/®¥ 3Rt ftheirdi=g

(¢) Indonesia and Malaysia/ZgIfern 3R FaAfyran

(d) Australia and Indonesia

ST —(d)
=E—-19000 i fEA. eEwa § fowga @@ faaw
SUSHRTE % Heren W § fd feR fw @ g am
21 o R § ey § qdmiere s sfefEfees o o
T 1975 § T8 B8 [egs & 98 SUSHET 7 39 W T
1976 # 3191 anfeae s foran @9 @ €idi & guemEn
a srefern & A= fefea faww a9 wn §9e §
FaaE H gaf fER SR § oem U w6y Qv o
T 21
135. I %o T MeTRa ST wfud fRat =1 9k
€, R off v ® wrwfe f % guw ofer
YR U T WHfaw T % 3 favner et
T YA fehmeh St o feram ST WehaT &7

(a) 39 (b) FETES
(c) Fh1ge (d) TfTas veifeay
I —(a)
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136. Which one of the following was part of the
erstwhile Soviet Union over which Kurdish

opulation is spread?
En:rl%n‘@?r ) % W W gAyd Wifead @
AT o FEH S @ B 82

(a) Armenia/3THIET (b) Azerbaijan/3TSREST

(c) Georgia/SifS/@AT  (d) Turkmenistan/gHfTEM=
3TN —(a)

A A Aqd ifed @9 & 9w o o
FHidw A wd 91

137. Which one of the following monuments figured
in the news recently in connection with a fall of
some of its parts and its consequent
archaeological conseryation?

A H W Ul R W
frafafaa & & w-w1 ¢ fas $o 9w fir ™
& T TRt AT W YTty GYeTor feRam Te?
(a) Jagannath Temple, Puri/SPraneg g Hfax
(b) Sun Temple, Konark/¥ e,
(c) Khandariya Mahadeva Temple, Khajuraho
haldn Hered Hiel TSl
(d) Chaunsat Yogini Temple, Bheraghat
dige A A, demEe

’

3T —(a)

T ST G wfed THrErd § o1 e $w 9m i
T T, R A H GeequT fehar T
T 1 ot Sy AR T feeg wieR €, S W sy
(i) F TEldT 31 a8 9N F e T F A<l
T F Rud 1 S VR F d S0 F @R
21 g T & SeEegd A g e 2

"‘Tl‘ﬁl‘m- |
138. Match List I with List IT and select the correct
answer using the codes given below the lists:

et 1 iR gt 11 w1 gue wifwg ofw gfert &
Hfrer fo&r gU Fel 1 SUENT R §T TE ST HT
A WITC :
List I List IT
A 1 T 11
A. Grand Slam/5i€ &% 1. Chess/¥Iasl
B. Grand Prix/is g 2. Polo/dret
C. Grand Master/3S WX 3. Bridge/Bist
4. International
race/3TUER 4z

<he

(a) A-1,B-2,C-3
(c) A-3,B-4, C-1
ST —(¢)

i w veEe B @ ¥ g 21 2y

F TR SR welett - srefod, e, fawEesa qon

IR U I G w9 § g wiw' el o 21 W

g vrsEel SR de ¥ qur ‘He ARey vsEEel &

TANT YRS F Bl T G ¢ gt T F 44 FSHAR

fenfeal g/ wa 99 arer @ 21

(| - I WEA 7, 50,000)

139. Y2 o U8 WX ToRET fo¥id folg UX forelR shitaTT
(Sererune feeett wre)1 fem § (Serevund druew
TRE ) G& T AqHTT Afgat st roe i §
HHT=IA: 3TfRIeh ST aRilfeh -

(a) I o arden T # oA g & i Fie B @

(b) 92 R A areft T foeot odf 7 gt & g &
ferem # aifres g e &

(c) ATTHESAE ARG F Feh T A el T H Bl @

(d) & & et 5 orr g A R F s o d 2

ST —(b)

- gt WA aret 3 fel o | gt &

78 N feem § efew g At ¥ Ad wRor ¢ fR feoed

IR AT YA &k B & R farg 1 arome widE @ arden

T # e S g R

(B - I |E= A, 50,000)

140. The Lifeline Express’ is:/ Tg% Tg— TeFAyd ' €

(a) The world’s first hospital on rails operating in

India.
TR & Y99 ST S YR I RRA W
<A 8

(b) An instrument used for watching the

fluctuations in the blood pressure of a patient
under general anesthesia.

e SeEEa & ffa § i % w6 geE |
T aTel 3AR-TgE H G H T

(¢) A de-addiction programme to save drug
addicts.
T it ¥ goeh @ @ ow B R
AT AR & FRiwT

(d) A popular health magazine founded by
Ramnath Goenka.
A AT GRT 9] bl T U e -Hes
A afe

3T —(a)

SR 19 g TR &l T 3199 2 &l !
e fovg ) THAE gua ffeem e - dRw A
TFEHE GYR & UH Ugen fafheem & S 6 2w &
faR T # Ger & fu 9Re @ o w=fE W gwfed
2T 8| TEE e Hel § SRy # UH & 991 UM &
ool B ST SUHOT d e 1 seen 31 ag fafhear
TAMEr et fufeheqr wd e Yanett & Saen ¥ Wed
& % forg d=nfer @ @ R

(| - I [ 7, 50,000)
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141. Given below is a diary of disasters involving
hazardous chemicals. Which one of the
following is correctly matched?

LCcreic o g2 ot & ww auar
et ¥ fr=fefaa & @ e o fauer @ faemo
wet gafea &7

(a) 1959, Minamata/ Leakage at pesticide

Nigiata, Japan plant.
1959, A=A FHleATe I # faEm
[GRIGIASIRIC]
(b) 1976, Sevesor Italy Mercury discharged
into water ways
1976, TG, 3t STomm # UR &1 e
(c) 1984, Bhopal, India Leakage of dioxin
1984, , IRd STEsfieE & R
(d) 1987, Kotka, Finland : Mono  chlorobenzene
split in harbor
1987, FIeH, focle  daume H HHEARES
FAfRIAEA
I —(d)

ETEAT—GTAE WA & 3o & Heawy Hfed g8 T&qq
TR TR egeret H ¥ ey (d) H & TE ey g
TR WA § G g1 T 1987 § S, e %
FUME | AFEAREs W F WEE & e § ae
SR g8 M1 1984 F A W ToEA qOe § el
F I FElee F FREH § febel seich 19- fura

MR ff S IRl & AR T 9

142. Among the four pairs given below which one
consists of a correct combination of dignitaries
who became Vice Presidents after having held
diplomatic posts like Ambassadors and High
Commissioners?

Hr ww gm A € Rl & 9 v g wass
e AT AEgHE SUAEUTd o= | g& Tegd
AT ITATTH & U W © -
(a) Dr. S. Radhakrishnan and G.S. Pathak
Sf. T, TUpwE 3 f.ud. ueH
(b) Dr. S. Radhakrishnan and V.V. Giri
1. w. qupwE S &t iR
(c) Dr. Zakir Hussain and K.R. Narayanan
. SR g 3 %, TR, AREvE
(d) B.D. Jatti and K.R. Narayanan
.21 SR 3R %R, AR

3T —(b)

12 T, 1952 ¥ 19 WE, 1957 T% 9Rd & ¥oH
ST & €Y H H H A T, TH. THFUE STPIf
T F TG 1949 § 1952 7% Wiggd €9 § Toiqd |1 SATA
2 5 o1 queE 7 13 %, 1962 ¥ 13 WE, 1967 T 4R
F Tpufd & &9 F f I BT 6 WE, 1967 ¥ 29 30T,
1969 T WA & ITPUT © & 4. . iR swpufa s &
@ Sieihr § Toed o1 SeoiaHE @ fF A R ama F
Teel T B (R TR TEUR (1967-74) S 56 T
¥ fef w5 # W s 9 4 9 apel #. e
v < TP S % 9 =R (FE) F I9ed © 9% 9

143. Which one of the following is a man made”
cereal NOT found in nature"

HIF A AT i ar=r & S

Terfer o SE UTaT ATaT?

(a) Dwarf wheat/siHT ﬁ'{

(b) Hybrid maize/He Herhl

(c) Triticale/fCE e

(d) Soya bean/TrETET

ST —(¢)
e fdiher g dor T H e 9R fHar T
wHa T Ffa oA 21 a8 v § Iueey T @
TSiher ST g TAR A T Nem HEE 2

144. The only landlocked country in Southeast Asia

is:
aferoTr gef ufdTen # e WIS garaty 39T E -
(a) Laos/asd (b) Thailand [oTgels
(c) Malaysia/Feif¥Tar  (d) Kampuchea/&rafean
ST —(a)
R TF A7 Ro-gd TREE q9 g, S AR
IR § eTafEd 8 veiq 39 v # g 9o a1 g e
et T A 71 AR F IR’ R fRm I e,
AMEeUS, WIFN, AR qg b §1 ensig # e
faemfoes 21
145. The founder of Boys Scouts and Girl Guides
Movement in India was:

URA W 99 @RS (9eer) AR fafaermgs

STEIT Rl ST-HETAT 9T+

(a) Charles Andrews/a1cd TS

(b) Robert Montgomery/Jae HfeTHd

(c) Richard Temple/f=€ 2ua

(d) Baden Powel/ag dida

ST —(d)
TS Ufad WRG # a9 @hiee (areeR) adn fafee
S e & T §1 WheS MEE S=IeE Jans
o feranfeei g defer fovar S w1 AT gEeEdt
T TRl G7e 2

146. In many developing countries, three major
causes of death and disease are:
e fererrasfier 29it # geg 3K Tl & = g
R §
(a) Lack of safe drinking water, increasing use of
pesticides and thinning of the ozone layer.
YIS W ST, HISAIE B A ga
YA SR SIS W 1 qqA & T
(b) Contaminated food, global warming and
industrial chlorofluorocarbons.

T oM, geft & Tl 1 TAAT SR AT
a?vﬁﬁqqﬁ FeA
(c) Polluted air, greenhouse effect and soil
erosion./JgMd a1, T ST S JaT STRE
(d) D1rty water, contamlnated food and polluted
air./1Te1 57, Wi Ao SR wgfi 7
3T —(d)
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rE-fava & s fasmia e g el gt &
g o we S R, H At # geg wd A % A vgE
FHROT 3 9 H A G F e frers aren e vae,
wefi o e s 9 €|

147. Match List I with List IT and select the correct
answer by using the codes given below the lists:

Tl 1 o gt 11 W g wifwe iR geet &
o fd T FEl 1 SUEET wRA g WE S
T R :

List I List IT

T 1 g1
A. Gro Harlem 1. Prime Minister

Brundtland Slovakia of
7 g SsdE TAIfRAT HT JETFHA
B. Stephen Hawking 2.Prime Minister of
Russia
R g &Y F THEEA

C. Vladimir Meciar 3. Environmentalist and

Prime Minister of

Norway
ESUECIREE T Tt SR A
EliicrEl
D. Viktor Chernomyrdin 4. Cosmologist
forerex it e fag
<
(a) A-4, B-3,C-2, D-1
(b) A-3, B-4, C-2, D-1
(c) A-4, B-3,C-1,D-2
(d) A-3,B-4,C-1,D-2
ST —(d)

AT FReH HECvS TAIaRuaTdl qoT A1 % FewaT 91
@it g e & sfs Faws a9 S fasar
g sfedR fioR wiarfear & Tpafa 4 sEfe faees
i &9 F qF gumEE 9

&9 % g yyeEs & 9w A aHdE g g |
U] YT % FHRUT g qHSAT F BN Gebel AN AR
™ 9

148. Which one of the following is the underground
army of the African National Congress?
frafafas & & = W TR T W 9
T BT §?

(a) Umkhonto/3w@ieT
(b) Kwazulu/FaN[]
(c) Xhosa/STst

(d) Ulundi/3=1

I —(a)

STEAT—3ThH T HIT (African National Congress -
ANC) RV ST F T@ Torifes T 81 39 el b
e F&T & STVl Pl WSS Toieh SHR e o
gt H vId A H gd T WHR FR FA (3T9AA)
A & e 5 91 ® IR @ iy W % fou

fopar e 1) SF. Aowd AUSern ST UFE HEE F g
a1 &, R 3rvedl & AR & e e 30 99 S
¥ foamn e TR W # T A ()
W%IWW%WWWW-TheSpearOf
theNation"EﬁT‘lTél

149. Which one of the following is correctly

matched?
Freforfiaa # & @i o1 wE gafee 87
(a) Dr. Kurien Space Science

(b) Dr. Malcom Adiseshiah : Cooperative Movement
T, WIeHH ST EREAUICI IR

(c) Dr. Abdul Kalam : Development Economics

. 375 HAH feeprg erdfome
(d) Dr. Pramod Karan Sethi : Jaipur Foot

1. yHIe T T sl Fhm W)
IT(d)

TTE—H & TOEE TR SR & e €
TAIEHTT T NG H faperiit & forw Fm o 99 - @y,
W anfe s & fou ufirg &1 7. seesr ¥ g e
fpu MU Tk FR SEQh W qen ael § quw Rt %
AU =T 991 31 fFar ST §va & T 2|

g, s PREm wwa § el ved () wife R
‘HRYA TS H AW G ff I I 8, F v gl
firreea % AW § wfgg = T W I 3a FAm IR
¥ §q 1983 H R fFU T UHGA TUH FRFH &
AT dRIFE T 9RA F T o

Tf. fAown efewiiar yRd & Sfag srdvrel e e
Td I F STHRIRS 91

150. Next to Hindi, the language spoken by the largest
number of people in the Indian subcontinent is:

R SUMEEIT § el W arelt wmereit o
S STl sl aiferes T o 3R W =t &
o1g ferT AT HeT 3TmaT &7

(a) Urdu/38

(b) Bengali/sTeT

(c) Telugu I

(d) Tamil e

ST —(b)

IR IUeled # e & uvan waifees @
g Al S aTel W Sl g1 SeN W ARG %
UfTaT S TS q9T SRy ¥ e 215 Ao ot
I Sttt S @1 = qen Selt % A 9Rde suHeE §
e el gNT Siel S a9 3¢ ue ueet 8, S
I FT TR H atelt S &1 Jeed @ 5 9Rd # sen
arel & de @ 3 9 R % A do W @ e
T &1 STl 91 TS HRA & HA: el we =i oy
T E
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3TE. U, U, (Wifew) vdiem, 1994
AT 3TeTTAH
Tt GIA-T

(3TEATTAR TIFeIHUT Wid SATE)

= gfE
A=re FIar
1. The earliest evidence of silver in India is found in
the/YTRA © wITdl ehl SUSTSIAT o WTEA=a® |1
frrerer -
(a) Harappan culture/3g H&pfd &
(b) Chalcolithic cultures of Western India
Ufvad 9RA &t AHuTETT S5 §
(¢) Vedic texts/afesh deaait &
(d) Silver punchmarked coins/aTdl & 3T&d e &
ST —(a)
ST — A & TEAaH 9T gewl 9 § 9 8 |
NCERT (EIH 9Rd) & TSWE WUihR =, T
Td T kI a4 FEfy F W w A
FETEEH ¥ H 91 9 e TorRa= & SR 3
ST & qrAT ST B

HAhIT, HglehlT <hlcT, HITH hlcT T
pSilkkis
2. Which one of the following usages was a post
Vedic development? /ffafaa o @ -
JAT- TGS GO A H FATTd g3 2
(a) Dharma — Artha — Kama — Moksha
o - o7 - T - A
Brahmana—Kshatriya—Vaishya—Shudra

Brahmacharya—Grihastashrama—YVanaprastha

(b)
(©

— Sanyasa/ - TEENIHH - I - §E
(d) Indra — Surya — Rudra — Marut
I - (¢)

AT - [Hdfes B § Hac TeEH H Ieohd e
21 SW AT 7 F Foed A9 Al F Ioor@ e 7
TX - F9, I SR a9 § A wd 9, g - qoer
W 9, FEEN - 7= A1 e & WY ©d o4 9 &
SEIEH A 9T HEThIAHE § B 7 |

Sg, 9, WITEd e IF g
3. Which one of the following is the most
fundamental difference between Mahayana

Buddhism and Hinayana Buddhism?/sitg & &
TETET R T TEE § waitie Hifee 3T
Freaferfaa # w=-ar 82

(a) Emphasis on ahimsa/3f6€r T aa

(b) Casteless society/STfafgd ST

(c) Worship of gods and goddesses
I-gaarstt g

(d) Worship of stupa/&[d T

ST -(9)
T — A FEE H AR 95 1 U HerqE Al
ST o, T TEAE HWEE H 3% aad A S o a9
ITH G H S W A1 TH P WY IS aifeEwEl @
et A A g5 |
4. “Live well, as long as you live. Live well even by

borrowings, for, once cremated, there is no

‘return.” This rejection of afterlife is an
aphorism of the/' S/&l Tk

» g8

@, e THeh 1T SRUT & 1 U, sRiifeh IR

TEIA & 9 W YA T2 & SRl g

T e S arelt ug Sty fanaet 372

(a) Kapalika sect/®Taifish H=IE aTeli i

(b) Sunyavada of Nagarjuna/:wﬁ'rr & REEIE] et

(c) Ajivikas/3Tsiaei &l

(d) Charvakas/=afei &t

ST -(d)
ST — JEie GNAE S9A % A e #
IITaRard), gederardl, siferhardl e T 2
Trafer-Te ST % SAfed T @ 7 fava T W gy,
Fac Ao Ted T IR B & WA q=a 2| TS 5

5. Vidhushaka, a common character in Sanskrit
drama, is invariably a/9%ha o |
s fagues ' wrar: TeRm arut et gram €7
(a) Brahmana/sIT&oT (b) Kshatriya/&f
(¢) Vaisya/a"é?l (d) Shudra/I[s
ST - ()

- W5 AeH 95y F ST Fifce™, W

3 AeHHRT 7 T 81 T8 F: FR0T AT T W [ FH

fim g e

6. In the Gandhara sculptures the preaching mudra
associated with the Buddha’s First Sermon at
Sarnath is/TTIER- Tt o gg ol A"
T ZU YW LAY | TG Yao=-T1 o1 719 ¢ —
(a) abhaya/31%q (b) dhyana/&=
(¢) dharmachakra/&H=sh (d) bhumisparsa/‘{ﬁ'@l’%f
I - (0)
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T - TR Vel § AT g gfier
qETn, Y ar g g @ S 21 g ag
et # gwiar mEr @1 g8 gffal e, uemE,
kYA, a%E A91 9 I qwie § €
TR, AR BT TS TG a7

7. Toramana belonged to the ethnic horde of
the/qIATUT TeFE ST T6T AT T2
(a) Scythians/Rf¥&T  (b) Hunas/gUT
©) Yuechis/zﬁf (d) Sakas/31h
3T — (b)

AT — AT 0T A7 gHA [ § ARG T STHAT

fovam 11 gor Hem wfiren § e e arelt sifa o Y

T & U wenta off | ffre e & uw v o)

8. The name of the poet Kalidasa is mentioned in
the/a{a SHTTTETE o ATH T IooT feREH gotT €72
(a) Allahabad pillar inscription/SAEETE T oE §
(b) Aihole inscription/ﬁ%ﬁ?{ F IOl o §

(c) Alapadu grant/3feTarg T §
(d) Hanumakonda inscription/%‘g’qﬁ?r Il oRg H
3T - (b)

AT — HF FAGT & AW H Ieokd F@d R

TAHH g & e sifrom § gan 2, frge wamR

Tomilfet o1l ‘9 & Jufere % ITAm ¥ 9HE A wEe

Tz & fosre sl @ avi sud @ Hfa gRe

g TARER W AW § fRar T @1 A Wi F =

T g o stfafed fran S arten U7 W o I W W

g 2, 9 W A s ewie wer & e Seht

2 e W o@ § el # T kA kAW

Eiggic i

800-1200 ht TSTTereh ATHTSe frerfer

9. The statue of Gomateswara at Sravanabelagola
was built by/ Cal

Trrtor feram sRtamen en?

(a) Chandragupta Maurya/=ss e
(b) Kharavela/TReet

(¢) Amoghavarsha/i‘m:ﬁwﬁf

(d) Chamundaraya/=Hs{d

ST - (d)

ST — TR (Fleh) F TE Tk & Th T e
T Flcsh § ‘gIuEeTer A W § 109 e &
e H agden MHaveR i faeme ghomr & i s
g e SR F wem fde wUwRE & 93 s
AT & 21 FIAeT & 6 MHGTaR # ufe S od 9
gwieE R # wed fwmer (17 W S wfae @)
TMHAYER P JfHT HT HETabIioneG agi guem o g
foer Sar @1 A A9 w1 ges CeE e
T THT FAlcHh & FEUEETer d & foAmEn FE w
TG 6 T 298 €. Q. H HoolEdr (3TAH) 3R 5T &
07 foher o) S gH B e’ T ad e 9Rd &
TS & - IS, FEUST, TG 0, Fem WY @RAd,
TgEHe TS STHEEY T2 Foc UEe €|

Fel Wi
& fafirm

10. Which one of the following important trade
centres of ancient India was on the trade route
connecting Kalyana with Vengi?/qreiiq 9™ <Al

frafafes & @ F9-w1 TEaUu =UR FE 9

SR A1 UT &7 ST HedATur skl St & Sgar & —

(a) Tagara/@T{ (b) Sripuram/#qL

(c) Tripuri/FIgd (d) Tamralipti/amfefta

ST —(a)
T — T 9Rd § [WRR HIA B Heaqul e
Fz TR AN H TG FeATT B G AT A
T A ¥ g g Ant )| on 9 @ f
amfafa, B, 39, 91, T T 9eE A 1 &
T W@ F/OT 9| TARR HA H SR asa @
37EAfT T fF STEM! & Hhera®y THdaE F 38 g3l
11. The caves and rockcut temples at Ellora

are?/ﬁ?’ﬁ'ﬂﬁ vﬁ'(ﬁ?ﬁﬁfﬂﬁ'(%—

(a) Buddhist/sTgl &

(b) Buddhist and Jain/sitgi 3 sS4 &

(c) Hindu and Jain/f=g3Tt 37 SHf &

(d) Hindu, Buddhist and Jain/ &3, sigl 3 SHf &

ST - (d)
AT — TAN S THT TNy F AR i § 9w
(TSR T WE W 78 § oot s & o Afiq &
TE| T P 34 ViaHd TS H, TH T 1 9 12 T
dig od §, T T 13 § 29 T g ud § qur
& 30 ¥ 34 7% H TETC S oH F TR §1 @
F w F 10 I €, 5 Rrew e favasd & gwita
21 9o @ fo weART & T A b fmior aeket & gy
# foham T §1 3 TH AR § Upee WY FOT VW FN
faffa Serer e A waieE 71

TEThTAT Slerard
fooet Ao

12. Who among the following is said to have

witnessed  the  reigns of  eight  Delhi
Sultans?/frfafad & & frew oot & 9@
FEA oAt ITTEA <@ o1?

(a) Ziauddin Barani/fRa=ed= It

(b) Shamsi Siraj Afif /3Irg-3-Rer e

(¢) MinhajusSiraj/f=re-39-fas

(d) Amir Khusrau/3T9RX Q’Fﬁ

3T —(d)
AT - UH AT S 2 R SR GE (1253-1325)
feeelt Hoad o oS Geaml & WA @M 911 S S
IR =W & TeT e & ufeareh e F gan o1 ¥ Yoo
MeedF 7eug & THY fawclt smem qr TS
& T T @ SR G & TA-U-fe’ 6 AW § S
ST B 1 SR GE T Al F1 Fadeh ofl g6 S
@ # SRR s 7 -y, e
3 e 9 TEHE-T-AR qor ITwie 3 aRiE-u-
RISy s T&aeh! &1 T
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13. The first Indian ruler to organize Haj pilgrimage at
the expense of the state wasT<= & &< UT § oht

SIFEAT HIA ATAT AT ARATT IR T —

(a) Alauddin Khilji/3fe=ed faersit

(b) Feroz Tughlaq/fRsremg RISED

(c) Akbar/3Thal

(d) Aurangzeb/3TSE

3T - (b)
e - RIS e (1351-1388) Towd a0
FANTEY FREY WEE o911 U FeAwTE wET F
Sqia fRUeeg Qe 5 5 98! 98l gaars, 1200 Bl &
I AN, TSR TRR A SO 1 e o,
foerarett v wefEal # W@ ¥ dAH-T-EUd AW
JU N S T H q9T S S @ & o dam-
TS AW AU 9 S T & 3sd SifaRed
Fe Al qHeHH RIS e 4 TR (TS) T
mg@ﬁ%%@mﬁmaﬁwwﬁmm
e Yo 9RdE e o1 RS 9 et @ e
T R 7 FA arel) F@l, qd o s |
SfSrar X @ fear) TR WM 4 O 1882 H dH-uU-
FARY A% AT g9 I FEfdd 6T dRe Fhe F E-
T-3AR! 1 WA HA el THaH g 4|

T - WW S =AW & wfeast 4 3=
R wd wfe & & § wfoer wf &Y, fhg & T®
&ﬁamﬁammﬁﬁaﬁaﬁ T TEEeEd o, S
T H ﬁm’wmwm|
TRl SRR A e TTRT e SR I |
feem foen Sefsm o wesel @ a9l O oo R
SR & 5 # W H Ao feor 7o e & a6
Stam # su Wy W oS s & o o, e
oSl vmeemEr st fid ¥ W @eRR FH & N
IO 7 fraifad a0 feeeht o= faar om

HIST 9T

16. Consider the map given below:/ et few g
RISICER T C Rl L

AT qarsy

14. The Mansabdari System introduced by Akbar
was borrowed from the system followed in/37eha¥

= 5 wmeed yunelt @ n feen 9w
fera 291 © werfera womrelt & S oft Tk oft?
(a) Afghanistan/ 3T

(b) Turkey/ T

(¢) Mongolia/=iferar

(d) Persia/®R"

ST - ()

SEAT — 3N (1556 F 1605 §.) 3R AN & T8 G4

e B TGS’ & AW ST S &1 b §H W

F T 3G qIHeEN Fewy § 39 AfFE H THE g0 UH

U oM R S a1, S W &4 H A 4 fRu S oA

T F TAGS T TH TEU F ATl H FAGEER FET Sl

7| 3R ENT W1 P T FAHaER] SAawel He =ar wist

o ‘TImed Jomell’ ¥ 3uR off T off | AR s

F S ¥ Afd % aad R SRS # g HeR 9w 9

TSHAR & & WA H T S A1 ATEAER] Hl AT

Fhe UTd SR A w9 F fEEm S oan Stk & T

TaR U § ‘g-3rer’ o1 ‘g srer’ @ e i )

15. Who among the following ladies wrote a
historical account during the Mughal period?
TR | J
Terarur fera?

(a) Gulbadan Begum/Tctela I
(b) Nurjahan Begum/TGT@1 T

(c) Jahanara Begum/\‘rlﬁ?ﬂ'm T
(d) Zebunnissa Begum/SEfE ST
I - (a)

The shaded area in the map shows the kingdom
of the o BTifeRd &5 TS S9TiaT

(a) Satavahanas/9Taarg-i s

(b) Chalukyas of Vatapi/arardt & W 3

©) Rashtrakutas/W Eal

(d) Marathas/® 131 &1

ST - (d)
e - &3 T AEfE S SEifhd 9 Geny & g
g, S WE % U ¥ gake @1 174 v # g
E & faged & uven Rrest qor vEnet & oeree
WIS W # T IR % A HERIY, eAiesh qdr
Y oW g el & FB A4E A g3l U T AARE
DBTIfR TIT HST ST o = A bl Fafere el 2|

3megfen gfog
AT | ohT ferere ua I
TS oAl YR

17. The first Indian ruler who joined the Subsidiary
Alliance was/9gTgeh WfI oAl Tt

UEET RS IR o7 —

(a) the Nawab of Oudh/37a¥ &l d1dl

(b) the Nizam of Hyderabad/2<X@Tg &l e

(c) Peshwa Baji Rao 11/9¥rET seiE fgdir

(d) the King of Travancore/m EARISI)

ST - (b)
TS — YT HiY N ST arell gl AEeH galae
1 o o1 werEe 9 g gftafed T § deuee &
faeme 1798 # o o, S&fh AR 90 TF G 1799
¥ Hers G WieR a1, 91 @y & q9e 3 e
e s 1801 # bR fopa o, sEfe wé foshed (b) B
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18. The capital of the kingdom of Maharaja Ranjit
Singh was/TERIST Tisita fog & s @t
TreTerTt ot —

(a) Amritsar/3THqaX
(c)Lahore/?ﬁﬁT
37— (¢)

e - el @ geEtea e ¥ wEfRa wewsn

Wi g & TS0 U9W ¥ ARR a6 fORgd 91l werT

st e 1 ToHIfe T AR qn efie aerer

AR Al A, 1839 H wewen Unid 47 # 9 &

UYEN 1845-46 3. H Wewwn ficfiu i qum s waet

SR aE Fen A Gt & 99 vmm Aia-fee I8

T T 184849 H @€ Temrt % W fidia ava-

forg gam| I € fF wfs FifeR a0 ot fe @

R TS TRYS § o gan o1, o Afexeme @t

fhel ¥ et o AT o1, 3R Y faefv fie 3 guwh @

gy feam o1 Soeiaa @ & onia fig 9 eto et

RR H T AR @ien o, e qfeem e il W

W T g

(b) Patiala/gfearet
(d) Kapurthala/&9{geT

ST — I & TG o 3T Ao § ST TER
g U ST @ gerdl & BROT d@l & T I W (1809-
84 2) 7 ST & favg fosie R fam el 7 1849 #
s G I S # 2 A 9 ¥ g F 9% s g
sl & fovg O 9hFT W, @1 1857 3. & famw H
SIS & Raams TRea T a1 T T 1861 F S 7
GUE O F AN HREE & S & | HeEwd 28
B, 1884 H X GE # 9 § & g & TR | TER
da e 1833 3. & @ anfeard fagie &1 =ar ol

21. Which one of the following upheavals took place
in Bengal immediately after the Revolt of

18572/1857 & fafie & i @ e o

frafafaa & & i @ fawra gan?

(a) Sanyasi Rebellion/T=E fagie

(b) Santhal Rebellion/H4Tet {518

(¢) Indigo Disturbances/=e 3Usd

(d) Pabna Disturbances/TrsHT 518

ST -(9
AT — T 1857 & A58 & 3% UvaAN S H T
1859-60 3. ® I FUH F HAlGH AH TH JHE

19. The first to start a joint stock company to trade
with India were the/R@ & Y SFUR & ferg

TAYLH T USH HIHT foRd RN ST Thi?

(a) Portuguese/i#ﬂ?ﬁ (b) Dutch/s=

(¢) French/%= (d) Danish/gfer

37T~ (b)
T - T 1602 § 39 (Fivs) §9e g1 wika fhu Mg
TG § UH Y TH IR oA dEE A v gE
9 F H <9 TGS gR 21 T F I 9T W T F
2 & Y AR FH, A TF foog T & Hey o
AUFR T T gIN| ST g% EfeAr Ut @ AW ARme-
3 feq Sul o1 98 FF FfEl B e s
T YR TE NG & T ANR FA & oI w2 =i
Fror ot fafey merE ufeeey yom % g RE e 15
Fifg =R SRER-TT ¥ @R 1600 E. H 3T =
oo FEE ) T & ) e dw iR Fe @
g e siftefeam) @t qF 149 5 Faad g7
1664 £, ® & TE, qo S Sk S gfRAn Sud g
1616 # T g8 o1
( Ea- ek ohT TRE SferaTa-Tier Te T9TaTed )

1857 =1 forsie, 194 Iramedt &l ST

20. Who among the following was the leader of a
number of anti-British revolts in
Sambalpur? /HeTqX o e ferfer-faieht
et =1 < frfefiaa ® & &= an?

(a) Tirat Singh/dRa f&@

(b) Surendra Sai/ﬂir_{ g

(c) Kattabomman/'elﬁ\ﬁﬁm:r

(d) Sayyid Ahmad Barelvi/&%8 31eae sied!
37X - (b)

sT_re g3 | faamR 1859 # dma o Afean fe § e
Mg Ma & fFaml 3 W J@ famer v e
fom favame & g & Fa H @Al 92 B, A aH
Al & e & faas foEe & faen 8 adE
e & vom M geaa o R UfTEe’ F wmEs
FeeRs qESi A 3794 3TEaR & AT § i sTRied @
e foran an1 dery i 1 o0 Aes Fia e § e
I ATl o TR & gen feavn foam e feam
F THIST & HAEEy 1860 H i T @ FfE @
T 39 @M I fREE () @ A # gd w1 #
AT | qE H | wE feee fase 1873-76 3. H
TUER U9 T8 YO & A9 H g ad & gt
fosIe 1770-80 . & = defamn o & fowg gam| H=h
g 1 Seoi sfehw 9% Feslt 3 T IT ‘S WS
¥ fpen 31 Hurel enfeerd fage wAR wd Temed #
1855-56 H fog W Frg & Aga H g3 ATI

TG GEATd, |iEt, SrEnT, strfram

22. The significance of the Bengal Regulation of 1793
lies in the fact that /1793 o SATeT Ea)
TafoTe wreroT = en?

(a) it provided for the establishment of the Supreme
Court /3TH Tafed <A H AT HT I
arl

it restricted the application of English law to
Englishmen only/394 3T faftr &1 w&mm Faa
3T % fore i & T an

it accommodated the personal laws of Hindus

and Muslims/39H &gaft 3R quemH # wigd
fafereit 1 off T ez A

it provided for the appointment of the Indian

Law Commission/35% T W
e 1 3Suay ani

I - ()

(b)

(©

(d)
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AT - 99 1793 §. & 9T TR g H & AR
SR & 20 a9 & fIC F@M@T T, qUT T A H
R ToT foear omrg dor axre SEefRE wooff & fean
TN 39 TH g TMER SR & aRee & et gew &
IJaT IRAT B U TH H gEEE A T gHE
e 1793 %waﬁmwmﬁr@mﬁ%m
ff 39 TR & W e T4 qHEHE! @ WiHd S
TRfaRrE 1 o A UE w Se R T §Eed 8
foF YR & Tlea AT WA T 1773 & AR TR
3R aer ‘fafy s (Law Commission) 3k fofer we
F f1gfa 1833 & =T TR EW & TR o
eFar 9T UE UE e
23. Those who joined Mahatma Gandhi during the
Champaran struggle included /=FITUT o
frreafefaa ® @ fera werem wiieft =t wrer feam en?
(a) Vallabhbhai Patel and Vinobha Bhave
T ¢ U AR T 9
Jawaharlal Nehru and Rajendra Prasad
AT AT TEE I
Rajendra Prasad and Anugraha Narayan Sinha
TS TR 3R 3T A faw
Mahadev Desai and Maniben Patel
3R AfEe ew

(®)
(©
(d)

ST - (0)
ST HE M A ke, 1917ﬁu§|§rrr{wéa

foFam| =FIRA emR | weIe T % Wy Sf. [ I,
PR AR famr, TRk ufa, weeed &, S &
W,wﬁ;sﬁiamu%ﬁaéﬂé%ﬂ%ﬁ%ﬂsﬁ%w
Y AR & URUTHEEY THR H ST ISV &S
FHTT TSl a1 fFaEl i THet W FH & U R
I us ofufa # fFfaq @ fes gewr wiEst o 9

24. What is common among Madam Bhikaji Cama,

M. Barkatulla, V.V.S. Iyer and M.N. Roy ?

T HfieRTSit ST, TH. sehgee, ot o, T, 3%

iR TW. T, T o = ara gur ofi?

(a) All of them were leading members of the
International Communist Movement

stared § ol gew 91

(b) M. Barkatulla was the Prime Minister and  the
rest were Ministers in the Provisional
Government of Free India established by a group
of revolutionaries at Kabul / Th &
T FEA § waT 9Ra A S SR WeR e o,
3G TW, Sehdeel SUFEET 9 iR 9 qoft o

(c) Al of them were among the prominent
revolutionaries outside India operating in
different countries during the Freedom
Movement /3 &ff T@ Hifdwdl 4, S A
T ofidie & orafy H 9wa § ared fafaw i A
HM W@ T

(d) All of them were accused in the case relating
the throwing of a bomb on Lord Hardinge/ T4t
AR SRS W b S et a9 F e # SgE 41

3T - (¢)

AT — WeW fhSl HHI, TH. Sehdeetl, d1aLTE. 3T
IR THEA. TF T T HR & SR T e
Ay & 9§ R faferer 2w # W A @ 9

25. Which of the following international events
influenced the course of the national movement

in India before the advent of Mahatma Gandhi ?
/AT st AR ¥

=t feon § Frefefaa ¥ @ e staxisia seei 3
gTrere ferarm en?
1. Italian-Abyssinian War, 1898

et g =

1898 < Fcit- I35
2. Boxer Mgvemeqt in China
& ST

3. Revolutionary Movement in Ireland
EQS A IR

4. Victory of Japan in the Russo Japanese War
TH-FTU o G | ST =

Choose the correct answer from the code given

below.

(2) 1, I and 111 only/&aet 1,2 3R 3

(b) I, I and IV only/3ae 1,2 3K 4

(c) 111 and IV only/3ae 3 3N 4

()L 11, 111 and TV/1, 2,3 3 4

ST -(d)
ST — R T Sad 1915 § Sq0T o7l ¥ 9Ra
UG FF A 1917 H HEww @HRA (RN ¥ e
e H uerur far) weren e & ufiE en<em #
mﬁasﬁﬁ%qﬁﬂﬂ?ﬂa@maﬂaﬁmwmﬁwﬁ

ST B T T, A7 AT AR B AT W S

aﬁs@r@ﬁsﬁaﬁgﬁé@é}lwﬁaﬁwm
ﬁ IO geel-SEEf g8 (1898), HM % AR
I, ECATE F HIAHR ST=Ie qdr T 1905 &
TG-S & H SO 941 S fas # Siigig geet
T oua @ @ A RdE wife e # gt
T SO S SIS 39 5N &9 S Werd J B

TR T A
fifereh HTeAT/TUATE S/ AT e

26. Consider the map of India given below:

fe& @ e & At we faem -
The map shows@ﬁﬂﬁww%—

an isohyet/Tsh qast @
all India water divide/3TRad YRAT S foaes

a combination of national highways

(@)
(b)
(c)

| T
(d) acombination of major railway routes
ket 1 T
37(b)
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27. Which one of the following types of erosion is
responsible for the formation of Chambal
Ravines ?/<ieiet oet & @le-

HIT frefaiaa o ¥ fRd Uiy T 3raie €7

(a) Splash/3TTEhTCAe (b) Sheet/=med

(c) Rill/gs R (d) Gully, 3TaTfeteR

ST(d)
e AE GRar & faefad w9 & s g1 3
HIAARE U & V 379 G feHTAR FI 3HN T80T
Fh GaI FI AW B &1 9T H qrerar & Tor § fom
T TS F A &F AR TG | Fatfud yofaa
& 21 SeIeThl e % IRUITHERY & wEe "t §
TE WiE ud el & fmir & e d)
28. In ancient Indian historical geography the name

‘Ratnakara’ denoted

O § ' TATR AT Gk AT

(a) the Arabian Sea/3Wd |IR 1

(b) the Bay of Bengal/aTa &1 @rel &1

(c¢) the Indian Ocean/fe<= TR I

(d) the confluence of the Ganga, the Yamuna and the

mythical Saraswati at Prayaga/Fam H T, 1
AR gRIfOTe T Tt % ST

ST(¢)
TR & I Ufeiiiss dimfas faeto 9id &
T A Wieer § A MW e &1 WA 9™
UfeTfss e § i WeMrR &l T A1 ¥ gt
feam T o7 (BA-aRe T Je-eg s JTEiEm)

29. The average elevation of Tibetan Plateau above

sea level is TBR & 9% aa
o &

(a) 2 km/2 T, (b) 3 km/3 fere,
(c) 4 kny4 T, (d) 5 km/5 fere,
JT(d)

- 1 YR feHe wdd % 3w iR A

gjﬁ%ésa@mﬁaog%ﬁs,ooonﬁaaﬁmm@ﬁ%l
@ H S AR uftew | fegHw au whe] @

sifora 2 &1 (Sa-ARe T ie-egy s A

30. The only anthropoid ape to be found in India is

the /TG W S TeRHTST WIS Shid UTAT STAT &,

T -

(a) hanuman monkey/&JHH d&T

(b) liontailed macaque of Western Ghats

ufget =re ffe-g=eft wereh

<t

(c) slow loris of Assam/3T9H & T=R aE
(d) whitebrowed gibbon of Assam
3y i vy frem

STH(d)

AT 2. T AL, b 3 5 1962 €. & U 9 o

Sig & fael Sag o a1 # (TRA) @IS B AT 140

arg ¥ i i (T # fa S aren a8 Jea

Y T FHAEE WeHe vaary e 911 98 9 # 9rn

S STl THHE HFEH HY 2 |

(BT T TA-TGH S ATHIRE)

31. The Himalayas are formed of parallel fold
ranges, of which the oldest range is /fFHTES i
ToAT Wi gt gfvre # gE €, e | yrefiaan
groft -

(a) the Siwalik Range/f¥marferss goft

(b) the Lesser Himalayas/f= fgamera sioft

(c) the Great Himalayan Range/3eq fewrera Soft

(d) the Dhaula Dhar Range/ eTER ol

IT(c)

- Ruerd gedt & otiaRs widadl ¥ eREd S

Te2HE % 9% oW § Fffa afed (fold) vdd 21 Rerem

TR 2P g # faena -5t § aem ued % FR

fafifa gen 21 Rros fafm Sfrel 1 feg fe-fe s

# gan femera & T A gdq ooft geq e goft

g, Sefs e ferer, diemeR we R e wadt

Fra # faffa afmr §) s 9 fafas aofr e

Teg Fda vl goft 71

(B9 T TA-Tg s qTHiam)

32. The hallmark of watershed development in the
semiarid regions of India is the /RT ¥ TH-5h
&N | et 1ot TereRTd AT WHUTeR ferg &

(a) establishment of sheds on large scale, so that the
rain water does not evaporate VS T R et
F T, AR T % et B AT 7 @

(b) undertaking of earthworks, soil conservation
measures and treeplantation, so as to conserve
soil moisture and recharge underground
water/JaT &¥, -TREI0T U 3 1 ITHH
M gar o T SRE w® SR s S @ g
T BT R

(c) drilling deep tubewells so as to tap water at the
rockstrata level/Te} Teipul 1 ST, I Vet TR
H et &1 Fh & g

(d) setting up a system of tanks by banking water
from seasonal rivers /Al AfRE ¥ T FH
TeaRUT FTch STATTEN o o7 H T

3T(b)

AT & T 9T F SER T9H SuH S (b) B

i 7€ T &7 TN F FE el F @ T 1

F afy § gar sy -TET U S FARITUT T IUH 7

qMF ga1 i T TR ® R SATAH T H [ RO

BN R T8 T Lhiersh T 2

IAS (Pre) G.S. 1994

41

YCT



33. Consider the map of India given below :
fe&r gU WRa & T & T
The map, read with the index provided, refers to
the distribution of /few Tu faem & wrer
Y TEHT TG fer ag feraeh faavor & dasf o #72

=

(a) winter rains/3ffasrel= ast

(b) pressure/als

(c) annual rainy days/afSe auf &% f&ai & gen

(d) mean temperature/Hred YA

3T-(d)
M-I # T 9RA & WEE H 3@ § WY g
SO 9RG % e qOEE S S R e g1 sy wg §
M % T AT (TSR, o) § waifus arEE qren
ST @1 i Bq § qW F A9 (s ) oA 9ge S
21 o e ¥ wqe & o (aE-etie) # 2w 7 ofwd
e AqE 9 S 2| R fEeor s aefE J awitan

(e s e e e
g, 9=, firgt, faeng uResend, sy

34. frer 3 geden fou 7w &, S & T o ®E (A)

3T TE I KT (R) HaT T &

Assertion (A): The monsoonal rainfall decreases as
one goes towards the west and northwest in the
Ganga plain.

HAT (A) : T & Heq § A HE ufvem i Iw-ufgem
1 1 A W A T g frert

Reason (R): The moisture bearing monsoonal winds
go higher up as one moves up in the Ganga plain.
HRTT (R) : T F ' - W B el
ST, SAEATE A Toe 3 St St frerd

In the context of the above two statements which
one of the following é; correct?

E2Ee Wl # frefefaa & @ &

o1 wE §?

(a) Both A and R are true, and R is the correct
explanation of A/A 3R R aFl H& & o A &
& RS R &

(b) Both A and R are true, but R is not a correct
explanation of A /A 3R R 241 & § | A & T
FRSAT R & FT &

(c) A is true, but R is false/A F@& g WR T &

(d) A is false, but R is true/A Tefd 2 /R T2

3T(a)

M- T & Ao # A FE 9w i Sw-ufEm A
T8 A A v wed g fend s T % dem §
FE - SR BT S ST, A A ga 3K
a8 T S g2 et

35. If safe storage is to be ensured, the moisture

content of foodgrains at the time of harvesting
should not be higher than/af¢ oy

T GRE w @, A wed % ud S
STERT 3197 et whwT & arfires =¥ @ W

(a) 14% (b) 16%
(c) 18% (d) 20%
I(a)

ST G & G ISR &I gAed & &
HHA P HE H U N b I H FH 31afq mear
Ffehad AET 14 Siawe ¥ e T8 e TRy it
Ft Ffaer WET SEY SIfE g W Wl & e adr
B HIS o oW & G 9g Sl 8| Sed@
foh querl § W@ T % yvan @ § dig 14 e
e smstar a1 T anfeed T @1 undt, R oW §
M AT HS P IR I S B
(BT AT et wTeifem)

36. The highest milk producing breed of goat in
India is/¥ e o Y o ATl SRt aht
Ero
(a) Barbari/a&d
(b) Jamunapari /\_r\'ﬂtlTEIT&

(¢) Black Bengal/@relt srett
(d) Beetal/aTdat
JT(b)

HREAT-FAAE § T & 3y § 9Rd § fova & gaitus

IR T S § 1 Fe @ FmeT 9wt % 3w § oA

Td TEREW # TR A Wl 8, e sme gy dufes

(T.B.), R T& AR & #lsi & fou sga e

A Bl 9NG H Rl N wEd ad g fGmet Tw

SO 1S T A gaifues g9 & 2, afes wig %

fau o 3aw Tv AF S @1 9RG S e SwRal

-SSRl ST qor F 81 e € 5 I

¥ walfers ssRai Towg # U S 81 HT sl

Y T HEH () # TR 7
E—WWW—WW@D
37. Farm land tends to erode most rapidly when

planted with /&Y St ¥ fermer W ST ¥ Of

T AU IRy dierdr | grar &2

(a) sorghum/@ﬂt’-’l (b) potato/3ATe]

(¢) wheat/ﬁé (d) clover/FaX

ST(a)

SEIT-Ja] 3ReA (BN U fifos fran 2, fas g
Te1 T U T ¥ IR W W e Ry 99§ uE A
U W I 9 91 S % AW ¥ MR @
Sl Sﬁﬁﬂﬂ%(SoilErosion)W%?ﬁ@ﬁ
T 7afq S9R % W S Sl g gar & NS TS
P Eell F AT S | Borasy g B WS A
dio & WY B A 21 gA AW H A F U
HECl Hl TEA-g8d H AT () AR

s 7

$anid
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38. Which of the followmg fish are bred exclusively
" ¥ HA-

in the cold regions of India?

HT H ASfal T 9RT % had 3¢ o= W &
PECCEIGIE Y

1. Catla/ahdetl 2. Tinca/faw e

3. Bhekti/ St 4. Trout/2RE

Choose the correct answer from the codes given
below. few 3T W I & I

(a) 1 and 2 /1 3 2

(c)2and 4 /2 3R 4

370
TG & g fmer do TR wefad @i
TS, WRA & 3 &6 § e 81 Sk doe, Sehdl, g
aor i weferat ard & w & # areh S ])1 dferrg
TN A H TEACE & S ASAl & Iqed & g
g 21 wefeal Rd & W frald o s e E)
(B ST AT TR
39. Which one of the following soil types of India is

rendered infertile by the presence of excess iron ?

ara o i | YET Y& TG

ek B o SHITUT ST BraT 1T Vet &2

(a) Desert sand/TERIeg a1e] (b) Alluvial/Seig

(c) Podzolic/dresifish (d) Lateritic/eeuzies

ST(d)

(b) 1 and 4 /1 3R 4
(d)3and 4/3 3N 4

AT F QT A T Y SR A AR, TR d
Heier qor erwE wEr S 31 weeehd g § oan o
FERRT F AR TA SHATY g ARSI HoFHH g
ST 1 (SR W e ey ATHRE)
40. AT hl @l oh TTT TG STerery URTEATCrT 8-
(a) rainfall above 100 cm ternperature above 25°C
100 T, § HR a9 3K 250 C ¥ TR A9
(b) cool and moist chmate for the entire crop period
wOd 1 gl Ay & fore 3 iR T e
(¢) rainfall below 100 cm, temperature below
25°C/100 T, F FA 9 25°C F H A
(d) warm and dry climate during the entire crop
period/I8 oA 2afy ¥ FB TH R Y A4
3T-(a)
T Fad 30T 3 HiEay F G 84 % HHOT T
R o weu # RV SUEn W 2| g6 few Ao
G FA 200 YfcEw ¥ 27° Sfcww F A9 # @
=T Fwt F AE G 200 T AR

forver &1 Tt

FEUE Td HRUvSH

41. The colour of a star is an indication of its
AR T 7 goreh -
(a) distance from the sun/gd & g 1
(b) luminosity/3Te AT &1
(¢) distance from the earth/35a Y&t & gft &
(d) temperature/m [SIERC
JT(d)
HrET-ARl & fafa qusmn (Spectrum) 3194{?[ IGH qT
2ot ot fafeor o faar % emem W ARt F a1 A fwiRa
foham ST 1 Rl oft TR 1 T1 3HH A9 S gES g
21 gd (v 97 @) H T F A9EE 5500°C F 6000° C
gar 21 @ @ T de g 81 ARl # e goed #
fopan @ o 3w Al 2
(eiraferva @ ey
42. The time taken by the sun to revolve around the
centre of our galaxy is /AR SATERTIT T o hg i
TRERAT T | T ol T T &
(2) 25 million years/2.5 Fg T8
(b) 100 million years/10 T
(¢) 250 million years/25 ERERCL
(a) 500 million years/50 FUg o
J—(c)

ST AHY T G ai B faere g9 @1
sfrpter AR ol U fewrR A usdl W ows
BT § Teh THHER HeTd (Arch) fo@r vedt &1 wia &
T HE W, 9 H e - qur gAE § g9 e
(Galaxy) Ted &1 SEBIT T & &5 & Ifehar & § g
I T 25 FUS T8 H GO A7 2 |

(Ea-fearva =T e q9T JaTe)
43. The length of its day and the tilt of its axis are
almost identical to those of the earth’. This is true
of// Uk g & T o1 WM 3R SHeh 3ty or
g T geft & fem we iR gea &
TG BN’
(a) Uranus/Z79 & e &
(b) Neptune/F9=g7 & fawar &
(c) Saturn/¥If & oy &
(d) Mars/57et & famer &
ST(d)
T 78 § g F T & & 49 (Poles) ¥ T
FOR ST W 20° F BT W FH 8, gH ao I el
gedft o TE & Fg IR @ 2|
(BTE-TE9al <1 YTTer-GiT JHie)
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[ IS
44. Consider the map given below :

o feu gu aHtes W e

The numbers marked 1, 2, 3 and 4 re g ctively
indicate the islands of /1, 2, 3 3R

oy Frefefaa gl & das &
(a) the Bahamas, Azores, Falkland and Cape Verde
BT, TSN, Hiheis 3N 9% sfad
(b) the Bahamas, Azores, Cape Verde and Falkland
(¢) Azores, Cape Verde, the Bahamas and Falkland
, A S, T R

(d) Cape Verde, the Bahamas, Falkland and Azores

37—(c)
AT | W 6 T foes aEE | 1, 2, 3, 791 4
3l | eifhd AT T TH HE: (1) TR (2) 96 3T
(3) TR 3R (4) FHeTS E 1 WA F 2

45. The greatest dlvers1ty of animal and plant species
occurs in /9T 3T ?ITﬁR:# ?R'éw

ferfererar firerelt 8-

(a) temperate deciduous forests/ ST qufard ==t #

(b) tropical moist forests/SWTHfeaY & 3 a1 |

(c) heavily polluted rivers/3Tce sgfod afeai §

(d) deserts and savannas/ €Il 3R Fa demt &

ST—(b)
- faEd W & qE SR 10° 39 der 100 Rwh
AT F S T FfaH T I 79 T I § T A W
I=d I AHH (ST 27°C) T S 8, q9T 9l o

&1 W WG, @, WA, IS I H @ JeT UTT

aﬁélﬁaﬁma R F IS IR, STHE &

Fit afg dor v ¥ qofyer 9 gvemien § uw S

g1 59 o yaw § qioT o waifers fafeaddr ae sl )

46. The acceleration due to gravity of a catastro hic
earthquake will be /ﬁ‘!gl'ﬂ?lﬂ% p

HTTUT ST BT

(a) > 550 cm/sec’/> 550 TEL/A.2

(b) > 750 cm/sec?/> 750 TH./A.2

(c) > 950 cm/sec2/> 950 TH./F.2

(d) > 980 cm/sec’/> 980 HHT./H.2

IT(d)

- faRE E % e % HROT @R HOAH
980 cm/sec” AT9.8 m/sec’ T 3T BT |

47. When it is noon along 82° 30' E longitude along
what degree of longitude it will be at 6.30 am?/STl
82° 30" J. IR WX WEATE & aa Wia: o 6.30 T
TIT=AT 37T UT A2
(a) along 165° E /165° §. W
(b) along 67°30"' W/67° 30' 4. I
(c)0°Eor W/0° 4. AT 9. W
(d) along 82° 30" W/82° 30" 4. W
JT(c)

-5 82°30' T R Y 9RG 1 AMe v

(Standard Time) HHT ST 2, # qearg o7afq s 12 a9

20, T T F 6.30 I H AT GHI= 12-6.30=5.30 TS

B 3 4 ffe & §HF 1 SR W A 9K S H§

ST | ZHIAY 5.30 HUS § WG QMR & -5x60 +30/4 =

82°30' MR | TE g & I8 IO @M 0° 7T W |

fer 8 Seeiadia 2 f 00 e A Jam 00 weare

W W fRE 2 SR § fF 00 e At

[WR W@ 1 S ad=d (FTels) & U9 F g e 2

Tg 0° qd srar ufvem I & e gw v w1 Aefw

6 T el ST @ (Ea-fave s Yie-gier yEe)

48.

The first bird is believed to have appeared on the
surface of the earth /gecft & aeT U¥ werw ueft =

gl el T WA ST &2

(a) 300 million years ago/30 &g = ch

(b) 200 million years ago/20 Fg ¥ RC

(c) 150 million years ago/15 &g ad ch

(d) 100 million years ago/10 Fg ¥ &

3T(e)
AR gA & fafs 9 ¥ wa weE Saredt & St
It 3 @A 2T g S ffy feifa @ @ s
SR T 1 37 T o YR W et & qa W Fqewem
uferEl & wigwla @ fafyr @ 135 w9 @ fAftea
T B1 W A & IMUN W T B Fhed (c) Fpeam
TE 3T § (EA-fava &1 ie-ger yare)
49. An aeroplane takes off from 30° North Latitude,

50° East Longitude, and lands at the opposite end
of the earth. Where does it land ?/Tek TamT=T 30°
I Svatior, 50° Ut MR W ST OWAT ¥ 3R
geet W faodfia i W o Savar € 98 et saam?
(a) 30° North Lat., 50° West Long
30° 3T S7Ate, 50° UfTEH AR
30° South Lat., 50° West Long
30° ol swrer, 50° AfveE TR
50° North Lat., 30° West Long
50° 3T 3TerE, 30° UfTEH IR
30° South Lat., 130° West Long
30° afeoft swrer, 130° afverdt SemR

I(d)
- famedl & STUR, U fonm  30° I8 awniw,
50° gdf IR T I 9@ 7 R gt F fawd| R W
d ST g1 et 9% 30° Rt swiw @@ (180-50)
=130° uf¥=m 90 SA | 3H FHR fFeheq (d) T 21

(b)
(©
(d)
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3foreh et

50. Match List I with List II and select the correct
answer from the codes given below the lists :/g=it
1 & g 1 ¥ ghtew R siR grE % A
few g et & TETTaT § W 3R @ waT wie-
List I (Crops) List II(Crop Pests)
-1 et 11 (RES 19T SHa)
A. Rice/aEaa 1. Aphidf'Iﬁ'E‘-.r
B. Wheat/T§ 2. Gundhi bug/get ApUT
C. Sugarcane 3. Greasy cutworm
e 3. dferr A ey
D. Gram 4. Q%"_pr shoot borer moth
Ll 4. eI AT
5. Bollworm/Mei® TeT
(a) A-2, B-3, C-4 D-5 (b) A-3, B-1 C-2 D-4
(c) A-2, B-1 C-4 D-3 (d) A-5, B-4, C-1 D-3
30
ST TFe -9l # I S el SoiE e 21
Aferdy T TEd F WY H gEEd A CSTES

T H Frga T T W, o H IHSAT W a1 T B
HHA § A TS (Red Rot) 41 ‘HE (Smut) I @
Y Y A E | (EA-TIva T -G Juie)

51. Which of the following is/are used as
biofertilizers ?/frefefaa o ¥ ferm/ferT =t SU=T
Ja-Selteh o ®9 § R wTer §7

1. Azolla/3Tsier

2. Bluegreen algae/=et gRa taret

3. Alfalfa/

Select the correct answer using the codes given

below./§rr faT T e T ITART HIA Y T 3T

-

Codes:

(a) 2 alone/3ad 2

(¢) 1 and 3/1 3 3

3T-(b)
AT TH San] S 7o wifad § ameaoiy AEeiee i
et ek T iy & fe wRmRE i el B 3T
FURL el i gfg T b § gerEa F qra-arg ga &
difts s # ff gUR & €, S9-3HE deedd g
fofe R 3t ga1 ffa qor woel # T F MER |
S 3w i frefafaa sftrEt & aier w21 Fia gla
YT 3T ST (2) USICMeERY a9 TSIERad (3)
Teeifegm) i gRa ol e Swien gF % @dl H
TESre Rl #, weicEeet wee, fieed, T
wHA, AEHT FEl §, TSeERad gEd a9 e
Wﬁmmﬁﬁmmﬁrmﬁ%&m%wﬁ
I F A ST &

(b) 1 and 2/1 3R 2
(d) 1,2 and 3/1,2 33

52. Which one of the following regions of Asia is
experiencing the hléhest annual §r0wth rate of

populatlon 2 /e o form &= o

TAEEAT i AR gleg o Aferehad §7?

(a) South Asia/3fRI0T TfYr

(b) South East Asia/af0-gd e

(¢) Central Asia/%&d TR

(d) West Asia/qfgem Tfirn

T - (¢)
T — T TR &7 & SHEEA # i 3 2000-05
& AN 2.5% § HH 3R 2005-10 & T 0.3% @ &
3 TYAHTE o SN fshed () Tl ST AT

TS Aieerm=
ANTRERAT, G ARIERR, T shaied, T
o it feomes a

53. The basic structure theory of the Constitution of
India implies that /9T FiaemT & MU

AT % TaegT= @t aread § o -

(a) certain features of the Constitution are so
essential to it that they cannot be abrogated

i % o R W sfEd ¥ oI
forreRtor & e < Hehar

fundamental rights cannot be abridged or taken
away /el F A FH A ST WA B, A
IR ST ST Thell &

the Constitution cannot be amended except in
accordance with the procedure prescribed in Art,

368/dfuM 1 HegA haa TSR 368 H fafed
fsman & & fopar < ween 2

the Preamble of the Constitution cannot be
amended for it is not a part of the Constitution
and at the same time represents its real

spirit/Hfeem & F TeeA A& fwar S
b1, Hiifh a8 HEE 1 9 T 8 SR ;g &
¢ Tl &I e BT At S 8
ST —(a)
T - 78 V8 gared <aed  SyaH< IR a9
IR HY F T B AN fHAr o1 e 5 39 Fer o
foh 70l o787 368 o o7di HHe # HEd wiE fawga
2, foreg orife 7 21 Wfewm & o O i o §
5% fPd & 98 TuRYd e H AT T F T
a7: faweq (a) & 1
54. Freedom of the Press in India/9Ra W THER
TS T e —
(a) is specifically pr0V1ded in Article 19 (1)(a) of the
Constitution/ S % =7 19 (1) (a) ¥ ¥y &9
Y IyafeM 2|
(b) is implied in the wider freedom of expression
guaranteed by Article 19(1)(a) of the
Constitution/HfF8M & =7 19 (1) (a) ¥ T
Al % = @ § R 2

(b)

(©)

(d)

IAS (Pre) G.S. 1994

45

YCT



(c) is guaranteed under the provisions of Article 361
A of the Constitution /Hfq5 & 3T=3 361 F &
IYEE FWT S 2

(d) emanates from the operation of the Rule of Law

In the country/3%1 & fafyr & we= & wada o &
ST & ¢
ST —(b)
T — IR & WU § gUER-TE e S # @
F oA 9 Rt off e’ | Ieei@ T fRA W W
39 P A G@feuE & 9-3 & Sfaid sesE-19 (1) (F)
T Yo R, ifeafd & @A & s aikd §
qftferd 21

T e TS St SRIHUTICTaRT, ST SUST

55. Who among the following are a%pomted by the
President of India?

OR o AT GRT Al ATl &2
1. The Chairman, Finance Commission.
forer st T areAey
2. The Deputy Chairman, Planning Commission
Rl JUTETT

3. The Deputy Chairman, Planning Commission
e TT-A T

Choose the correct answer from the codes given

below./=r feT §T FSi | T I 1 oA HIIT

(a) 1 only/Faa 1

(b) 1 and 2 only/&ael 1 3 2

(c) 1and3only/3n_°|ﬁ 1 33

(d) 2 and 3 only/®da 2 3R 3

I (o)
T — AT HfEEE S e9E-280 § TE fad S
F T FH TEEE 21 EREME F SHER f e &
e T8 R Haw & T WRd o TPufd g Ut
% forw & S 21 o ST @ #e FEg s-usE a9
5T T A # Ul % foed @ el s @)
fomT T & oremer qun WeEdl & Wifd TH U TF &
et W e w1 e 8, & gemta A of i
quafd g @ S g1 Weed § 6 el qor witewd wH
% A &9 S8l T e % S & M6 21 5
T T T ok qEEEA @ fgfEd apafd g @ @ S
2| TR ST SR 1 Ued ST A g1 A
N F I I g FEEE 5 & A SRl 2

faem-Auge : HhuRug

56. =fror & TRt fou €1 e @ T A e () 3R
TE T T (R) el T4 € -
Assertion (A): In India, the political parties
which formed the governments represented the
majority of seats secured in the elections to the
House of the People at the Centre and the
Legislative Assemblies in the States but not the
majority of votes.

HAT (A) : I H FLF AAFHA I T F e
gueit & frated § 9awll & 9gaa ue o TS oo
& TR T | & 7 6 76l B agEd a ard |

Reason (R): The elections based on the majority
vote system decide the result on the basis of relative
majority of votes secured.

ST (R) : FgAT Tl R SERa e § o 7ai &
MR ST & SMER W & wRomd &1 fofg 2 21

In the context of the above statements, which one
of the following is correct?/&UT %

Heut o fraferiaa & & s wd 82
(a) Both A and R are true, and R is the correct
explanation of A /A 3R R 1 T& & a1 A &
& A R F 2
Both A and R are true, but R is not a correct
explanation of A /A SRR G T E WA B
T AR R L HET
(c) A istrue, but R is false/A T& g R T &
(d) Ais false, but R is true/A Tad & W R T&l &
ST - (b)
AT — 9RT &I AHEH (F9= 1 = 9aq) doar T
faurm waiel & g & freifa o @il § 9 wewd @
MY AfYE F oagEd M@ Al TeHifas I A
TIEE & WER T £ g9 # 92 ol Hdl b Sged
A A Al TSifas g &1 fomr €2l 1 agad o fope
TR T &l AER T fHear| agad JuTet 9 S
T H el g 9 H A seareh & fasrE & 2
Tl # SRS gl b SMUR W Rl @ gR-Sia
fafeem & 2
57. Which one of the following statements is correct
-1 AT TE &7
(a) All the members of the Rajya Sabha are elected
by State Legislative Assemblies /T< T % Tl
geed & fafe Tsat & faue gad Sl g
(b) As the Vice-President is the exofficio Chairman

of the Rajya Sabha, only a member of the Rajya
Sabha can contest for the office of the Vice-

President /SUUFU TSI T F oA AU B
2, 3@ TF TUT H HE e & S 9 &
foTT AT oI Febar 21

A point of difference between the Lok Sabha
and the Rajya Sabha is that while a candidate to
the Lok Sabha can contest from any State in
India, a candidate to the Rajya Sabha should
ordinarily be are resident of the State from
where he is contesting/ T 9O A
TF a9 § 3R ¢ 5 bW &1 fatea @ aE
Yemft 9Rd & R off TS § o T 8, W T
Tl H TR FHG: F8 A e, el &
7@ et 9 T 2

The Constitution of India explicitly prohibits the
appointment of a nominated member of Rajya
Sabha to the post of a minister /¥R & e |

U7 991 & AHA Te &1 APae W fE @ wE
e | e 2
ST - ()
T — 39 T & g & fau g8 qoft fasedi w fomm
FT B fABeT () B TR T W BH UM 2
Tored § 12 A we™ f 8 g1 fwes (b)) #
I 98 & IEfEaR & T I8 SMevas € 6 98 UsT

(b)

©

(d)
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T H e a9 S AT T @ A qegwer &
T Bl AT G § T 99 99 & W 9 W
forgfes =1 vy =& 21

Ae—TeFe & I fahed ¢ T o g a¥ 2003
GOET N FHR 4 TS G F ST & (a8 @
A T FL A 71 3 S0UH URued § AN faeed
T €|

HY el T HaT, YITTEH, THI-ahoH T
58.

Which one of the following determines that_the
Indian Constitution is Federal? )

frra fafveaifa @t €, 6 o = d@fqe=

afteeter 2

(a) A written and rigid Constitution

i I

An independent Judiciary,/ =Taaiish Wdd &

Vesting of residuary powers with the Centre
wifeaat 1 & |

Distribution of powers between the Centre and

the States/%aﬁgw & s wifFar i oo

ST - (d)

AT — IRAT T e T Ii-4ifd g & ¥ 5

T A 3T 2, 9% I% 2 % Ty ean Sfeen & w@ey

GeTeeh @ AUy SHh ST Ui 21 g Vel A Wl

TH Wh GG FaE AN W N g wiEHE &5
wmaﬁaﬂiﬁwéaﬁriﬂfrm%

ﬁxm%mm%m@wm%

& g R 2

TS HuIE e Pl & U $@ vt & g saves

g S9- 1. fofad W o= dfee 2. viihar i faase 3.

T =T 4. dfaEE @ gateaar ezl Iww

fopedl # T wH ¥ 9w fabey v § W wais w=

foheq s 3T TSl o o Sifthal o faaeor 21

59. In which respect have the Centre State relations
been specifically termed as “municipal relations”?
- w0 ¥ e wdm A

‘e Heer’ et T 2
(a) Centre’s control of the State in the legislative
sphere/ﬁw%aﬂﬁwq{a?i%ﬁwm%
T H
Centre’s control of the State in financial matters
foriar Arelt § U5 W s & e & wE A
Centre’s control of the State in the
administrative sector/S¥MH &F H TsT W H5
& foemor & wE |
Centre’s control of the State in the planning
process/ T B T W H% &
T H

ST —(b)
ST - I8 faveror foxia Amell § T59 W $5 & fmor
% G g8 el S 3| i Sef e & SFER
U ¥ 9@ g Al 3 H TG 9N % b e § A
21 Bor: TSA S AR Yoa: SRl W& ST g
®© T &1 T2 91 39 99T 99 &9 9 S S 8, s
F% 9 TF <Al H yug Toifdsh el Pl TWHR Bl I
fohed (b) e fasheq Fel ST Gl 2

(b)
(©

(d)

(b)
(©

(d)

T ST (H9 Td TSH)
60. Which of the following statements regarding the

advisory jurisdiction of the Supreme Court are
correct ?/3TEAT ~ITATETH hi UXTHIN STFRIhTRAT
oo & frferfias & | *9-9 ®aT 9t 872

1. It is binding on the Supreme Court to give its

opinion on any matter referred to it by the
President./SSerqy IETAT & @ I8
%, o6 =g wgufa s fdfora fomeft oft wmer &
STUAT WA AT Il

2. The full bench of the Supreme Court hears any
reference made to it under its power of
advisory jurisdiction.

wfer & onfim wra foreft fdor W Souem
AT YUl Uie GAATS et g

3. The opinion given by the Supreme Court on a
reference under advisory jurisdiction is not
binding on the government.
o el wrw o WX e feRam gan Seemw
TS R T TN W SR TEl el

4. Not more than one reference at a time can be
made to the Supreme Court under its power of
advisory jurisdiction./STeay AT @l

weff stfirmRar @ vife & o T aw H

hHael Tk & T O 1 Hewar B

Select the answer from the codes given below:

U gU Fet wi WETEAT ¥ ST A TG HIT —
(a) L and 1I/1 37 2 (b) 1 and I1I/1 3R 3
()Mand 112 3R 3 (d)Iland [V/2 37 4
ST -(9)
T - ee 143 & oA upufd fafy @ 9@ &
UREM W99 & YR W Fared =@ed § T |
TR | O] U A T T W e e T A 6
forw amer %aﬁaﬁ%@rﬁémmﬁ?wm
Tgafd & & T @ @ TPUT 39 T B A & oI e
H@%mﬂhm@ﬁl%aﬁmﬁi—dwww
3H R SreEdd W T W IR 131 % e AR
TPl Seaad =EeE § T A @l gdred e
T 3 F forw o grm |y & st tfermifar % arefe
T & & fou feq o= # =A™ 5 61 g0 gAan fha
ST | (37t SfaeE 9 5H)

Trraterm T, ST

61.

Which of the following electoral systems have
been adopted for various elections in India? 9T

¥ fafaer Fratamt & fou Frafated § 9 #9-2

wt frratem yunferat g =t T8 €7
1. System of direct elections on the basis of adult
suffrage./adq%h & SR TR T

2. System of proportional representation by means
of the single transferable vote.Wshel ad
% I e e s st

3. List system of proportional representation.
fef-Tere

4.  Cumulative system of indirect elections./3T5&
fate s dereft e yomedt
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Select the correct answer from the codes given
below./rer faT T Fet ¥ TE 3T H1 T FIRTT-
(a)1and 2/1 3R 2 (b) 1 and 3/1 3R 3
(¢)1,2and 3/1,2 3R 3 (d)2,3 and 4/2,3 3i 4
I - (a)
AT YR Fale # gt SR e aF @ faaed
Yol ST T 1 e e o7 e § g
TG YAER & MR W 9ol €1 ¥ ol 2 ¢ Wi
Tpufe, IRE, TsEEr a9 fage wRed & &g e wa
AUl 79 JOTC & WeAW ¥ STuias SHee TSl %
e Y el ®9 Y e 2
62.

Given below are voting percentage of a political
party secured in three successive elections_to the
Lok Sabha:/ ESOEUY

% AR i Frateat & wre wat @ wfeeraar &

Tl -

Years/@s 1984 1989 1991
Percent Votes : 7.4 11.4 22.4
T4l ot 7.4 114 224

The party which secured these percentages of

votes was/RT® T ¥ WAl & Suge Pl

i, TE AT

(a) Congress (I)/HET’STF ®

(b) Bahujan Samaj Party/agsH FHIS It

(c) Bharatiya Janata Party/¥Rdra ST 91

(d) Communist Party of India (Marxist)

< (

I - (0)
= - gt § U U deesr & @R die fates
o1 el S oS § Wy g ], 5 i s e
AE ToHIToR g A IS 1984, 1989 1 1991 & Al
& Tl @ 98 YA W A WS d 1984 cbEe
TAE § g 2 T q 7.4 WfawE WA, 1989 F G
A H 86 HIS qAT 11.4 WO TG TAT 1991 H ABTH
TAE T 119 WS T 22.4 Ffe 7T T AT 7|

63. Which one of the following statements regarding

‘Exit Poll’ is correct 2/ foia wa weferur’

T i O HUT G &2

(a) ‘Exit Poll’ is a term used to denote a post-
election survey of voters regarding the candidate
in whose favour they had exercised their
franchise / ad H%TU'V’ Eal
TAErE % 39 AR G B S B
o8 a7 uar =t % waemet 3 oo safeER &5

ST R wearelt % gy # foar

(b) ‘Exit Poll’ and ‘Opin 10n Poll’ are one and the
same /Frid oa ' FR ST S uH &
a1 81

(c) ‘Exit Poll’ is a device through which results of

voting can be most exactly predicted /* ad
T 97 g 2, S waem % oRome # fame
¥ st & qafEE fRar ST weAT 21

(d) ‘Exit Poll” is an administrative device made
recently by the Chief Election Commissioner to
prevent impersonation /‘fd A IR

g el T St g
, e TR b HAe bl ST Fehel 21
I - (a)

et fid @@ GEeT (Exit Poll Servey) Hifgar gm
fFdft ff I F T AdaE Fh e e Haardet
g fafgy wifdel, senlel & o § ffw T AdeH &
reAE Ud farvaor W e gfF 2, g 5 Ao
F oRomE F efvd @9 % g & oo F aR F wd
QaTA ST T S e ST 2

64. Which of the following is/are among the functions
of the Election Commission of India ?/9Rd
Trater smman & frefafeaa @ @ & 9 e €7
1. Conduct of election for the posts of the Speaker
and the Deputy Speaker, Lok Sabha and the
Deputy Chairman, Rajya Sabha./
ey W IUEAT AT AT WA & [N U F
fore fatem samn

2. Conduct of election to the Corporations and
Municipalities. [ARTereR3 3R R-frEt % faw
frafam sam

3. Deciding on all doubts and disputes arising out
of the elections. /fFatedi & 3= T+t
feramal = ot

Select the correct answer from the codes
below./er f&T gT el & WET 3T a1 &7
(a)1and 2 /1 3R 2 (b) 1 and 3 /1 3 3
(¢c)2and 3/2 3N 3 (d) None of these Ve ackerdl
ST -(d)
T — 3T 9 § Hohd (1) F F1& 92T @A Hid
g1 G (2) W FE U7 Fatad SN # 2 SEfh Gehd
() F fu =mrew 21 o fawer (d) 98 S

anférer = we e sma/eete
65. A major shift in the 8th FiveYear Plan from its
preceding ones is/gel @ gerr o
et Uererdfer e § gEd uRad € -
(a) the significant reduction in pubic sector outlays
I3 Z%EF T 9q HH
(b) the concentration of pubic investment in
infrastructural sectors /3TTHEAHE & H I
AT BT HhgT
major investment in agrlculture with a view to
promote exports/ Hagq &t 3y ¥ Py F
e foarer
major investment in sectors in which industrial

sickness has been a chronic problem/37 &=shi H
y@ ferer {5 it s i gwern &

iven

©

a2 gy
WWWW%%W%WW
& ® fafeam s am eaw 58 gfoed o S osd I §
59 Sfrerd, Al AT H ST 48 WA A71 T TS
AT § Shadl 45 Ffavd & aRefeud fhar T
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66. The principal reason why national, economic
planning is still being pursued inspite of
embracing a market economy since 1991 is that

T 1991 | SR 37 wiepa &Y oft TS ¥,

e oft wdter enféres @it sreft =mey %1 e g
T T &2

(a) itis a Constitutional requirement

I8

the vast quantity of capital already deplo
the public sector needs to be nurtured/

T B b o B U 1 e e e
YIS 8

Five Year Plans can continue to provide a long
term perspective to the economy in market

friendly fashlons/q?l’cﬁfq FoFE SR 9SO
e a1 et Red M T @ T @

the market economy is mainly confined to
industry and commerce and central planning in
grlculture 1S necessary ®||\3||{ d'ialo"‘lcl'{%ll HE&Aq:
M R @ a% diftm 7 ik FY # S
IS Y 2
30
T — 9RG H 1991 3. e & SIS
iR # AT P EER FH TR e B
AN fom T, T SR SFaET # an] R S & 9
off wfig enfds Ao qon Qe N foaem o o
SfeTEdT F T[@ SUR 2| THH TEF IR A 2 fh
deEsla e % wem ¥ AR g §ft 9 sreferwen
F el e oM R ST wehdr €1 39 YR fasmew
(c) 1 21
67. Fiscal deficit in the Union Budget means
el arste W ST ore o7 § -
(a) the sum of budgetary deficit and net increase in
internal and external borrowings/asic e 3R
iaRe qm s FomeE ¥ fad gfg @ A
(b) the difference between current expenditure and
current revenue/ e =4 T =Te] Toiedl Sl 3
(¢) the sum of monetized deficit and budgetary

deficit/qEiFd T 3R T = F AN

(d) net increase in Union Government’s borrowing
from the Reserve Bank of India/9rdia fisd oe

¥ H9 WK 5N T MU RvIeE # g8 e gfs
ST - (a)

AT - TSN "=l = a9 9 (A9 & + Yeid
) — YR BIEH ool Wiadr (Tord Wftaar + 3R
BIgH ol Wftqah) Torhidia =T el g1 Tsrhia
o #t g SR o s e fRRar i yfeaa et
2, srefoTaen I R SNt H R o S & qr g A
T TEreAt T AR B B

Y, ST T AR

68.

(b) ed in
(©

(d)

‘Self sufficiency’ in food. In the true sense
freedom from hunger, has not been achieved in
India in spite of a more than threefold rise in
food grains production over 1950-1990. Which of
the following are the reasons for it?

1950-90 @t ITERT W WRA W @rEmAl 1 SATEA

gt T T | iR & T €, R oft Wt ot o

arrert-eitaT, R ard € @ w gfew, @ e

HI T el §1 30k TrAfeTiad § & i | HIuT 872

1. The green revolution has been restricted to
small pockets of the country./sRd i< 3o &
BR-BI Tl 7% At W 2

2. The cost of food is too high compared to the
earnings of the poor./ 7@l @ HAE @ T |
@ % 91 T A

3. Too much emphasis is laid on wheat and paddy
compared to the coarse grains./di@ 3 i
T § T8 3R o T STt oot fr e 21

4. The gains of the green revolution have largely
accrued to the cash crop rather than food

crops./gRa HIf<t & AMHT A AHd BHA HI
& firet €, @ wEelt &1 A
Select the correct answer from the codes given
below./fr=fefad Fel & Wt 3T T T HitWq
Codes :
(a)1,2and 3/1,2 3R 3 (b)1,2and 4/1,2 3 4
(¢)1,3and 4/1,3 3 4 (d)2,3and4/2,3 3 4
3T - (a)
AT - 7 9 ¢ 6 eRa s & sty @ 2w %
BrR-grR i Gvel 7% & fe # w© U E | Wy & Wy
T & 99§ s gfg T 98 fRaEt oA @ T
fohrq B¢ fRuml & 318 Ted 7 firefh) aRa s 1 g
TIF BECl AHEH T8 S O 7% & TS FOR G
§3:|T| Iﬁé BRI W SHAT YT 90T 7 3T~ hH @Il |
69. Which of the following statements about the
Dunkel draft is/are correct?/Sshel yTal o faw
o frefefae § @ & /& wew w222
1. It is mandatory for the Government of India  to
accept all its proposals in all the sectors./Hd
TWHR F foIT 9% a9t g&dret & 9eft et & fon
THR BT A 2
2. In the field of agriculture, the main proposal is to
cut agricultural subsidies./F% &% & ¥ T&1 w&@
2 - P e SueH 1 wa|
3. In the field of textiles, it reiterates the operation
of the multi fibre agreement./a% & & § a8 =gdq
FR & Fae Bl G |
4. The proposals have already been accepted by the
Parliament./S&iET &1 T8 T8cl & WHR X ﬂ#ﬁ 2
Select the correct answer from the codes given
below./<r feT T FHEt § T ST T T& AT
Codes :
(a) 1 only /FaA 1
(b) 1 and 2 only /Faa 1 3R 2
(c) 1,2 and 4only/Faa 1,2 3 4
(d) 3 and 4 only/&ad 3 iR 4
37 - (b)
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AT — 3R €t 4 20 fqamR, 1991 108 Fe=ig
WM F T v AR FEET T 7q 500 JEE TEE
Ty fFaT| ey AU SR ¥ g fafte qet
wqﬁwwwsﬂ%aiﬂﬁwamﬁi—wmﬁa
AR U@, FO-GEE, SR ¥ gElRE d@ifss 9
AR (fTo), =R @ gafe few sue (fTmm) enfe
Aol W owe R ¢ awd § e H e S5
FTAT B GH FAT €, FHlh
frmi, St f sifesiem:
B e T i e g U e
TS ST WA fATaTeae qEa i &7 Hi Hfeaet # gl

70. Which of the following re  correctly
matched?/fr=ferfaa & &= @ wet 'ﬁ'ﬁﬁ'ﬁ &

A B C
Establishment of Year Place
Manufacturing Industries

w T 98 e
1. Setting up of the first 1854 Bombay
cotton mill
1. wgm g e @ e 1854 T8
2.Manufacture of the 1870 Near Culcutta
first machine made paper
wom A fAffd st &1 1870 Feed & U
3. Setting up of the first 1904 Madras
cement factory
3. yog dific Badt WO 1904 WEE

Choose the correct answer from the codes given

below:/ter faU T &l & ¥ V@ W a0 =aA
HIfTT -

(a) 1 and 2 only/&aa 1 3R 2

(b) 1 and 3 only/&aet 1 3 3

(c) 2 and 3 only/&aa 2 3 3

(d) 1,2 and 3/1,2 3R 3

3T — (b)
SRS — Y99 799 T S & fafmfor 1832 # g
(4. Sel) § g3 AT T T Yol A T 1854
§ aad & g adr gom @i et # T 1904 H
e & 99 & TE o
1.

The density of cattle populatlon per 100 hectares
of gross cropped area is the hlghest in /9T 100
TR Tehe! S & W AN Al & T T=ead
How 3Tfren ¥ -

(a) Bihar/foRR #

(b) Haryana/gRarom &

(b) Madhya Pradesh/H& o H

(d) Uttar Pradesh/3t w391 §

3T - (b)

T — W 100 TRW THA H &7 H FaARE #
T 1 gt S gRamnn U7 # 81 Sea@dd ¢
e &famm & & Sda d9 Hu e S e
# T 21 G 1998 W URA fave P T S g IS
29 21 TG I Tod frefeigd € - S 9y, U,
EUS I o e 1 e & fawm & 1%111 e
toadfa e § %Wgﬁ?{ 1964-65 § To9 UY
e FishH doT 1970 § 9RAT <o fvm wd vad it
(TR FeAE) FISTT Hferd sl T2 |

72. Even though the Railways are the most pervasive
mode of transport in India, it is the road
transport which received the maximum impetus
in most of the post-independence period. Which
of the following are the reasons for this?

O W e I wue UResd WieH ¥, W

TAAT o OIS i AAHTIT AT W WSk URae

HI Felereh WA fien §1 36 fefafaa & |

WA | TR §7

1. Railways are cheap to operate but the associated
capital costs are very high.A® uRag uf=me &
T & W 3T oI Yo v g S 2

2. Given the geographic spread of the human
settlements, it is unrealistic that the railways
alone can serve the needs of transport./qHHd
P A R 3o s ¢ 5 Pad Wa ¥ @
Rag o It sTavamaet @ gfd @ STem B
T 2

3. The per unit (tonne/km) cost of transport is
cheaper in road compared to rail transport.
AREed & ol H HgS UReed &l qid Tk (Hied
/) e =T 2

4. Given the indivisible nature of the Railways, it is
not always convenient for the population to avail

it with the same ease as private cars, buses or two
wheelers. AT @ TET ST A % HROT S

& fow ST gHeT @ IS 3T YlyereE AL B
%ﬁ%ﬁm FEl T gUEA AR § A IS
|

Select the correct answer from the codes given

below /== faT TT Fet W T 3T o7 HITWT -

Codes:

(@) 1,2and3/1,2 X3 (b)1,2and 4/1,2 3 4

(¢)1,3and4/1,3 34 (d)2,3and 4/2,3 3 4

3T — (b)
ST — &9 9RA H IRage &1 999 a7 e a1 Tad
IgT Rl SR 1 9 3o fova B e 9ed get
I deah 21 TS SIaNR AT o qveN a9 i ST
e IRaed 1 A TSGR o 81 g ke &
ARIHAT B FROT — (1) T IR F == & T e
W o ITH TEE G A @ s g, (2) S
fiMfers & # foegd A aferdl # oRae sTavasas
F gt F F I uReed H ewEwddr a4 (3) IWd @
AGIT WET F FROT ST & [AC s ame-l i 37der
Tt Taedt 1 T B F B A agfaen yE g

73.

Which of the following are the purposes to which
the National Renewal Fund_has been set up ?

T ¥ e geee &
fafer ot wermoeT &6 wh €2

1. To restructure sick small scale industries./&70T
o I H G G & o

2. To help workers likely to be displaced due to
retrenchment  in the process of industrial
restructuring,/3TEfTE G T F T H S B
ForaEy faeenfyd 2 T FH & TeEd & o

3.  To modernise existing industrial units.

T
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